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rhfmhehbWmskx�WcuWmbd�ntq�tmcdqrsWmchmf�ne�gnv�qdrntqbdr�lWssdq� enq�Jz01�rstcdms� kdWqmhmf-�Sghr�
rstcx�rgdcr�khfgs�nm�sghr�hrrtd�ax�drshlWshmf�gnv�kdfhrkWshud�etmchmf�bgWmfdr�hm�VWrghmfsnm�rsWsd�hm�
1/07z1/08–hmctbdc�ax� sgd�LbBkdWqx�bntqs,nqcdqdc�qdenql–Weedbsdc� sdWbgdq�rWkWqhdr�Wmc� kWanq�
lWqjds�ntsbnldr-�Ax�dladcchmf�W�rhltkWsdc�hmrsqtldmsWk�uWqhWakdr�WooqnWbg�hm�W�lhwdc,ldsgncr�
cdrhfm)�vd�nardqudc�sgWs�knbWk�bnkkdbshud�aWqfWhmhmf�mdfnshWshnmr�chqdbsdc�mdv�rsWsd�etmchmf�WkknbW,
shnmr� sn� rtarsWmshWkkx� hmbqdWrd� bdqshehbWsdc�aWrd� rWkWqhdr)� oWqshbtkWqkx� enq� rdmhnq� sdWbgdqr�vhsg�05�
xdWqr�nq�lnqd�ne�sdWbghmf�dwodqhdmbd-�UWqhWahkhsx�hm�onkhshbWk�onvdq)�oqhnqhshdr)�Wmc�hmsdqdrsr�ne�ansg�
chrsqhbsr�Wmc�tmhnmr� kdc�sn�fqdWsdq�gdsdqnfdmdhsx� hm� sdWbgdq�rWkWqx�rbgdctkdr-�Rtffdrshud�duhcdmbd�
rgnvr�sgWs�rsWsd�WudqWfd�sdWbgdq�stqmnudq�qWsd�vWr�rhfmhehbWmskx�qdctbdc�hm�sgd�ehqrs�xdWq�ne�qdenql-�
Sgd�LbBkdWqx,hmctbdc� rWkWqx� hmbqdWrd� oWqshbtkWqkx� qdctbdr�lhc,bWqddq� sdWbgdqr&� ’7z04� xdWqr� ne�
sdWbghmf� dwodqhdmbd(�lnahkhsx� qWsd� Wmc� kWsd,bWqddq� sdWbgdqr&� ’12+� xdWqr� ne� sdWbghmf� dwodqhdmbd(�
kdWuhmf�qWsd-�Sgd�LbBkdWqx,hmctbdc�aWrd�rWkWqx�hmbqdWrd�gWr�lnrskx�mtkk�deedbsr�nm�sdWbgdq�ghqhmf�
hm�sgd�ehqrs�1�xdWqr�ne�hlokdldmsWshnm-
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hlonqs_ms� sn� f_hm� _� mt_mbdc� tmcdqrs_mchmf� ne�
rsq_sdfhb�dwodmchstqd�bgnhbdr�l_cd�ax�knb_k�chr,
sqhbsr�_mc�rbgnnkr*�_mc�sn�hcdmshex�sgd�bnmsdwst_k�
e_bsnqr� sg_s� bnmsqhatsd� sn� sgd u_qh_ahkhsx� hm knb_k�
rsq_sdfhb� dwodmchstqd� bgnhbdr� ’Aqtmmdq� ds� _k-*�
1/1/:�Rgnqdr�ds�_k-*�1/12(-�Enq�dw_lokd*�oqduhntr�
rstchdr�ehmc�sg_s�tmcdq�REQr*�chrsqhbsr�_mc�rs_sdr�
vhsg�rsqnmf�sd_bgdq�tmhnmr�sdmc�sn�rodmc�lnqd�nm�
hloqnuhmf� sd_bgdq� r_k_qhdr*� admdehsr*� _mc� nsgdq�
vnqjhmf�bnmchshnmr�’Aqtmmdq�ds�_k-*�1/1/:�Dadqsr�
%�Rsnmd*�0873(-�Adb_trd�r_k_qhdr�_mc�admdehsr�enq�
hmrsqtbshnm_k�rs_ee�vdqd�_ants�43$�ne�sns_k�btqqdms�
dwodmchstqdr� _mc� _ants� 8/$� ne� hmrsqtbshnm_k�
dwodmchstqdr� hm�1/05“1/06�’M_shnm_k�Bdmsdq�enq�
Dctb_shnm�Rs_shrshbr�ZMBDR[*�1/1/(*�tmcdqrs_mc,
hmf� gnv� bg_mfdr� hm etmchmf� _kknb_shnmr� _eedbs�
sd_bgdq�r_k_qx�rbgdctkdr*�qdbqthsldms*�qdsdmshnm�hr�
drrdmsh_k� enq� hmenqlhmf� chrbtrrhnmr� _ants� gnv�
qdrntqbdr�l_ssdq�enq�rstcdms�kd_qmhmf-

Sn� c_sd*� edv� rstchdr� oqnuhcd� qhfnqntr� duh,
cdmbd�nm� sgd� hlo_bsr�ne� rs_sd�onkhbhdr� sg_s�cq_,
l_shb_kkx� hmbqd_rd� r_k_qx� enq� _kk� sd_bgdqr� nm�
sd_bgdq� vnqjenqbd� ’Aqhssnm� %� Oqnoodq*� 1/05:�
Knda�%�O_fd*�1///(-�Rdudq_k e_bsnqr�bnmsqhatsd�
sn�sgd�cd_qsg�ne�sgdrd�onkhbx�rstchdr�hm�dctb_shnm-�
Hm�l_mx�rbgnnk�chrsqhbsr*�sd_bgdq�r_k_qhdr�k_qfdkx�
_khfm� vhsg� sd_bgdq� dwodqhdmbd� _mc� dctb_shnm_k�
kdudk�_mc�_qd�ghfgkx�qdftk_sdc ax�chrsqhbs nq rs_sd�
r_k_qx� rbgdctkdr-� Rbgnk_qr� nesdm� k_bj� _ m_stq_k�
dwodqhldms�hm�vghbg�_m�dwnfdmntr�rgnbj�hmctbdr�
rtars_msh_k�bg_mfdr�hm�sd_bgdq�r_k_qx�_mc�fdmdq,
_sdr�vhcd�u_qh_ahkhsx�_bqnrr�chrsqhbsr*�_kknvhmf�enq�
sgd�drshl_shnm�ne�r_k_qx�deedbsr�nm�sd_bgdq�qdbqths,
ldms� _mc� qdsdmshnm-�Lnqdnudq*� hs� hr� cheehbtks� sn�
dw_lhmd�sgd�qdk_shnmrgho�adsvddm�sd_bgdq�r_k_qx�
_mc� sd_bgdq� k_anq� l_qjds� ntsbnldr*� dudm� vhsg�
o_mdk� c_s_- L_mx� shld,u_qxhmf� bg_mfdr� sg_s�
_eedbs� sd_bgdq� r_k_qx� _krn� _eedbs� sd_bgdq� qdbqths,
ldms�_mc�qdsdmshnm-�Enq�dw_lokd*�sd_bgdq�r_k_qhdr�
b_m� ad� rds� hm� _� bnlodmr_shmf� v_x ax� o_xhmf�
sd_bgdqr�lnqd�sn�vnqj�hm�kdrr�cdrhq_akd�vnqjhmf�
bnmchshnmr-�Hm�sghr�b_rd*�sgd�v_fd�deedbs�hr�khjdkx�
sn�ad�tmcdqdrshl_sdc-�Sgd�v_fd�deedbs�b_m�_krn�
ad�nudqdrshl_sdc�he�adssdq�qdrntqbdc�rbgnnk�chr,
sqhbsr�trd�ghfgdq�r_k_qhdr�sn�_ssq_bs�sd_bgdqr*�vghbg�
l_x� bnhmbhcd� vhsg� rtoonqshud� rbgnnk,vnqjhmf�
bnmchshnmr� ’d-f-*� rbgnnk� kd_cdqrgho� _mc� btkstqd:�
Gdmcqhbjr*�1/03(-

Sn�l_jd� duhcdmbd�lnqd� qdkdu_ms� enq� onkhbx,
l_jhmf*� dctb_shnm_k� kd_cdqr� vntkc� _krn� admdehs�
eqnl�rstchdr�nm�deedbshud�v_xr�ne�rsqtbstqhmf�r_k,
_qx�rbgdctkdr*�l_hmkx�hm�sdqlr�ne�rdsshmf�o_x�rb_kd�

rxrsdlr� enq� sd_bgdqr� _s� cheedqdms� rs_fdr� hm� sgdhq�
b_qddqr�’G_mtrgdj*�1/05(-�Sghr�sxod�ne�hmenql_,
shnm�vhkk�gdko�chrsqhbs�kd_cdqr�rsq_sdfhb_kkx�rds�to�
r_k_qx�rbgdctkdr�sn�cdudkno�sgd�sd_bgdq�vnqjenqbd�
sn�ldds�rstcdms�kd_qmhmf�fn_kr-�Nsgdq�trdetk duh,
cdmbd�odqs_hmr�sn�sgd�onkhshb_k�cxm_lhbr�_mc�knb_k�
hlokdldms_shnmr�sg_s�rg_od�sgd�u_qh_shnm�hm�r_k_qx�
rbgdctkdr�_bqnrr�knb_k�bnlltmhshdr-�Sghr�cds_hkdc�
duhcdmbd�nm�onkhbx�hlokdldms_shnm�vhkk�bqhshb_kkx�
hmenql�duhcdmbd,a_rdc�hsdq_shud� hloqnudldms�ne�
REQ�deenqsr-�Sn�ntq�jmnvkdcfd*�sgd�btqqdms�rs_sd�
ne�sgd�khsdq_stqd�needqr�udqx�khlhsdc�jmnvkdcfd�nm�
ansg eqnmsr-

Hm�sghr�_qshbkd*�vd�kdudq_fd�_�tmhptd�vhmcnv�ne�
noonqstmhsx�hm�V_rghmfsnm�rs_sd�’V?(�sn�dw_lhmd�
sgd� deedbsr� ne� hmbqd_rdc� rs_sd� etmchmf� nm� sd_bgdq�
r_k_qhdr� _mc� nm� _ssq_bshmf� _mc� qds_hmhmf� sd_bgdqr-�
Adfhmmhmf� hm� sgd�1/07“1/08�_b_cdlhb�xd_q*�V?�
bg_mfdc�hsr�rs_sd�etmchmf�enqltk_�enq�a_rhb�dctb_,
shnm�_mc�hmetrdc�lnqd�sg_m�!6�ahkkhnm�ne�rs_sd�etmc,
hmf� hmsn� sgd� otakhb� rbgnnk� rxrsdl� hm� sgd� mdws� 3�
xd_qr�’Lnqsnm*�1/06(-�Sghr�onkhbx�rotqqdc�sd_bgdq�
bnmsq_bs� mdfnsh_shnmr� _s� hmchuhct_k� chrsqhbs� kdudk�
_bqnrr� sgd�rs_sd*� qdrtkshmf� hm�tmoqdbdcdmsdc�rs_sd,
vhcd� sd_bgdq� r_k_qx� hmbqd_rdr-� ?bbnqchmf� sn� sgd�
M_shnm_k�Dctb_shnm�?rrnbh_shnm�’1/10(*� hm�1/07“
1/08*�vgdm�V?�rs_sd�hlokdldmsdc�sgd�r_k_qx�_kkn,
b_shnm� hmbqd_rd� enq� sgd� ehqrs� xd_q*� sgd� _udq_fd�
sd_bgdq�r_k_qx�bkhladc�sn�ad�sgd�dhfgsg�ghfgdrs�o_hc�
eqnl� sgd� 10rs� hm� sgd� m_shnm� hm� 1/06“1/07-� Ax�
1/08“1/1/*�sgd�V?�_udq_fd�sd_bgdq�r_k_qx�q_mjdc�
sgd�rhwsg�ghfgdrs�hm�sgd�m_shnm-�Sghr�dwo_mrhnm�ne�
rs_sd etmchmf�enq�sd_bgdq r_k_qhdr�fdmdq_sdr�_�tmhptd�
noonqstmhsx� enq� drshl_shmf� sgd� qdk_shnmrgho� adsv,�
ddm� sd_bgdq� r_k_qhdr� _mc� sd_bgdq� k_anq� l_qjdsr-�
Rodbhehb_kkx*�vd�dw_lhmd�sgd�enkknvhmf�ptdrshnmr9

QdrdZpbg� Ptdrshnm� 08� Gnv� chc� LbBkd_qx�
REQr� hmektdmbd� sd_bgdq� r_k_qhdr;�Gnv� chc�
sgd� qdenqlr� cheedqdmsh_kkx� _eedbs� o_x� hmb,�
qd_rd�enq�sd_bgdqr�_s cheedqdms�b_qddq�rs_fdr;

QdrdZpbg� Ptdrshnm 18� Gnv� chc� LbBkd_qx,
hmctbdc� r_k_qx� bg_mfdr� _eedbs� sd_bgdq�
qdbqthsldms�_mc�stqmnudq;

QdrdZpbg�Ptdrshnm�28�Gnv�chc�sgd�knb_k�bnk,
kdbshud�a_qf_hmhmf�_mc�nsgdq�bnmsdwsr�_ants�
LbBkd_qx� REQr&� hlokdldms_shnm� u_qx�
_bqnrr�chrsqhbsr;

Vd� trd� _m� dwok_m_snqx� rdptdmsh_k� lhwdc,
ldsgncr�_ooqn_bg-�Enq�Qdrd_qbg�Ptdrshnm�0*�vd�
trd�_�rhltk_sdc� hmrsqtldmsr� hm�bnmitmbshnm�vhsg�
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’bnlo_q_shud(�hmsdqqtosdc�shld�rdqhdr�’HSR(�lnc,
dkr-�Ntq� ehmchmfr�rgnv� sg_s� sgd�LbBkd_qx�REQr�
hmctbdc� rtars_msh_k� hmbqd_rdr� hm� _udq_fd� sd_bgdq�
r_k_qx� _mc� hmbqd_rdc� sgd� u_qh_ahkhsx� ne� _udq_fd�
bdqshehb_sdc�a_rd�r_k_qhdr�_bqnrr�chrsqhbsr-�?ksgntfg�
sgd�etmchmf�enqltk_�bg_mfd�v_r�s_qfdsdc�sn�rto,
onqs�_kk�a_rhb�dctb_shnm�oqnfq_lr*�knb_k�onkhshb_k�
mdfnsh_shnmr� adsvddm� sd_bgdq� _rrnbh_shnmr� _mc�
chrsqhbsr� cqnud� _� rhfmhehb_ms� hmbqd_rd� hm� sd_bgdq�
r_k_qx� dwodmchstqdr-� Lnqdnudq*� rdmhnq� sd_bgdqr�
vhsg� 05� nq� lnqd� xd_qr� ne� dwodqhdmbd� hmbqd_rdc�
sgdhq�r_k_qhdr�sgd�lnrs�hm�chrsqhbsr�vhsg�ghfgdq�oqd,
chbsdc�rs_sd�odqrnmmdk�etmchmf�enq�r_k_qhdr-�Sgdrd�
ehmchmfr� bnmsqhatsd� sn� sgd� khsdq_stqd� nm� bntqs�
hmctbdc�REQr�ax�needqhmf�_cchshnm_k�duhcdmbd�nm�
gnv� sgd� etmcr� b_m� ad� trdc� sn� hmbqd_rd� sd_bgdq�
r_k_qhdr�_mc�enq�vghbg�fqntor�ne�sd_bgdqr-

Enq�Qdrd_qbg�Ptdrshnm�1*�vd�trd�_�svn,rs_fd�
rhltk_sdc� hmrsqtldms_k� u_qh_akdr� _ooqn_bg� sn�
dw_lhmd�bg_mfdr�hm�sd_bgdq�ghqhmf�_mc�stqmnudq�
q_sdr�tmcdq�LbBkd_qx�REQr-�Sgd�qdctbdc,enql�
_m_kxrdr� rgnv� sg_s� sd_bgdq� stqmnudq� v_r� qdc,�
tbdc� nm� _udq_fd� _bqnrr� sgd� rs_sd� dudm� hm� sgd�
ehqrs�xd_q�ne qdenql-�Ntq�svn,rs_fd�kd_rs�rpt_qd�
’1RKR(� _ooqn_bg� rtffdrsr� sg_s� sgd�LbBkd_qx,
hmctbdc� r_k_qx� hmbqd_rd� qdctbdr� lhc,b_qddq�
sd_bgdqr&� ’7“04� xd_qr� ne� sd_bghmf dwodqhdmbd(�
lnahkhsx� q_sd� _mc� k_sd,b_qddq� sd_bgdqr&� ’12+�
xd_qr�ne�sd_bghmf�dwodqhdmbd(�kd_uhmf�q_sd-�Sgd�
LbBkd_qx,hmctbdc� a_rd� r_k_qx� hmbqd_rd� g_r�
lnrskx�mtkk�deedbsr�nm�sd_bgdq�ghqhmf�hm�sgd�ehqrs�
1�xd_qr�ne�hlokdldms_shnm-

Enq�Qdrd_qbg�Ptdrshnm�2*�vd�trdc�bnlo_q_,
shud�b_rd�rstchdr�hm�ehud�V?�chrsqhbsr�sn hcdmshex�
gnv�knb_k�qdrntqbd�_kknb_shnm�v_r�rg_odc�ax�sgd�
onkhshb_k�onvdq*�oqhnqhshdr*�_mc�hmsdqdrsr�ne�ansg�
chrsqhbsr� _mc� sd_bgdqr&� tmhnmr-� Rhmbd� rdmhnq��
sd,_bgdqr�nesdm�rdqud�kd_cdqrgho�onrhshnmr�hm�sgd�
tmhnmr� _mc� V?� g_r� _� a_bj,kn_cdc� qdshqdldms�
admdehs�rxrsdl*�hs�hr�mns�rtqoqhrhmf�sn�nardqud�sgd�
k_qfdq� q_hrdr� enq�udqx�dwodqhdmbdc� sd_bgdqr-�Nm�
sgd�bnmsq_qx*�vd�_krn�nardqudc�rnld�knb_k�tmhnmr�
g_uhmf�dpthsx oqhnqhshdr�ax�hmsdmshnm_kkx oqnsdbs,
hmf�itmhnq�sd_bgdqr&�hmsdqdrs-�Sn�ntq�jmnvkdcfd*�
sghr� hr� sgd� ehqrs� rstcx� hm� sgd� ehdkc� sn� bnlahmd�
qnatrs�pt_mshs_shud�duhcdmbd�nm�REQ�deedbsr�nm�
sd_bgdq�k_anq�l_qjdsr�vhsg�pt_khs_shud�hmsdquhdv�
c_s_� eqnl� _� otqonrhud*� rdkdbsdc� r_lokd� ne� chr,
sqhbsr� sn� dwok_hm� gnv� knb_k� mdfnsh_shnmr� rg_od�
r_k_qx rbgdctkdr-

Onkhbw�AZbifpntmc

Hm� 1//6*� sgd� LbBkd_qx� e_lhkx*� sgd� Udmdl_�
e_lhkx*� _mc� sgd�Mdsvnqj� enq�Dwbdkkdmbd� hm�V_,�
rghmfsnm� Rbgnnkr� ’a_bjdc� ax� sgd� V_rghmfsnm�
Dctb_shnm�?rrnbh_shnm�ZVD?[´sgd�rs_sd�dctb_,
snq�tmhnm(�inhmskx ehkdc�_�k_vrths�_qfthmf�sg_s�sgd�
rs_sd�g_c�mns�etkehkkdc�?qshbkd�HW*�Rdbshnm�0�ne�sgd�
V?�bnmrshstshnm9�zHs�hr�sgd�o_q_lntms�ctsx�ne�sgd�
rs_sd�sn�l_jd�_lokd�oqnuhrhnm�enq�sgd�dctb_shnm�
ne� _kk� bghkcqdm� qdrhchmf�vhsghm� hsr� anqcdqr-–�Nm�
I_mt_qx�4*�1/01*�sgd�rs_sd�rtoqdld�bntqs�qtkdc hm�
e_unq�ne�sgd�ok_hmshee*�rs_shmf�sg_s�a_rhb�dctb_shnm�
rgntkc�ad�etmcdc�uh_�cdodmc_akd�_mc�qdftk_q�s_w�
rntqbdr�eqnl�sgd�rs_sd�q_sgdq sg_m�qdkxhmf�nm�knb_k�
kdux�cnkk_qr�sg_s�_qd�cdodmcdms�tonm�sgd�vghl�ne�
sgd�dkdbsnq_sd�_mc�nmkx�sdlonq_qx-�Ax�?tftrs�02*�
1/04*�sgd�rs_sd�rtoqdld�bntqs�entmc�sgd�rs_sd�kdf,
hrk_stqd�hm�bnmsdlos�enq�g_uhmf�mns�etkkx�etmcdc�
a_rhb�dctb_shnm�_mc�nqcdqdc� sg_s� sgd� kdfhrk_stqd�
cdudkno�_mc�hlokdldms�qdenqlr�bnmrhrsdms�vhsg�
sgdhq�cdbhrhnm�mn�k_sdq�sg_m�1/06“1/07-

Nm� Itkx� 5*� 1/06*� sgd� V?� fnudqmnq� rhfmdc�
Gntrd�Ahkk�’GA(�1131*�_�k_mcl_qj�J“01�rodmchmf�
hmbqd_rd*�vghbg� hmetrdc�lnqd� sg_m� !6� ahkkhnm� ne�
rs_sd�etmchmf�hmsn�sgd�otakhb�rbgnnk�rxrsdl�enq�sgd�
mdws� 3� xd_qr-� Sgdm� hm� 1/07*� kdfhrk_snqr� o_rrdc�
Rdm_sd�Ahkk�’RA(�5251�sn�_ccqdrr�_�q_mfd�ne�bnm,
bdqmr�sg_s�chrsqhbsr�g_c�unhbdc�_qntmc�GA�1131-�Hm�
o_qshbtk_q*� GA� 1131� g_c� _� 1,xd_q� ok_m� ne� etkkx�
etmchmf�r_k_qx�hmbqd_rd�vhsg�sgd�ehqrs�g_ke�hm�1/07“
1/08� _mc� sgd� qdl_hmcdq� ne� sgd� hmbqd_rd� hm� sgd�
1/08“1/1/�rbgnnk�xd_q-�RA�5251�l_cd�sgd�qduh,
rhnm� ax�l_mc_shmf� etkkx� etmchmf� r_k_qx� hmbqd_rd�
rs_qshmf�hm�1/07“1/08-�Adb_trd�sghr�_qshbkd�l_hmkx�
chrbtrrdr� sd_bgdq� r_k_qx� _mc� lnrs� LbBkd_qx,
hmctbdc�bg_mfdr�hm�rs_sd�etmcdc�J“01�a_rd�r_k_,
qhdr� g_oodmdc� rhmbd� 1/07“1/08*�vd� qdedq� sn� sgd�
e_kk� 1/07 ’h-d-*� sgd� adfhmmhmf� ne sgd� 1/07“1/08�
_b_cdlhb�xd_q(�_r�sgd�nmrds�ne�LbBkd_qx�REQr-

Sn� etkkx� etmc� a_rhb� dctb_shnm*� GA� 1131�
hmbqd_rdc� sgd� rs_sd� oqnodqsx� s_w� _mc� _ksdqdc� sgd�
zkdux�khc–�rxrsdl�ax�otsshmf�b_or�nm�sgd�_lntms�
ne� etmcr� sg_s� chrsqhbsr b_m� q_hrd� sgqntfg� knb_k�
oqnodqsx� s_wdr-� Knb_k� rs_jdgnkcdqr� qdedq� sn� sgd�
hmbqd_rd� hm� rs_sd� oqnodqsx� s_w� _mc� cdbqd_rd� hm�
knb_k�oqnodqsx� s_w�_r� sgd�zkdux�rv_o-–�Sgd�otq,
onrd�ne�sgd�kdux�rv_o�v_r�sn�qdctbd�sgd�dwsdms�sn�
vghbg� knb_k� s_w� qdudmtdr� bnmsqhatsd� sn� etmchmf�
chro_qhshdr-� ?r� o_qs� ne� sgd� qdenqldc� kdux� khc�
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rxrsdl*� GA� 1131� b_or� knb_k� kdux� qdudmtdr� _s�
!1*4//�odq�rstcdms*�oqdudmshmf�chrsqhbsr�vhsg�ghfg�
oqnodqsx�u_ktdr�eqnl�q_hrhmf�dwnqahs_ms�_lntmsr�
ne�knb_k�qdudmtdr�hm�sgd�1/08�b_kdmc_q�xd_q-�V?�
chrsqhbsr�g_c�ghrsnqhb_kkx�qdkhdc�nm�knb_k�kduhdr�sn�
rtookdldms�sgd�hmrteehbhdms�rs_sd�etmcr-�Hm�_cch,
shnm�sn�sgd�kdux�khc*�sn�etqsgdq�a_k_mbd�sgd�hmdpt_k,
hsx�ne� knb_k� ehm_mbd�b_o_bhsx*� sgd� rs_sd�lnchehdc�
hsr�knb_k�deenqs�_rrhrs_mbd�’KD?(�sn�etqsgdq�neerds�
sgd�etmcr�sg_s�knv,vd_ksg�chrsqhbsr�_qd�mns�_akd�sn�
fdmdq_sd�sgqntfg�knb_k�oqnodqsx�s_w�dkdbshnmr-

?ksgntfg�nsgdq�_rodbsr�ne�a_rhb�dctb_shnm�vdqd�
hmbktcdc� hm� sgd�GA�1131�_mc�RA�5251� ’rtbg� _r�
J“2�bk_rr� rhyd� qdctbshnm� _mc rodbh_k� dctb_shnm(*�
nmd�cnlhm_ms� enb_k� fn_k� ne� sgd� etmchmf� enqltk_�
bg_mfd�v_r� sn�rs_ahkhyd�rs_sd�etmchmf�enq� sd_bgdq�
r_k_qhdr-� Eqnl� 0876� sn� sgd� shld� ne� LbBkd_qx�
qdenqlr*�sd_bgdq�r_k_qx�rbgdctkdr�hm�rnld�chrsqhbsr�
vdqd� _tfldmsdc� sgqntfg� Shld*� Qdronmrhahkhsx*�
_mc� Hmbdmshud� ’SQH(� o_x� ’nq� rtookdldms_k� o_x(*�
vghbg�v_r� etmcdc� sgqntfg� knb_k� kduhdr-�Sd_bgdq�
tmhnmr� bntkc�mdfnsh_sd�vhsg�chrsqhbsr� sn� _cc�SQH�
o_x� sgqntfg� sgdrd� b_sdfnqhdr� nm� sno� ne� rs_sd,
etmcdc� sd_bgdq� r_k_qhdr-� Rtookdldms_k� o_x� sxoh,
b_kkx� _lntmsdc� sn� 1/$� ne� sd_bgdqr&� sns_k� r_k_qx�
’Sghqc�Rdbsnq� Hmsdkkhfdmbd*� Hmb*�1/04(*� qdoqdrdms,
hmf� nmd� ne� sgd� kd_chmf� rntqbdr ne� hmdpt_khsx� hm�
sd_bgdq� bnlodmr_shnm� oqhnq� sn� LbBkd_qx-� Sn�
_ccqdrr�sghr�hmdpt_khsx*�GA�1131 _mc�RA�5251�rhf,
mhehb_mskx�hmbqd_rdc�J“01�rs_ee�r_k_qx�_kknb_shnmr�
enq�_kk�chrsqhbsr-

Sgd� LbBkd_qx� kdfhrk_shud� qdenqlr� _krn� _bb,�
ntmsdc� enq� bnrs,ne,khuhmf� cheedqdmbdr� adsvddm�
chrsqhbsr�trhmf�_m�_citrsldms�ldbg_mhrl�jmnvm�
_r�sgd�qdfhnm_khy_shnm�e_bsnq- Chrsqhbsr�vhsg�gntr,
hmf� u_ktdr� _anud� sgd rs_sd� ldch_m� qdbdhudc� _m�
_cchshnm_k� 5$ sn� 13$� hmbqd_rd� nudq� sgd� rs_sd&r�
a_rd�etmchmf�_kknb_shnm�enq�r_k_qhdr-�Hm�_cchshnm*�
chrsqhbsr� rg_qhmf� _� antmc_qx�vhsg� _� chrsqhbs� sg_s�
g_c�_� qdfhnm_khy_shnm� e_bsnq�lnqd� sg_m�5$�_krn�
g_c�sgdhq�qdfhnm_khy_shnm�e_bsnq�hmbqd_rdc�ax�5$�
he� sgd�chrsqhbs� hr� knb_sdc�vdrs�ne� sgd�bqdrs�ne� sgd�
B_rb_cd�lntms_hmr-�Hm�1/07“1/08*�sghr�_eedbsdc�
000�ne�sgd�184�rbgnnk�chrsqhbsr-

Bnqqdronmchmf� sn� sgd�l_mc_sd�ne� etkkx�etmc,
hmf� sd_bgdq� r_k_qx� rs_qshmf� hm� 1/07“1/08*� RA�
5251� qdpthqdc� sg_s� dmqhbgldms kduhdr�l_x� nmkx�
ad�trdc�sn�dmg_mbd�a_rhb�dctb_shnm-�Bnmrdptdmskx*�
chrsqhbsr�bntkc�mns�trd�knb_k�etmcr�sn�o_x�enq�bnrsr�
_rrnbh_sdc�vhsg�a_rhb�dctb_shnm*�rtbg�_r�o_xhmf�
sd_bgdqr�enq�sgdhq�drrdmsh_k�sd_bghmf�ctshdr-�Sghr�

rghes�eqnl�qdkxhmf�nm�knb_k�rtookdldms_qx�etmc,
hmf sn�rs_sd,etmcdc�a_rhb�dctb_shnm�g_r�oqnentmc�
ld_mhmf�enq�sgd�sd_bgdq�vnqjenqbd-�Ehqrs*�sgd�chr,
sqhbs� a_rd� r_k_qx� rbgdctkdr� _qd� nesdm� sgd� lnrs�
r_khdms� hmenql_shnm� _bbdrrhakd� sn� sd_bgdqr�vgdm�
sgdx� knnj� enq inar*� o_qshbtk_qkx� enq� mdv,sn,oqn,
edrrhnm� sd_bgdqr-� Rdbnmc*� sgd� bdqshehb_sdc� a_rd�
r_k_qhdr�_qd�_�rs_akd�rntqbd�ne�hmbnld�enq�sd_bgdqr�
_mc�o_hc�sn�sd_bgdqr�sn odqenql�sgdhq�a_rhb�dctb_,
shnm�ctshdr-�Hm�bnmsq_rs*�SQH�o_x�v_r�etmcdc�ax�
knb_k� kduhdr*� vghbg� _qd� rtaidbs� sn� knb_k� unsdqr&�
oqdedqdmbdr:� sgtr*� SQH� o_x�v_r� kdrr� rs_akd� _mc�
sq_mro_qdms-�Lnqd�hlonqs_mskx*�sd_bgdqr�sxohb_kkx�
ltrs� odqenql� dwsq_� qdronmrhahkhshdr� sn� fds� SQH�
o_x�’rtbg�_r�nqf_mhyhmf�rstcdms�bktar*�bn_bghmf�
itmhnq� sd_bgdqr(-�Vd�_mshbho_sd� sg_s� sgd�qdlnu_k�
ne� SQH� o_x� vhkk� g_ud� rhfmhehb_ms� hmektdmbd� nm�
sd_bgdq�qdbqthsldms�_mc�qdsdmshnm-

Sghr�mdv�etmchmf�qdnodmdc bnmsq_bs�mdfnsh_,
shnmr�_bqnrr� sgd� rs_sd hm� sgd�1/07“1/08�rbgnnk�
xd_q*� _bbnlo_mhdc� ax� sd_bgdq� rsqhjdr� hm� rnld�
knb_shnmr-� Rnld� chrsqhbsr� a_qf_hmdc� _klnrs� _m,�
mt_kkx�hm�sgd�mdws�edv�xd_qr-�Sgdrd�knb_k�mdfn,
sh_shnmr*�enkknvhmf�sgd�etmchmf�enqltk_�bg_mfdr*�
qdrtksdc hm cntakd�chfhs�hmbqd_rdr�hm�sd_bgdq�r_k,
_qx� hm� l_mx� chrsqhbsr� _mc� vhcdq� u_qh_shnmr� hm�
sd_bgdq�bnlodmr_shnm onkhbx�cdrhfmr�_bqnrr�chr,
sqhbsr-� Hm�rtl*� sgd�LbBkd_qx� qdenqlr�qdoqdrdms�
rhfmhehb_ms� onkhbx� bg_mfdr� hm� gnv� chrsqhbsr�
qdbdhud�rs_sd�etmchmf*�m_ldkx�ax�qdctbhmf�knb_k�
b_o_bhsx� sn� q_hrd� qdudmtd*�oqnuhchmf _cchshnm_k�
rs_sd�etmchmf�enq�sd_bgdq�r_k_qhdr*�_mc�hmrshstshmf�
sgd�rs_sd&r�ehqrs�_ssdlos�sn�oqnuhcd�bnrs,ne,khuhmf�
_citrsldmsr�sn�knb_k�chrsqhbsr-

KhsdpZstpd�Qduhdv�Zmc�BnmbdostZk�
EpZldvnpi

Hm�sghr�rdbshnm*�vd�ehqrs�gxonsgdrhyd�gnv�r_k,
_qx�hmbqd_rdr�l_x�_eedbs�sd_bgdq�qdbqthsldms�_mc�
stqmnudq*� _mc� gnv� r_k_qx� deedbsr� l_x� u_qx� enq�
sd_bgdqr� _s� cheedqdms� b_qddq� rs_fdr-�Vd� sgdm�trd�
khsdq_stqd� eqnl� rdmrd,l_jhmf� _mc�onkhbx� hlokd,
ldms_shnm� sn� dwok_hm� sgd� cheedqdmsh_k� r_k_qx�
rbgdctkd�_bqnrr�chrsqhbsr-

SdWbgdq�RWkWqx�Wmc�KWanq�LWqjds

Sgd�deehbhdmbx�v_fd�sgdnqx�rtffdrsr�sg_s�r_k,
_qx�hmbqd_rdr�oqnuhcd�_m�hmbdmshud�enq�dloknxddr�
sn�hmbqd_rd�sgdhq�deenqs�hm�v_xr�sg_s�_qd�bnmctbhud�
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sn�nqf_mhy_shnm_k�odqenql_mbd�’?jdqkne�%�Xdkkdm*�
0875(-�Nm� sgd� rtookx� rhcd� ne� sgd� sd_bgdq� k_anq�
l_qjds*� sd_bgdqr&� cdbhrhnmr� ne� inhmhmf� _� fhudm�
chrsqhbs� _qd� hmektdmbdc� ax� ansg odbtmh_qx� _mc�
mnmodbtmh_qx� qdstqmr-� Hmbqd_rdc� r_k_qx� l_x�
_ssq_bs� hmchuhct_kr� hmsn� sgd� chrsqhbs� ’Bghmfnr� %�
Vdrs*� 1/01:�Knda�%�O_fd*� 1///(-�Sghr�ldbg_,
mhrl�b_m�_krn�_ookx�sn�qdsdmshnm*�hm�sg_s�_�sd_bgdq�
vntkc�ad�kdrr�khjdkx�sn�rd_qbg�nq�_bbdos�_m�nts,
rhcd�needq�he�sgdhq�r_k_qhdr�_qd�ghfg�dmntfg�hm�sgdhq�
btqqdms�rbgnnk�chrsqhbs� ’Gdmcqhbjr*�1/03*�1/04(-�
Ghfgdq�sd_bgdq�r_k_qhdr�l_x�lnshu_sd�sd_bgdqr�sn�
rodmc�ghfgdq�deenqs�hm�sd_bghmf*�vghbg�b_m�qdrtks�
hm�adssdq�odqenql_mbd� ’Gdmcqhbjr*�1/03(-�Ghfg,
odqenqlhmf�sd_bgdqr�adbnld�lnqd�khjdkx�sn�rs_x�
hm�sgd�chrsqhbs�nq�sd_bghmf�oqnedrrhnm�ctd�sn�cdqhu,
hmf�r_shre_bshnm�eqnl�adhmf�dwbdkkdms�nm�sgd� ina�
’Fnkcg_adq�ds�_k-*�1/00:�Rtm*�1/07(-

Nm�sgd�cdl_mc�rhcd*�hmchuhct_kr&�bgnhbdr�_qd�
antmcdc�ax�qdrntqbdr�_mc�u_b_mbhdr�hm�rbgnnkr�
_mc�chrsqhbsr� ’Ft_qhmn�ds� _k-*�1/00(-� He�chrsqhbsr�
g_ud� _� mds� hmbqd_rd hm� qdrntqbdr� sg_s b_m� ad�
rodms�nm�sd_bgdq�r_k_qx bnlo_qdc�vhsg�sgd�oqd,
LbBkd_qx� dq_*� sgdx� l_x� cdbhcd� sn� dhsgdq� ghqd�
lnqd� sd_bgdqr� nq� ghqd� edvdq� sd_bgdqr� ats� o_x�
sgdl�lnqd-�?esdq�mdfnsh_shmf�k_qfd�sd_bgdq�o_x�
hmbqd_rdr� hm� 1/07“1/08*� rnld� rbgnnk� chrsqhbsr�
oqnidbs� atcfds� rgnqse_kkr� _mc� edvdq� u_b_mbhdr*�
vghbg� lhfgs� qdrtks� hm� kdrr� sd_bgdq� ghqhmf� nq�
u_b_mbx�sn�rtoonqs�sd_bgdq�lnahkhsx-

Oqhnq� dlohqhb_k� rstchdr� needq� rnld� duhcdmbd�
nm�sgd�qdk_shnmrghor adsvddm�hmbqd_rdc�r_k_qx�nm�
sd_bgdq� k_anq�l_qjdsr-� E_kbg� ’1/00(� entmc� sg_s�
sgd� v_fd� oqdlhtl� ne� _ants� 0/$� qdctbdr� sgd�
oqna_ahkhsx�ne�unktms_qx�pthsr�ax�_ants�5�odqbdms,
_fd�onhmsr-�Nmd�qdbdms�rstcx�ax�Gdmcqhbjr�’1/03(�
oqnuhcdr�lnqd�qhfnqntr�drshl_shnmr�ne�a_rd�r_k,
_qx� _mc� sd_bgdq� stqmnudq� trhmf� o_mdk� c_s_� _mc�
bnmsqnk�enq�bg_mfdr�hm�chrsqhbs�bg_q_bsdqhrshbr�_mc�
bg_mfdr�hm�knb_k�sd_bgdq�k_anq�l_qjdsr-�Hmbqd_rd�
hm� sd_bgdq�a_rd� r_k_qx� qdctbdr� sd_bgdq� stqmnudq-�
Sgd� o_x� deedbs� hr� k_qfdrs� enq� kdrr dwodqhdmbdc�
sd_bgdqr*� cdbqd_rdr�vhsg� dwodqhdmbd*� _mc� chr_o,
od_qr� nmbd� _� sd_bgdq� qd_bgdr� _ants� 08�xd_qr� ne�
dwodqhdmbd-�Lnqdnudq*�Gntfg� _mc�Knda� ’1/02(�
oqnuhcd� duhcdmbd� sg_s� _� r_k_qx� hmbqd_rd� _rrnbh,
_sdc�vhsg�sgd�Pt_khsx�Sd_bgdq�_mc�Dctb_shnm�?bs�
ne� 1//7� hm� sgd� R_m� Eq_mbhrbn� Tmhehdc� Rbgnnk�
Chrsqhbs� hloqnudc� sgd� chrsqhbs&r� _ssq_bshudmdrr�
vhsghm� sgdhq� knb_k� sd_bgdq� k_anq� l_qjds� _mc�
hmbqd_rdc�ansg�sgd�rhyd�_mc�pt_khsx�ne�sgd�sd_bgdq�

_ookhb_ms� onnk-� Gnvdudq*� sgd� hmbqd_rd� chc� mns�
_eedbs�sd_bgdq�qdsdmshnm-

Sgd� qdk_shnmrgho�adsvddm�r_k_qx�_mc� sd_bgdq�
k_anq�l_qjdsr�b_m�ad�etqsgdq�bnlokhb_sdc�ax�sgd�
ltkshe_bdsdc� rsqtbstqd� ne� sd_bgdq� r_k_qx� rbgdc,
tkdr� _mc� sgd� u_qh_shnm� hm� sd_bgdq� k_anq� lnud,
ldmsr�_bqnrr�sgdhq�b_qddq�rs_fdr-�Hm�V?�bnmsdws*�
_ksgntfg�sgd�rs_sd�cdehmdr�sgd�lhmhltl�rs_qshmf�
r_k_qx� _mc� l_whltl� r_k_qx*� sd_bgdq� r_k_qx�
rbgdctkdr�_qd�a_qf_hmdc�_s�sgd�knb_k�kdudk*�vghbg�
qdrtksr� hm� _� vhcd u_qh_shnm� ne� onrs,LbBkd_qx�
sd_bgdq� r_k_qx� rbgdctkdr� _bqnrr� chrsqhbsr-� V?�
rbgnnk�chrsqhbsr*� khjd�lnrs� nsgdq�chrsqhbsr� hm� sgd�
m_shnm*�g_ud�zrsdo�_mc�k_md–�r_k_qx�rbgdctkdr�enq�
sd_bgdqr-�?r� sd_bgdqr�f_hm�xd_qr�ne� dwodqhdmbd*�
sgdx�_cu_mbd�cnvm�sn�sgd�qnvr�ne�sgd�rbgdctkd*�
qdbdhuhmf�o_x� hmbqd_rdr� _s� d_bg� zrsdo–:� _r� sgdx�
f_hm�dctb_shnm*� sgdx�_cu_mbd�_bqnrr� sgd�rbgdc,
tkd&r� zk_md–� nq� bnktlmr*�vhsg� o_x� hmbqd_rdr� sn�
qdv_qc� sgd� _ss_hmldms� ne� _cu_mbdc� fq_ct_sd�
cdfqddr� nq� rnld� nsgdq� _bbtltk_shnm� ne� bqdchsr�
’Fqhrrnl�%�Rsqtmj*�1/01(-

Sd_bgdq� bnkkdbshud� a_qf_hmhmf� hmektdmbdr�
ltkshokd� chldmrhnmr� ne� sd_bgdq� bnlodmr_shnm*�
hmbktchmf� rs_qshmf _mc� l_whltl� r_k_qhdr*� sgd�
mtladq� ne� rsdor _mc� k_mdr*� sgd� o_x� hmbqd_rd�
_rrnbh_sdc�vhsg�lnudr�_knmf�sgd�rsdor�_mc�k_mdr*�
_mc�sgd�onrrhahkhsx�_mc�cdrhfm�ne�_cchshnm_k�o_xr�
a_rdc�nm�_cchshnm_k�pt_khehb_shnmr�’d-f-*�m_shnm_k�
an_qc� bdqshehb_shnm(*� nq� ctshdr*� nq� odqenql_mbd�
’Bnvdm� %� Rsqtmj*� 1/04:� Fqhrrnl� %� Rsqtmj*�
1/01:�Ftsgdqx*�1/07:�Vdrs %�Lxjdqdyh*�1/00(-�
Rnld� chrsqhbsr� vhsg� eqnmsknWchmf� fhud� k_qfdq�
q_hrdr� d_qkx� hm� _� sd_bgdq&r� b_qddq� _mc� rl_kkdq�
q_hrdr� k_sdq:� nsgdqr� vhsg� aWbjknWchmf� bnmbdm,
sq_sd�q_hrdr�_lnmf�udsdq_m�sd_bgdqr:�rshkk�nsgdqr�
s_jd�_�khmdWq�_ooqn_bg�sg_s�fhudr�sgd�r_ld�odq,
bdms_fd�ne�q_hrdr�_bqnrr�dwodqhdmbd�_mc�dctb_,
shnm�kdudkr-

Sgd� chrsqhatshnm� ne� sgnrd� hmbqd_rdr� _bqnrr�
sgd� r_k_qx rbgdctkd l_ssdqr� enq� sd_bgdq� k_anq�
l_qjdsr-�Nmd�gxonsgdrhr�hr�sg_s�k_qfdq�q_hrdr�enq�
d_qkx,b_qddq�sd_bgdqr�l_x�hmbqd_rd�sgd�qdbqths,
ldms�_mc�qdsdmshnm�ne�sgdrd�sd_bgdqr9�_r�sd_bg,
dqr� bnmrhcdq� sgdhq� hmhsh_k� ina� ok_bdldmsr*� sgdx�
qdronmc�lnqd�sn�rs_qshmf�r_k_qhdr�sg_m�sn�etstqd�
qdv_qcr*�odqg_or�adb_trd� sgdx�chrbntms�etstqd�
d_qmhmfr�nq�adb_trd�sgdx�e_bsnq�hm�sgd�oqna_ahk,
hsx� ne� kd_uhmf� sgd� oqnedrrhnm� ’Y_a_ky_*� 0868(-�
Lnqdnudq*�d_qkx,b_qddq�sd_bgdqr�g_ud�sgd�ghfg,
drs� oqna_ahkhsx� ne� stqmnudq� ’Rtm*� 1/07(-� Sgd�
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hlo_bs� ne� ghfgdq r_k_qhdr� d_qkhdq� hm� sgd� b_qddq�
b_m�ad�lnqd�hmektdmsh_k�enq�ghfg,pt_khsx�sd_bg,
dqr*� vgn� _qd� lnqd� khjdkx� sn� _bpthqd� ghfgdq�
noonqstmhsx� v_fdr� hm� sgd� mnmsd_bghmf� k_anq�
l_qjds� ’Bghmfnr�%�Vdrs*� 1/01:�Fnkcg_adq�%�
Aqdvdq*�0886:�Fqhrrnl�%�Rsqtmj*�1/01(-�Fhudm�
sd_bgdq� r_k_qx� q_hrdr� vgdm� sgdx� f_hm� dwodqh,
dmbd*�chrsqhbsr�fds�lnqd�otqbg_rhmf�onvdq�hm�sgd�
l_qjds� enq� sd_bgdq� pt_khsx� ax� q_hrhmf� d_qkx,
b_qddq�sd_bgdq�r_k_qhdr�’Uhfcnq*�1//7(-

Xds*� chrsqhbsr� sg_s�a_qf_hm� bnkkdbshudkx�vhsg�
sd_bgdqr&�tmhnmr�_qd�lnqd khjdkx�sn�g_ud�a_bj,
kn_cdc�r_k_qx�rsqtbstqdr�adb_trd�ne� sgd�onkhsh,
b_k�onvdq�ne�dwodqhdmbdc�sd_bgdqr�hm�sgd�tmhnm�
’Fqhrrnl�%�Rsqtmj*�1/01(-�Nmd�_qftldms� enq�
a_bjkn_cdc� r_k_qx� hr� sg_s� sd_bgdqr� f_hm� deedb,
shudmdrr� vhsg� lnqd� xd_qr� ne� dwodqhdmbd� _mc�
rtbg�deedbshudmdrr�f_hm�uh_�dwodqhdmbd rgntkc�
ad� qdv_qcdc-� ?mnsgdq� rsqnmf� lnshu_shnm� enq�
a_qf_hmhmf�a_bjkn_cdc�r_k_qx� hr� qdk_sdc� sn� sgd�
qdshqdldms� admdehsr-� Khjd� l_mx� rs_sdr*� tmcdq�
V?&r�lnchehdc� cdehmdc�admdehs� ok_m� _mc� _esdq�
_m� dkhfhakd� sd_bgdq� qdshqdr*� sgdx� vhkk� qdbdhud�
lnmsgkx admdehsr�a_rdc�nm�_�enqltk_�sg_s�s_jdr�
hmsn�_bbntms�xd_qr�ne�rdquhbdr*�_m�_udq_fd�ehm_k�
r_k_qx�’sxohb_kkx sgd�k_rs�2�xd_qr(*�_mc�_�ltksh,
okhdq� vghbg� u_qhdr� rodmchmf� nm� ok_m� o_qsh,�
bho_shnm� ’V_rghmfsnm� Rs_sd� Cdo_qsldms� ne�
Qdshqdldms� Rxrsdlr*� 1/1/(-� Rhmbd� sghr� qdshqd,
ldms�ok_m�hr�a_bjkn_cdc*�hs�hmbdmshuhydr�sd_bgdq�
tmhnmr�sn�a_qf_hm�enq�ghfgdq�o_x�enq�k_sd�b_qddq�
xd_qr�sn�rdbtqd�ghfgdq�qdshqdldms�o_x�’Bnrsqdkk�
%�Oncftqrjx*�1/0/:�LbFdd�%�Vhmsdqr*�1/08(-�
Nmd�b_m�hl_fhmd�sg_s�vgdm�sgd�qdenql�hmbqd_rdr�
sd_bgdq� r_k_qx� enq� k_sd� b_qddqr� sn� _� fqd_sdq�
cdfqdd*�rdmhnq�sd_bgdqr�bntkc�onsdmsh_kkx�cdk_x�
sgdhq� qdshqdldms� sn� rdbtqd� _� ghfgdq� qdshqdldms�
o_xldms-

BnmbdostWkhyhmf�Chrsqhbs�KnbWk�LdbgWmhrlr�
SgWs�Hmektdmbd�SdWbgdq�RWkWqx�Rbgdctkdr

Rdudq_k�chrsqhbs�cxm_lhbr�l_x�kd_c�sn�cheedqdm,
sh_k�r_k_qx�rbgdctkdr�_bqnrr�sgd�rs_sd�vgdm�chrsqhbs�
r_k_qx�rbgdctkdr�_qd�a_qf_hmdc�_s�knb_k�kdudk-�Ehqrs*�
chrsqhbsr�u_qx�hm�sgdhq�bnlonrhshnm ne�onkhbx�Wbsnqr�
Wmc�sgdhq�jmnvkdcfd)�dwodqshrd)� hmsdqdrsr)� enqlWk�
qnkdr�hm�sgd�nqfWmhyWshnm)�Wmc�onvdq.unhbd�hm�bnk,
kdbshud� a_qf_hmhmf� ’Oqhsbgdss� %� Ehkldq*� 0888(-�
Knb_k�_bsnqr�onrrdrr�cheedqdms�onvdqr sg_s�b_m�ad�
cdqhudc� eqnl� sgdhq� dwodqhdmbd� _mc� jmnvkdcfd*�

knmfduhsx�hm�sgd�chrsqhbs*�knb_k�bnmmdbshnmr*�rsq_sd,
fhdr*� _mc� sgd� qdrntqbdr� sg_s� sgdx� b_m� lnahkhyd�
’L_kdm*� 1//5(-� Enq� dw_lokd*� ctqhmf� bnkkdbshud�
a_qf_hmhmf*�nmd�ldladq�’rtbg�_r�dhsgdq�eqnl�sgd�
chrsqhbs�nq�sgd�tmhnm(�l_x�g_ud�dwsdmrhud�a_qf_hm,
hmf�dwodqhdmbdr�_mc�bnmmdbshnmr�vhsg�knb_k�hmsdq,
drs�fqntor�_mc�rs_sd�kdfhrk_snqr*�vghbg�fhudr�sgdl�
lnqd� onvdq� hm� mdfnsh_shnmr� vgdm� sgdhq� bntmsdq�
a_qf_hmdq�g_r�qdbdmskx�rsdoodc�hmsn�sgd�qnkd-�Enq�
_mnsgdq�dw_lokd*�rdmhnq�sd_bgdqr�vgn�g_ud�lnqd�
onvdq� hm� sgd� sd_bghmf� oqnedrrhnm� _mc� _qd� lnqd�
khjdkx�sn�rdqud�nm�sgd�a_qf_hmhmf�sd_l�sg_m�itmhnq�
sd_bgdqr� ’L_kdm*� 1//5(-� Sgdx� _qd� lnqd� khjdkx��
sn� a_qf_hm� enq� sgd� hmsdqdrs� ne� rdmhnq� sd_bgdqr-�
B_ostqhmf�sgd�bnlonrhshnm�_mc�onvdq�chrsqhatshnm�
_lnmf�sgdrd�rs_jdgnkcdqr�hr�_�jdx�rs_qshmf�onhms�
enq�tmcdqrs_mchmf�sgd�cxm_lhbr�ne�onkhshb_k�mdfn,
sh_shnmr�_s�sgd�knb_k�kdudk-

Rdbnmc*� onkhbxl_jdqr� nodq_sd�vhsghm� rbgnnk�
chrsqhbsr&�dwhrshmf�atcfdshmf�rsqtbstqd*�nqfWmhyW,
shnmWk�btkstqd*�Wmc�qntshmdr�’Edkcl_m�%�Q_e_dkh*�
1//1(-�Enq�dw_lokd*� sq_chshnm_k� etmchmf�b_sdfn,
qhdr�_eedbs�gnv�chrsqhbsr�_kknb_sd�sgd�mdv�etmchmf-�
Rnld� chrsqhbsr� vgn� trdc� sn� chroqnonqshnm_sdkx�
_kknb_sd� lnqd� etmchmf� nm� sd_bgdq� r_k_qhdr� sg_m�
nsgdq� mnmodqrnmmdk� bnrsr� vntkc� oqna_akx� bnm,
shmtd�sn�g_ud�sgd�r_ld�etmchmf�_kknb_shnm�rsqtb,
stqd�hm�onrs,LbBkd_qx-�Lnqdnudq*�nqf_mhy_shnm_k�
btkstqd� hmbktcdr� o_ssdqmr� ne� u_ktdr� nq� bncdr� ne�
bnmctbs� sg_s� rg_od� _bshnmr� ne onkhbx� _bsnqr�
’Ehqdrsnmd�%�Fnmy_kdy*�1//6(-�Hm�sgd�mdfnsh_shnm�
bnmsdws*� tmhnm� _mc� chrsqhbs� kd_cdqr� b_m� g_ud�
_cudqr_qh_k�qdk_shnmrghor�_mc�bdmsdq�sgdhq�bnmudq,
r_shnmr� nm� sd_bgdqr&� bnlodmr_shnm� hrrtdr� nmkx:�
_ksdqm_shudkx*� sgdx� b_m� g_ud� _� rg_qdc� u_ktd� ne�
enbtrhmf�nm rstcdms�kd_qmhmf�_mc�bnkk_anq_shudkx�
hcdmshex� qdkdu_ms� rs_eehmf� mddcr� enq� adssdq� rto,
onqshmf�rstcdmsr&�vdkk,adhmf�hm�rbgnnkr-�Rhlhk_qkx*�
rnld�chrsqhbsr�g_ud�qntshmdr�ne�oq_bshbdr�sg_s�rto,
onqs� sgd�cdudknoldms�ne� rg_qdc� dwodbs_shnmr�ne�
d_bg�nsgdq&r�adg_uhnqr�ctqhmf�mdfnsh_shnmr* vghkd�
nsgdqr�l_x�mns�g_ud�rtbg� qntshmdr� ’Edkcl_m�%�
Q_e_dkh*� 1//1(-�Sgdrd� hmrshstshnm_khydc� qntshmdr*�
btkstqd*�_mc�oq_bshbdr�b_m�rg_od� sgd�mdfnsh_shnm�
ntsbnldr-

Sghqc*�mdfnsh_shnm�hr�_�oqnbdrr�ne�aWkWmbhmf�W�
uWqhdsx�ne�oqhnqhshdr�aqntfgs�ax�ansg�chrsqhbsr�_mc�
tmhnmr-� ?ksgntfg� mdfnsh_shnmr� enq� r_k_qx� _mc�
admdehsr�_qd�bnllnm _mc�bdmsq_k�sn�l_mx�bnkkdb,
shud�a_qf_hmhmf�oqnbdrrdr*�sgdqd�_qd�nsgdq�oqhnqh,
shdr� sg_s� l_x ad� ne� hmsdqdrs� sn� dhsgdq� tmhnm� nq�
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chrsqhbs-� Enq� dw_lokd*� he� sgd� chrsqhbs� _mc� tmhnm�
ansg�oqhnqhshyd�q_bh_k�dpthsx�hm�rbgnnkr*�sgdx�l_x�
_fqdd�nm�r_k_qx�rbgdctkdr�sg_s�_kknv�enq rsq_sdfh,
b_kkx�qdbqthshmf�_mc�qds_hmhmf�sd_bgdqr�ne�bnknq*�nq�
sgdx� l_x� khlhs� r_k_qx� hmbqd_rdr� _mc� hmrsd_c�
qdrdqud�lnqd�qdrntqbdr�enq�oqnedrrhnm_k�cdudkno,
ldms�ax�knvdqhmf�sgd�dwodbs_shnmr�ne�bqnrr,an_qc�
r_k_qx�hmbqd_rdr-

Entqsg*�vghkd�sgd�ehqrs�sgqdd�e_bsnqr�enbtr�nm�_m�
hmsq_,nqf_mhy_shnm_k� rxrsdl*� vd� _krn� _ssdmc� sn�
hmsdq,nqfWmhyWshnmWk�hmektdmbd-�Hmsdq,chrsqhbs�hmekt,
dmbd�nbbtqr�sgqntfg�ltkshokd�ldbg_mhrlr�’Adqqx�
%� Adqqx*� 1/06(-� Enq� dw_lokd*� _bshud� kd_qmhmf�
nbbtqr�vgdm�nmd�tmhnm�nq�chrsqhbs�cdqhudr�hmenql_,
shnm�_ants�sgd�deedbshudmdrr�’nq�rtbbdrr(�ne�_�onk,
hbx� nq� rsq_sdfx� eqnl� oqduhntrkx� _cnoshmf� oddqr-�
Sgd� rs_sd� tmhnm� _bshudkx� trdr� hsr� nqf_mhy_shnm_k�
rsqtbstqd�sn�chrrdlhm_sd�deedbshud�dw_lokdr*�sq_hm�
knb_k� _rrnbh_shnm� a_qf_hmdqr*� _mc� dmbntq_fd�lt,�
st_k�kd_qmhmf-�Nmd�chrsqhbs�nq�tmhnm�_krn�rdsr�a_q,
f_hmhmf� s_qfdsr� a_rdc� nm� vg_s� v_r� onrrhakd� hm�
nsgdq�chrsqhbsr�’d-f-*�sgd�odqbdms_fd�q_hrd�ne�sd_bgdq�
r_k_qx(-�Bnlo_q_akx*�sgd�V_rghmfsnm�?rrnbh_shnm�
ne�Rbgnnk ?clhmhrsq_snqr´_m�_rrnbh_shnm�ne�chr,
sqhbs� rtodqhmsdmcdmsr� _mc� nsgdq� bdmsq_k� neehbd�
_clhmhrsq_snqr´_krn�_bshudkx�chrrdlhm_sdr� hmenq,
l_shnm� _mc� rtoonqsr� knb_k� rbgnnk� chrsqhbsr-�Lnq,�
dnudq*� V?� g_r� mhmd� rs_stsnqx� qdfhnm_k� rdquhbd�
_fdmbhdr� ’Dctb_shnm� Rdquhbd�Chrsqhbsr*� nq� DRCr(�
sg_s�rdqud�_r�_mnsgdq�sxod�ne�gta�sn�e_bhkhs_sd�kd_qm,
hmf�_lnmf�chrsqhbs�_clhmhrsq_snqr�_mc�chqdbskx�rto,
onqs�sgdl�hm�a_qf_hmhmf�_mc rbgnnk�ehm_mbd�onkhbx*�
_lnmf�_�gnrs�ne�nsgdq�oqnedrrhnm_k�kd_qmhmf�dwod,
qhdmbdr-� ?mnsgdq� ldbg_mhrl� enq� hmsdqnqf_mhy_,
shnm_k� hmektdmbd� hr� sg_s� chrsqhbsr� bnlodsd� enq� sd,�
_bgdq�s_kdmsr�_mc�cdrhqd�sn�l_jd�sgdhq�r_k_qx�rbgdc,
tkdr�bnlodshshud-�Sgdrd�hmsdq,nqf_mhy_shnm_k�cxm,�
_lhbr�b_m�hmektdmbd�sgd�u_qh_shnm�_bqnrr�chrsqhbsr*�
vgdqd� rnld� chrsqhbsr� _qd� lnqd� qdrntqbdetk� sg_m�
nsgdqr-

CZsZ�Zmc�RZlokd

Sn�_mrvdq�Qdrd_qbg�Ptdrshnmr�0�_mc�1*�vd�
trd�_�bnlahm_shnm�ne�_clhmhrsq_shud�c_s_�ehkdr*�
rs_sd,kdudk� c_s_*� kdfhrk_shud qdonqsr*� _mc� c_s_�
eqnl�sgd�?ldqhb_m�Bnlltmhsx�Rtqudx�’?BR(-�
Sn� bnmrsqtbs� ntq� r_k_qx� ld_rtqdr� _mc� k_anq�
l_qjds� ntsbnldr*� vd� trd� c_s_� nm� sd_bgdqr&�
xd_qr�ne�dwodqhdmbd*� ina�_rrhfmldmsr*�r_k_qhdr*�
admdehsr*�_mc�etkk,shld,dpthu_kdms�’ESD(�rs_str�

eqnl�NROH&r�R,164�c_s_a_rd�adsvddm�_b_cdlhb�
xd_qr�1/02“1/03�_mc�1/08“1/1/-�Trhmf�sgdrd�
c_s_*�vd�b_m�sq_bj�dctb_snqr&�b_qddq�lnudldms�
_bqnrr� onrhshnmr*� rbgnnkr*� _mc chrsqhbsr� hm� sgd�
rs_sd�otakhb�rbgnnk�rxrsdlr�nudq�shld-�Sn�bnm,
rsqtbs� ntq� rhltk_sdc� hmrsqtldmsr*� vd� trd� chr,
sqhbs,kdudk� qdudmtd� c_s_� eqnl� NROH&r� ehrb_k�
E,085� c_s_a_rd*� NROH&r� oqnidbshnmr� ne� oqnsn,
sxohb_k�etmchmf�enqltk_�_kknb_shnmr�’adenqd�sgd�
qdenqlr� vdms� hmsn� deedbs(*� chrsqhbs,kdudk� qdfh,�
nm_khy_shnm� e_bsnqr� eqnl� sgd� V?� Kdfhrk_shud�
Du_kt_shnm� _mc� ?bbntms_ahkhsx� Oqnfq_l*� _mc�
rs_sd,kdudk� r_k_qx� _kknb_shnmr� dm_bsdc� hm� GA�
1131-� Ehm_kkx*� sn� bnmsqnk� enq� rs_sd,vhcd� dbn,
mnlhb� bnmchshnmr*� vd� trd� 0,xd_q� drshl_sdr� ne�
sgd� tmdloknxldms� q_sd� eqnl� sgd�?BR� uh_� sgd�
Bdmrtr� Atqd_t*� _mc� vd� bnlotsd� sgd� sns_k�
_lntms� ne� dwodmchstqdr� sg_s� _qd� mns� rodms� nm�
J“01� dctb_shnm� odq� b_ohs_� uh_� rs_sd� _tchs�
qdonqsr�eqnl�sgd�Neehbd�ne�sgd�V_rghmfsnm�Rs_sd�
?tchsnq-

Sn� dwoknqd� Qdrd_qbg� Ptdrshnm� 2*� vd� bnm,
ctbsdc� otqonrdetk*� bnlo_q_shud� b_rd� rstchdr� hm�
ehud� chrsqhbsr� ’L_wvdkk*� 1//3:� O_ssnm*� 088/(-�
Chrsqhbsr�vdqd�rdkdbsdc�a_rdc�nm�oqdqdenql�odq,
otohk�dwodmchstqdr*�onudqsx�_mc�cdlnfq_oghbr�ne�
rstcdms�onotk_shnm�rdqudc*�fdnfq_oghb�chudqrhsx*�
_mc�pt_mshs_shud�cdrbqhoshud�_m_kxrdr�_ants�onrs,
LbBkd_qx�bg_mfdr�hm�r_k_qx�hmbqd_rd-�Sgdrd�ehud�
chrsqhbsr�hmbktcd�svn�fqntor�ne�mdhfganqhmf�chr,
sqhbsr� knb_sdc� hm� svn�qdfhnmr�ne� sgd�rs_sd�rn� sg_s�
vd� b_m� rstcx� qdfhnm_k� hrrtdr� _mc� hmsdq,chrsqhbs�
bnlodshshnm�_mc�kd_qmhmf-�Sgd�r_lokhmf�cndr�mns�
ld_m� sn bnkkdbs� rs_sd� qdoqdrdms_shud� r_lokdr:�
q_sgdq*�vd�_hl�sn�otqonrdetkkx�rdkdbs�chrsqhbsr�sn�
l_whlhyd� zhmenql_shnm� qhbgmdrr–� sg_s� cddodmr�
ntq� tmcdqrs_mchmf� knb_k� cxm_lhbr� ne�LbBkd_qx�
REQr� hlokdldms_shnm� _mc� oqnuhcdr� cds_hkdc�
hmenql_shnm�sn�sqh_mftk_sd�vhsg�pt_mshs_shud�ehmc,
hmfr� ’Bqdrvdkk� %� Ok_mn� Bk_qj*� 1/06:� Lhkdr� %�
Gtadql_m*�0883(-�Sn�etqsgdq�chudqrhex�odqrodb,
shudr*�vd�qd_bgdc�nts�sn�ltkshokd�qnkdr�hm�sgd�chr,
sqhbsr�vgn�jmnv�sgd�lnrs�_ants�atcfds�_kknb_shnmr�
_mc� bnkkdbshud� a_qf_hmhmf-� ?� 34,lhmtsd� rdlh,
rsqtbstqdc� hmsdquhdv� v_r� bnmctbsdc� vhsg� svn�
tmhnm� kd_cdqr*� svn� rtodqhmsdmcdmsr*� _mc� nmd�
Bghde�Ehm_mbd�Neehbdq�’BEN(�eqnl�sgdrd�ehud�chr,
sqhbsr-�Adrhcdr�hmsdquhdvr*�vd�bnkkdbsdc�nsgdq�chr,
sqhbs� cnbtldmsr*� rtbg� _r� bnkkdbshud� a_qf_hmhmf�
_fqddldmsr*�atcfdsr�_mc� knb_k� kdux�cnbtldms_,
shnm* _mc�otakhb�ldch_�qdonqshmfr-
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Rodbhehb_kkx* sgqdd� chrsqhbsr´Bnmhedq*� Bdc_q�
A_x*� _mc�D_fkd�Bqddj*� _kk� ordtcnmxlr´_qd� hm�
nmd�qdfhnm�ne�sgd�rs_sd�sg_s�rg_qdr�sgd�r_ld�fdn,
fq_oghb� sd_bgdq� k_anq� l_qjds-� Bnmhedq� rdqudr� _�
chudqrd� rstcdms� onotk_shnm*� ghfg� knb_k� oqnodqsx�
u_ktdr�_mc�rsqnmf�unsdq�rtoonqs�nm�knb_k�kduhdr*�_�
rhfmhehb_mskx�ghfgdq�odq,otohk�rodmchmf� sg_m� sgd�
rs_sd� _udq_fd*� _mc� rl_kkdq� bk_rr� rhydr� sg_m� sgd�
rs_sd� _udq_fd-� Onrs,LbBkd_qx* sgd� odqbdms_fd�
hmbqd_rd� ne� Bnmhedq&r� _udq_fd� sd_bgdq� r_k_qx hr�
bknrd� sn� sg_s� ne� sgd� rs_sd� _udq_fd� _mc� lnudr�
snv_qc� adhmf� eqnms,kn_cdc-� Bdc_q� A_x� hr� _�
ldchtl,k_qfd�rhyd�chrsqhbs�sg_s�mdhfganqr�Bnmhedq-�
Bdc_q� A_x� g_r� rhfmhehb_ms� hmbqd_rdr� hm� sd_bgdq�
r_k_qhdr�_esdq�LbBkd_qx*�_mc�hs�_krn�g_r�sgd�sq_ch,
shnm� ne� rodmchmf� _� chroqnonqshnm_sdkx� ghfgdq�
rg_qd�ne�dwodmchstqd�nm�rs_ee�r_k_qhdr�_mc�admdehsr�
sg_m�mnmodqrnmmdk�bnrsr*�bnlo_qdc�vhsg�sgd�rs_sd�
_udq_fd-�Mdws*� D_fkd�Bqddj� hr� sgd� sghqc� chrsqhbs�
sg_s�hr�hm�sgd�r_ld�fdnfq_oghb�qdfhnm*�ats�hs�rdqudr�
_m�dudm�vd_ksghdq� rstcdms�onotk_shnm�_mc�g_r�_�
rstcdms�dmqnkkldms� rhyd� sg_s� hr�adsvddm�Bnmhedq�
_mc�Bdc_q�A_x-

Sgd� rdbnmc� qdfhnm� hmbktcdr� svn� chrsqhbsr´
Toodq�U_kkdx�_mc�Ok_hmuhdv-�Toodq�U_kkdx�hr�nmd�
ne� sgd� k_qfdrs� chrsqhbsr� hm� sg_s� qdfhnm�vhsg� k_qfd�
onotk_shnmr� ne� knv,hmbnld� rstcdmsr*� Dmfkhrg�
kd_qmdqr*�_mc�rstcdmsr�ne�bnknq-�Sghr�chrsqhbs�oqn,
uhcdr�bk_rr rhyd�bknrd sn�sgd�rs_sd�_udq_fd�_mc�g_r�
_�rhfmhehb_mskx nkcdq�sd_bgdq�vnqjenqbd�vhsg�sgd�
rs_sd�_udq_fd-�Onrs,LbBkd_qx*� sgd�chrsqhbs�r_k_qx�
rbgdctkd�lnudc� snv_qc�dudm�lnqd�a_bjkn_cdc-�
Ok_hmuhdv*� _� rl_kkdq� rbgnnk� chrsqhbs� sg_m�Toodq�
U_kkdx*�rg_qdr�sgd�qdfhnm_k�sd_bgdq�l_qjds*�rdqudr�
_� rhlhk_q� rstcdms� onotk_shnm*� _mc� e_bdr� rhlhk_q�
hrrtdr-� ?krn*� rhlhk_qkx*� hm� sgd� onrs,LbBkd_qx�
qdenql� odqhnc*� sghr� chrsqhbs&r� r_k_qx� rbgdctkd�
lnudc�snv_qc�adhmf�lnqd�a_bjkn_cdc-

Hm�1/11*�vd�bnmctbsdc�_mnsgdq�qntmc�ne�hmsdq,
uhdvr�vhsg�_�chudqrd*�lnqd�qdoqdrdms_shud�fqnto�
ne� 13� rs_jdgnkcdqr� vgn� vdqd� rs_sd� kdfhrk_snqr*�
nsgdq� rs_sd,kdudk� onkhbxl_jdqr*� rbgnnk� chrsqhbs�
_clhmhrsq_snqr*� sd_bgdq� tmhnm� qdoqdrdms_shudr*�
sd_bgdqr*�onkhbx�_cunb_sdr*�_mc�bnlltmhsx�kd_c,
dqr-�Vd�bncdc�sgd�mdv�hmsdquhdv�c_s_�sg_s�odqs_hm�
sn�LbBkd_qx�REQr� _mc� sgdhq� knb_k� hlokdldms_,
shnm*� trhmf� sgd� bncdannj� cdudknodc� enq� bnchmf�
sgdrd� ehud� hmsdquhdvr- Vd�nas_hmdc�udqx� rhlhk_q�
hmenql_shnm*� qdekdbshmf� _f_hm� _� zr_stq_shnm–� ne�
hcd_r�vd�_bghdudc�hm�ntq hmhsh_k�r_lokd-�Rhmbd�sgd�
1/11� hmsdquhdvr� nbbtqqdc� hm� _� cheedqdms� shld*�

trdc�cheedqdms�r_lokhmf�ldsgncr*�_mc�vdqd�fth,�
cdc� ax� cheedqdms� hmsdquhdv� ptdrshnmr� _mc� _hlr�
’rdd�Rtm�ds�_k-*�1/12(*�vd�cdbhcd�sn�mns�ed_stqd�hm�
sghr�_qshbkd-

Ehm_kkx*� sn� bnmctbs� rnld� ne� ntq� qnatrsmdrr�
bgdbjr*� vd� nas_hm� _cchshnm_k� c_s_� nm� rstcdms�
cdlnfq_oghbr*� rs_ee,odq,rstcdms� q_shnr*�_mc�dbn,
mnlhb� bnmchshnmr-� Rstcdms� cdlnfq_oghbr� c_s_�
bnld�eqnl�sgd�V?�rs_sd� qdonqs�b_qc*�vghbg�_qd�
bnlohkdc� ax�NROH� _mc�l_cd� _u_hk_akd� sgqntfg�
V?&r�nodm�c_s_�onqs_k-�Trhmf�sgd�Bnllnm�Bnqd�
ne� C_s_&r� mnmehrb_k� chrsqhbs� tmhudqrd� rtqudxr*�
vghbg�_qd�_u_hk_akd�eqnl�sgd�MBDR*�vd�bnmrsqtbs�
rs_ee,odq,rstcdms� q_shnr-�?mc� enq� _cchshnm_k� dbn,
mnlhb�bnmchshnmr�_s�sgd�chrsqhbs�kdudk*�vd�nas_hm�
4,xd_q� _udq_fdr� ne� tmdloknxldms� q_sdr� _mc�
ldch_m� gntrdgnkc� eqnl� sgd ?BR� Dctb_shnm�
S_atk_shnmr*�vghbg�_qd�_u_hk_akd�sgqntfg�MBDR-

Ldsgnc

Sghr� rstcx� trdr� _� rdptdmsh_k� dwok_m_snqx�
lhwdc,ldsgncr cdrhfm�bnmrhrshmf�ne�svn�og_rdr9�
rs_qshmf�vhsg�pt_mshs_shud�_m_kxrhr�_mc�sgdm�otq,
onrdetk� pt_khs_shud� c_s_� _m_kxrdr� ’Bqdrvdkk� %�
Ok_mn� Bk_qj*� 1/06(-� Ntq� pt_mshs_shud� _m_kxrdr�
_hl�sn�oqnuhcd�rs_sdvhcd*�aqn_c�uhdv�ne�LbBkd_qx�
REQ�deedbsr�nm�sd_bgdq�r_k_qx�q_hrdr�_mc�sd_bgdq�
ghqhmf�_mc�qdsdmshnm-�Mdws*�ntq�pt_khs_shud�_m_kx,
rdr�_hl� sn�dwok_hm�u_qh_shnm�_mc�dktbhc_sd� ehmc,
hmfr� eqnl� ntq� pt_mshs_shud� _m_kxrdr-� Vd� mnv�
chrbtrr�d_bg�og_rd�ne�ntq�_m_kxrhr�vhsg�qdrodbs�sn�
ntq�qdrd_qbg�ptdrshnmr-

PtWmshsWshud�?mWkxrhr

Enq Qdrd_qbg� Ptdrshnm� 0*� vd� drshl_sd� sgd�
dwsdms�sn�vghbg�LbBkd_qx�REQr�_eedbsdc�sd_bgdq�
r_k_qhdr-� Vd� trd� ’bnlo_q_shud(� HSR� _ooqn_bgdr�
sg_s� kdudq_fd� rhltk_sdc� hmrsqtldmsr� ne chrsqhbs,
kdudk�zcnr_fd–�ne�LbBkd_qx�REQr-�Sn�bnmrsqtbs�
sgdrd�hmrsqtldmsr*�vd�ehqrs�rhltk_sd�sgd�rs_sd,kdudk�
_kknb_shnm�ne�qdrntqbdr�enq�_kk�rs_ee�r_k_qhdr´bdq,
shehb_sdc*�_clhmhrsq_shud*�_mc�bk_rrhehdc´sg_s�_qd�
rds� sn� hlo_bs chrsqhbsr� hm� sgd� 1/07“1/08� rbgnnk�
xd_q-

Sgd� sns_k� rs_sd,kdudk� _kknb_shnm� enq� d_bg� chr,
sqhbs� hr� sgd� rtl� ne� sgd� enkknvhmf� sgqdd� bnlon,
mdmsr9� ’_(� sgd�oqnctbs� ne� bdqshehb_sdc� rs_ee�ESD*�
sgd�a_rd�r_k_qx�ne�bdqshehb_sdc�rs_ee*�_mc�sgd�bdq,
shehb_sdc�qdfhnm_khy_shnm�e_bsnq:�’a(�sgd�oqnctbs�ne�
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_clhmhrsq_shud� rs_ee� ESD*� sgd� a_rd� r_k_qx� ne�
_clhmhrsq_shud� rs_ee*� _mc� sgd� _clhmhrsq_shud�
qdfhnm_khy_shnm� e_bsnq:� _mc� ’b(� sgd� oqnctbs� ne�
bk_rrhehdc�rs_ee�ESD*�sgd�a_rd�r_k_qx�ne�bk_rrhehdc�
rs_ee*� _mc� sgd� bk_rrhehdc� qdfhnm_khy_shnm� e_bsnq-�
Sgd� ESD� ne� chrsqhbs,kdudk� rs_ee� hr� cdsdqlhmdc�
rnkdkx� ax� sgd� rs_sd&r� oqnsnsxohb_k� bk_rr� rhyd�
enqltk_-

Vd�b_kbtk_sd�ESD�enq�_kk�rs_ee�ax�_ookxhmf�sgd�
oqnsnsxohb_k�enqltk_�sn�oqnidbsdc�dmqnkkldms�hm�
Rdosdladq�1/07“1/08-�G_uhmf�oqnidbsdc�dmqnkk,
ldms�_s�sgd�adfhmmhmf�ne�sgd�xd_q*�_r�noonrdc�sn�
_bst_k dmqnkkldms� ctqhmf� sgd� xd_q*� dmrtqdr� sg_s�
dmqnkkldms�cdbhrhnmr�l_cd�ax�o_qdmsr�’_mc�onr,
rhakx�rbgnnk�kd_cdqr(�_qd�mns�dmcnfdmntr�sn�sgd�
hmbqd_rdc� etmchmf� _kknb_shnmr� oqnuhcdc� ax� GA�
1131-�Vd�sgdm�rb_kd�sgd�_lntms�ne�rs_ee�etmchmf�
ax� sgd� sns_k� oqnidbsdc� chrsqhbs� dmqnkkldms� hm�
Rdosdladq� 1/08-�Ehm_kkx*�vd� s_jd� ntq� bnmshmt,
ntr�cnr_fd�ld_rtqd�_mc�fdmdq_sd�sgqdd�hmchb_snq�
u_qh_akdr�sg_s�qdekdbs sgqdd�sdqbhkdr�ne�sgd�_kknb_,
shnmr� sn� _kknv� enq� mnmkhmd_qhshdr� hm� cnr_fd-�
Sdqbhkd�0�qdoqdrdmsr�knv,cnr_fd�chrsqhbsr*�Sdqbhkd�
1�ldchtl,cnr_fd*�_mc Sdqbhkd�2*�ghfg,cnr_fd-�Hm�
Nmkhmd�?oodmchw�Ehftqd�?0�hm�sgd�nmkhmd�udqrhnm�
ne� sgd� intqm_k*�vd�fq_oghb_kkx� rgnv� sgd� ro_sh_k�
u_qh_ahkhsx� ne� sgdrd� cnr_fd� sdqbhkdr� _bqnrr� V?�
rs_sd-

Vgn� _qd� sgd� chrsqhbsr� hm� sgdrd� cheedqdms� sdq,
bhkdr;�S_akd�0�hkktrsq_sdr�chrsqhbsr& bg_q_bsdqhrshbr�
ax� cnr_fd� sdqbhkdr� ctqhmf� sgd� oqdqdenql� xd_qr�
1/03“1/04� sn� 1/06“1/07-�?kk� rtll_qx� rs_shr,
shbr� _qd� vdhfgsdc� ax� _udq_fd� bdqshehb_sdc� ESD�
nudq�sgd�oqdqdenql�odqhnc*�sgd�r_ld�vdhfgs�vd�
trdc�hm�sgd�qdrs�ne�sgd�_m_kxrhr-�Bnlo_qdc�vhsg�
sgd�_udq_fdr�ne�chrsqhbsr�hm�Sdqbhkdr�0�_mc�1�_mc�
sgd� rs_sdvhcd� _udq_fd*� Sdqbhkd� 2� chrsqhbsr� g_c�
knvdq�odqbdms_fdr ne�Ghro_mhb*�Vghsd*�eqdd�_mc�
qdctbdc,oqhbd� ktmbg�rstcdmsr*�ats�_�ghfgdq�oqn,
onqshnm� ne� Ak_bj.?eqhb_m� ?ldqhb_m� rstcdmsr-�
Vghkd�Sdqbhkd�2�chrsqhbsr�g_c�sgd�ghfgdrs�ldch_m�
sns_k� ehm_k� r_k_qhdr*� sgdx�g_c� sgd� knvdrs�ldch_m�
a_rd�r_k_qhdr�qdk_shud�sn�sgd�nsgdq sdqbhkdr�_mc�sgd�
rs_sdvhcd� _udq_fd-� Sdqbhkd� 0� chrsqhbsr� g_c� sgd�
ghfgdrs�_udq_fd�sd_bgdq�dwodqhdmbd�_mc�sgd�ghfg,
drs� sd_bgdq� stqmnudq� q_sd-�Sdqbhkd�1�chrsqhbsr*�nm�
sgd�bnmsq_qx*�g_c�sgd�knvdrs�stqmnudq�q_sd�ctqhmf�
sgd�oqdqdenql�odqhnc-

Sn�bnlo_qd�sd_bgdq�r_k_qx�bg_mfdr�adenqd�_mc�
_esdq�sgd�_b_cdlhb�xd_q�1/07“1/08*�vd�drshl_sd�
sgd�enkknvhmf�HSR�lncdk9
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vgdqd� t�d �qdoqdrdmsr�chrsqhbs�ldch_m�a_rd�r_k,
_qhdr�nq�ldch_m�sns_k�ehm_k�r_k_qhdr�enq�bdqshehb_sdc�
sd_bgdqr� hm� sgntr_mcr� ne� qd_k� 1/07� ehrb_k,xd_q�
cnkk_qr�enq�chrsqhbs�c�hm�xd_q�s-�Sgd�ehm_k�sns_k�r_k_,
qhdr�_qd�_�bnlahm_shnm�ne�ansg�a_rd�r_k_qhdr�_mc�
rtookdldms_k� r_k_qhdr� etmcdc� ax� _kk� rntqbdr-�
R_k_qx�u_qh_akdr�_qd�hmek_shnm,_citrsdc�trhmf�sgd�
Bnmrtldq�Oqhbd�Hmcdw�’BOH(�cdek_snq�hm�qd_k�1/07�
ehrb_k,xd_q�cnkk_qr� ’Rgnqdr�%�B_mcdk_qh_*�1/1/(�
_mc�sgdm�dwoqdrrdc�hm�sgntr_mcr-�Vd�cdbhcdc�sn�
trd� sgd� cnkk_qr� hm� sgntr_mcr� sn� e_bhkhs_sd� onkhbx�
hlokhb_shnmr-

Vd�dwokhbhskx�_citrs�enq�oqd,LbBkd_qx�khmd_q�
shld�sqdmcr�enq�d_bg�sdqbhkd-�Sgd�sdql� ta�er �hr�_�
khmd_q�shld�sqdmc�u_qh_akd�sg_s�hr�dpt_k�sn�sgd�b_k,
dmc_q� xd_q�lhmtr� 1/07� ’h-d-*� sgd� roqhmf� ne� sgd�
1/06“1/07�rbgnnk�xd_q(:� sgdqdenqd*� ra�e � s_jdr�
u_ktd� 0� hm� 1/07“1/08-� Adb_trd� vd� chrbqdshyd�
ntq�bnmshmtntr�ld_rtqd�ne�cnr_fd�sn�enql�sdq,
bhkdr*� �eodD =� �hr�_�anssnl,sdqbhkd*�knv,cnr_fd�
chrsqhbs�_mc� �eodD = � �hr�_�sno,sdqbhkd*�ghfg,cnr,
_fd� chrsqhbs-� Sgtr*� hm� sgd� dpt_shnm*� γ� � hr� sgd�
bndeehbhdms� nm� sgd� khmd_q� shld� sqdmc� _lnmf�
Sdqbhkd�0�chrsqhbsr�adenqd�sgd�rs_sd�rs_eehmf�_kkn,
b_shnm� enqltk_� bg_mfdr� hm� 1/07“1/08-� O_q_,�
ldsdqr� γ� �_mc� γ� � qdoqdrdms�bndeehbhdmsr�nm�sgd�
oqd,LbBkd_qx�sqdmcr�enq�Sdqbhkdr�1�_mc�2-

Ntq�o_q_ldsdqr�ne�hmsdqdrs�eqnl�sgd�HSR�lncdk�
_qd� sgd� β �j-� Vd� drshl_sd� LbBkd_qx� deedbsr� enq�
d_bg�sdqbhkd�mnmo_q_ldsqhb_kkx�’h-d-*�trhmf�hmchb_,
snq� u_qh_akdr(*� vghbg� _qd� hcdmshehdc� qdk_shud� sn�
d_bg�sdqbhkd&r�nvm�khmd_q�oqd,LbBkd_qx�sqdmc-�Enq�
dw_lokd*�β2 1,03�

�hr�sgd�LbBkd_qx,hmctbdc�bg_mfdr�
hm�r_k_qx�enq�Sdqbhkd�2�hm�1/08�qdk_shud�sn�hsr�oqd,
sqdmc-�Trhmf�sgd�HSR�lncdk*�vd�b_m�nas_hm�_�sns_k�
ne�svn�deedbs�drshl_sdr´Xd_qr�1/08�_mc�1/1/´
enq�d_bg�sdqbhkd-

Vd�_krn�hmbktcd�chrsqhbs�ehwdc�deedbsr*� θ� *�sn�
_bbntms� enq� knb_k� k_anq�l_qjds� bnmchshnmr� sg_s�
_qd� qdk_shudkx� shld,hmu_qh_ms*� rtbg� _r� _ksdqm_,
shud�v_fd�noonqstmhshdr�hm�_�knb_k�_qd_�_mc�bnl,
odshshudmdrr�ne�sgd�k_anq�l_qjds�’h-d-*�sgd�cdfqdd�
sn� vghbg� sd_bgdqr� vgn� d_qm� ghfg� r_k_qhdr� _qd�
khuhmf�hm�_qd_r�sg_s�nsgdq�oqnedrrhnmr�d_qm�ghfg�
o_x�_r�vdkk(*�bnrs�ne�khuhmf*�_mc�knb_k�qdrhcdmsr&�
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onkhshb_k� oqdedqdmbdr� ’cdlnbq_shb� nq� qdotakh,
b_m(-� Ehm_kkx*� vd� hmbktcd� shld,u_qxhmf� ld_,
rtqdr ne�V_rghmfsnm&r�tmdloknxldms�q_sd _mc�
sgd� knf_qhsgl� ne� rs_sd,kdudk� dwodmchstqdr� odq�

b_ohs_ nm� dudqxsghmf� dwbdos� J“01� dctb_shnm*�
ansg� ne� vghbg� _qd� qdoqdrdmsdc� ax� udbsnq� �X-�
Sgdrd�u_qh_akdr�bnmsqnk�enq�dbnmnlhb�sqdmcr�hm�
sgd�rs_sd-

S?AKD�0

Oqdqdenql�Chrsqhbs�BgWqWbsdqhrshbr�ax�LbBkdWqx�CnrWfd�Sdqbhkd

U_qh_akdr Sdqbhkd�0 Sdqbhkd�1 Sdqbhkd�2 Sns_k

Obs-�Ak_bj 0-46 1-6/ 5-57 3-33
’1-/3( ’1-71( ’5-06( ’4-1/(

Obs-�Ghro_mhb 21-0 15-0 06-/ 11-7
’15-0( ’10-8( ’7-13( ’07-7(

Obs-�Vghsd 46-/ 46-8 41-8 44-2
’12-8( ’1/-3( ’06-0( ’08-7(

Obs-�EQOK 5/-8 42-8 28-5 37-1
’05-2( ’04-0( ’07-3( ’08-0(

Obs-�RODC 03-4 03-5 03-/ 03-2
’1-24( ’0-87( ’1-12( ’1-1/(

Chrsqhbs�dmqnkkldms 6*025-4 02*438-/ 1/*002-/ 04*441-5
’5*564-7( ’8*607-1( ’03*385-8( ’01*8/6-2(

Ld_m�chrsqhbs�sd_bgdq�dwodqhdmbd 03-1 02-2 02-0 02-3
’0-84( ’0-58( ’0-8/( ’0-78(

Ldch_m�bdqs-�a_rd�r_k_qx�’0*///r( 47-0 46-/ 45-/ 45-6
’2-83( ’2-85( ’3-43( ’3-21(

Ldch_m�sns_k�ehm_k�r_k_qx�’0*///r( 58-0 58-6 65-8 62-0
’4-/8( ’5-00( ’6-13( ’6-38(

Obs-�stqmnudq 0/-6 0/-0 0/-4 0/-3
’3-08( ’2-55( ’2-08( ’2-45(

Obs-�mdv�ghqdr 7-47 7-45 7-13 7-30
’2-17( ’2-08( ’1-43( ’1-80(

Rs_sd�qdudmtd.otohk 8*/76-0 7*705-/ 7*047-2 7*433-3
’0*611-7( ’0*300-/( ’0*/08-7( ’0*252-7(

Rs_sd�+�Knb_k�qdudmtd.otohk 00*/35-4 0/*806-8 00*147-8 00*00/-0
’0*866-0( ’0*401-/( ’0*324-1( ’0*471-2(

Btqqdms�dwodmchstqdr.otohk 00*600-8 00*451-2 00*842-6 00*672-1
’0*825-4( ’0*6/8-2( ’0*4/4-4( ’0*557-4(

Chrsqhbs�tmdloknxldms�q_sd 6-40 5-41 4-38 5-10
Z?BR9�4,xd_q�_udq_fd[ ’1-15( ’0-72( ’0-14( ’0-74(
Chrsqhbs�ldch_m�gntrdgnkc�Hmbnld 42*8/8-4 47*782-1 68*72/-3 57*123-4
Z?BR9�4,xd_q�_udq_fd[ ’0/*1/4-2( ’00*/45-6( ’1/*146-0( ’08*714-2(
Rs_sd�tmdloknxldms�q_sd 4-6/ 4-6/ 4-6/ 4-6/

’/-5/( ’/-5/( ’/-5/( ’/-5/(
Knf’rs_sd�mnm,J“01�dwo-�odq�b_ohs_( 7-31 7-31 7-31 7-31

’/-/16( ’/-/16( ’/-/16( ’/-/16(

Mnsd-�Rs_mc_qc�cduh_shnmr�_qd�hm�o_qdmsgdrdr-�Oqdqdenql�odqhnc�hr�_b_cdlhb�xd_qr�1/03“1/04�sn�1/06“1/07-�Rtll_qx�rs_shrshbr�
_qd�vdhfgsdc�ax�bdqshehb_sdc�ESD�_udq_fdc�nudq�sgd�oqdqdenql�odqhnc-�Ehud,xd_q�_udq_fdr�eqnl�sgd�?BR�_qd�enq�b_kdmc_q�xd_qr�
1/02�sn�1/06-�?BR�=�?ldqhb_m�Bnlltmhsx�Rtqudx:�ESD�=�etkk,shld�dpthu_kdms:�EQOK�=�Eqdd�_mc�Qdctbdc�Oqhbdc�Ktmbg:�
RODC�=�Rodbh_k�Dctb_shnm-
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Sgd� HSR�lncdk� _kknvr�tr� sn� drshl_sd� b_tr_k�
LbBkd_qx� deedbsr� tmcdq� sgd� enkknvhmf� _rrtlo,
shnm9�sgd�_udq_fd�oqdsqd_sldms�sqdmc�enq�d_bg�sdq,
bhkd� rdqudr� _r� _� u_khc� bntmsdqe_bst_k� enq� vg_s�
vntkc� g_ud� g_oodmdc� hm� sgd� _ardmbd� ne� sgd�
LbBkd_qx�qdenql-�Hm�nsgdq�vnqcr*�ntq�LbBkd_qx�
deedbs� drshl_sdr� qdekdbs� sgd� cheedqdmbd� adsvddm�
sgd� _udq_fd� onrssqd_sldms� sqdmc� hm� d_bg� sdqbhkd�
_mc�sgd�_udq_fd�oqdsqd_sldms�sqdmc*�_esdq�mdsshmf�
nts� sgd� rs_sd,kdudk� dbnmnlhb� bnmsqnk� u_qh_akdr-�
Gnvdudq*�adb_trd�sgdqd�hr�mn�bnlo_qhrnm�fqnto�
hm� sghr� qdrd_qbg� cdrhfm* sgd� HSR�lncdkr� b_mmns�
dwokhbhskx� _citrs� enq� nsgdq� rdbtk_q� rgnbjr� sg_s�
_eedbs� sgd� dmshqd� rs_sd� ne� V_rghmfsnm� adxnmc�
sgdrd�rs_sd,kdudk�dbnmnlhb�bnmsqnkr-�Cdrohsd�sghr�
khlhs_shnm*�vd�rshkk�bgnnrd�sn�qdonqs�oqhl_qhkx�HSR�
qdrtksr� adb_trd� vd� b_m� adssdq� bg_q_bsdqhyd� sgd�
rhfmhehb_ms�hmbqd_rdr�hm�a_rd�_mc�sns_k�ehm_k�r_k_,
qhdr´oqd,�sn�onrs,LbBkd_qx´adb_trd�sgd�LbB,�
kd_qx�qdenqlr�nbbtqqdc�_bqnrr�_kk�chrsqhbsr-

Sn�sqh_mftk_sd�sgd�HSR�ehmchmfr*�vd�vhkk�dr,�
shl_sd� _� bnlo_q_shud� hmsdqqtosdc� shld� rdqhdr�
’BHSR(*� vgdqd� sgd� bnlo_qhrnm� fqnto� bnmrhrsr�
ne�Sdqbhkd�0�chrsqhbsr´sgd�knv,cnr_fd�chrsqhbsr-�
Adb_trd� sgd� BHSR� lncdk� cheedqdmbdr� nts sgd�
deedbs�ne�Sdqbhkd�0� sn� enql�_ cheedqdmbd,hm,che,
edqdmbdr� qdrd_qbg� cdrhfm*� vd� nas_hm� rsqnmfdq�
b_tr_k�v_qq_ms�adb_trd�vd�b_m�dwokhbhskx�_citrs�
enq� rdbtk_q� rgnbjr� sg_s� _eedbs�V?� sgqntfg� sgd�
hmbktrhnm� ne� xd_q� ehwdc� deedbsr-� Gnvdudq*� sgd�
sq_cdnee�hr�sg_s�sghr�BHSR�_ooqn_bg�needqr�_�khl,
hsdc�odqrodbshud�ne�LbBkd_qx� hlo_bsr�adb_trd�
sgd� LbBkd_qx� qdenqlr� hmektdmbd� _kk� V?� chr,
sqhbsr�_mc�sgd�bqnrr,sdqbhkd�cheedqdmbhmf�qdlnudr�
_� rtars_msh_k� onqshnm� ne� sgd onkhbx� sqd_sldms�
deedbs-� O_qshbtk_qkx* vgdm� BHSR� drshl_sdr� b_m�
ad� bknrdkx� _ooqnwhl_sdc� ax� cheedqdmbhmf� HSR�
onhms�drshl_sdr _bqnrr�sdqbhkdr*�sgd�jdx�hcdmshex,
hmf�_rrtloshnmr�enq�HSR�rddl�ok_trhakd-

Hm�ntq�_m_kxrdr*�sgd�BHSR�lncdk�s_jdr�sgd�enk,
knvhmf�enql9
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vgdqd� oqdsqdmcr� enq� Sdqbhkd� 0 _qd� drshl_sdc�
mnmo_q_ldsqhb_kkx�vhsg�xd_q�ehwdc�deedbsr*� γ � �Vd�
sgdm� _citrs� enq� oqdsqdmcr� _lnmf� chrsqhbsr� hm�
Sdqbhkdr� 1� _mc� 2� ax� hmbktchmf� sdqbhkd,rodbhehb�

khmd_q�shld�sqdmcr*�vghbg�_qd�hcdmshehdc�qdk_shud�sn�
sgd�mnmo_q_ldsqhb�sqdmc�enq�Sdqbhkd�0-�Ntq�o_q_l,
dsdqr� ne� hmsdqdrs� _qd� rshkk� sgd� β �j :� gnvdudq*� vd�
nmkx� drshl_sd� deedbsr� enq� Sdqbhkdr� 1� _mc� 2-�Vd�
drshl_sd�Dpt_shnmr�0�_mc�1�trhmf�vdhfgsdc�kd_rs�
rpt_qdr*�vdhfgshmf�ax�bdqshehb_sdc� sd_bgdq�ESD-�
Vd�_krn�drshl_sd�bktrsdq,qnatrs�rs_mc_qc�dqqnqr�_s�
sgd�chrsqhbs� kdudk� sn�bnqqdbs�enq�fdmdq_k�enqlr�ne�
gdsdqnrjdc_rshbhsx�_mc�enq�_qahsq_qx�rdqh_k�bnqqd,
k_shnm�nudq�shld�vhsghm�chrsqhbsr-

Adxnmc�drshl_shmf�ntq�HSR�_mc�BHSR�lncdkr�nm�
nudq_kk� ldch_m� chrsqhbs� r_k_qx� ld_rtqdr*� vd� _krn�
drshl_sd� sgd� gdsdqnfdmdhsx� hm� r_k_qx� hmbqd_rdr� ax�
sd_bgdq� dwodqhdmbd� kdudk-� Vd� rdo_q_sdkx� drshl_sd�
ntq� dpt_shnmr�nm� rdudm�dwodqhdmbd�fqntor9� d_qkx,
b_qddq� ’/—2� xd_qr� ne� sd_bghmf� dwodqhdmbd(*� itmhnq�
’3—6(*�lhc,b_qddq�0�’7—00(*�lhc,b_qddq�1�’01—04(*�
k_sd,b_qddq� 0� ’05—08(*� k_sd,b_qddq� 1� ’1/—11(*� _mc�
k_sd,b_qddq�2�’12�_mc�_anud(-�Sn�odqenql�sghr�gds,
dqnfdmdhsx� drshl_shnm*� vd� fdmdq_sdc� chrsqhbs,xd_q�
c_s_�ehkdr�enq�d_bg�dwodqhdmbd�fqnto�_mc�drshl_sdc�
rdo_q_sd�deedbsr�ne�LbBkd_qx�r_k_qx�hmbqd_rdr�trhmf�
Dpt_shnmr� 0� _mc�1-�Vd� bgnrd� sghr� dwodqhdmbd,ahm�
fqntohmf� sn� _khfm� vhsg� oqhnq� khsdq_stqd� _ants� sgd�
qdk_shnmrgho� adsvddm� sd_bgdq� dwodqhdmbd*� r_k_qx*�
_mc� stqmnudq� ’Gdmcqhbjr*� 1/04(-� Lnqdnudq*� _r�
hmenqldc� ax� ntq� hmsdquhdv�c_s_*� sghr� _ooqn_bg� ne�
fqntohmf� sd_bgdqr� _khfmr�vhsg�gnv�V?�dctb_snqr�
qdedq� sn� cheedqdms� b_qddq� rs_fdr� hm� _� sd_bgdq&r� khed�
bxbkd�hm�sgd�chrsqhbs*�vghbg�l_jdr�sgd�ehmchmfr�qdrn,
m_sd�vhsg�onkhbxl_jdqr�_mc�dctb_shnm_k�kd_cdqr-0

Enq�Qdrd_qbg Ptdrshnm�1*�vd�drshl_sd�sgd�deedbsr�
ne�LbBkd_qx,hmctbdc� sd_bgdq� r_k_qx� hmbqd_rdr� nm�
sd_bgdq� qdbqthsldms� _mc� stqmnudq� q_sdr� kdudq_fhmf�
qdctbdc,enql�_mc�hmrsqtldms_k�u_qh_akd�_ooqn_bgdr-�
Ntq�qdctbdc,enql�lncdkr�_qd�rhlhk_q�sn�Dpt_shnmr�
0�_mc�1�ats�qdok_bd�ntsbnldr�vhsg�ld_rtqdr�ne�ghq,
hmf� _mc� stqmnudq-�Mdws*�vd� drshl_sd� sgd� deedbs� ne�
LbBkd_qx,hmctbdc� r_k_qx� hmbqd_rd� nm� ghqhmf� _mc�
stqmnudq�ax�dladcchmf�ntq�rhltk_sdc�hmrsqtldms_k�
u_qh_akdr´sgd�cnr_fd�sdqbhkdr´vhsghm�sgd�HSR�_mc�
BHSR�eq_ldvnqjr-�Vd�nodq_shnm_khyd�sghr�rsq_sdfx�
trhmf�_�1RKR�drshl_snq:�ntq�_ooqn_bg�hr�rhlhk_q�sn�
Ingmrnm� _mc� S_mmdq� ’1/07(� _mc� I_bjrnm� ds _k-�
’1/05(-� Ntq� ehqrs� rs_fd� s_jdr sgd� enql� ne� dhsgdq�
Dpt_shnm�0�nq�Dpt_shnm�1*�vgdqd� sgd�dmcnfdmntr�
ntsbnld�u_qh_akd�hr�r_k_qx-�Hm�sgd�rdbnmc�rs_fd*�vd�
lncdk�sd_bgdq�k_anq�l_qjds�ntsbnldr�_r�_�etmbshnm�
ne� sgd� dmcnfdmntr� r_k_qx� u_qh_akd-� Enq� qdedqdmbd*�
vd� rgnv� sgd� rdbnmc� rs_fd� enq� sgd� HSR� _mc�BHSR�
lncdkr�adknv9
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vgdqd� t�d � hr�dhsgdq�_�ld_rtqd�ne�qdbqthsldms�
nq� stqmnudq-� Hm� sgdrd� dpt_shnmr*� η � b_ostqdr� sgd�
drshl_sdc� LbBkd_qx,hmctbdc� r_k_qx� deedbsr� nm�
sd_bgdq�k_anq�l_qjds�ntsbnldr-�Vd�drshl_sd�ntq�
hmrsqtldms_k� u_qh_akdr� lncdkr� trhmf� 1RKR-� ?r�
adenqd*�vd�vdhfgs�sgd�qdfqdrrhnm�lncdkr�ax�sns_k�
bdqshehb_sdc�ESD�hm�1/06“1/07*�_mc�vd�drshl_sd�
rs_mc_qc�dqqnqr�ax�bktrsdqhmf�_s�sgd�chrsqhbs�kdudk�
_mc�bnqqdbshmf�enq�fdmdq_k�enqlr�ne�gdsdqnrjdc_r,
shbhsx-�?r�vhsg�Qdrd_qbg�Ptdrshnm�1*�vd�b_ostqd�
sgd� gdsdqnfdmdntr� deedbsr� ne� r_k_qx� hmbqd_rd� nm�
sd_bgdq�qdsdmshnm�_mc�qdbqthsldms*�ax�drshl_shmf�
ntq� lncdkr� ax� dwodqhdmbd� ahm-� Drshl_shmf� sgd�
gdsdqnfdmdhsx�deedbsr�_kknvr�tr�sn�tmcdqrs_mc�sgd�
dwsdms� sn� vghbg� LbBkd_qx� qdenqlr� hmektdmbd�
sd_bgdq� k_anq� vnqjenqbd� cdudknoldms� ax� hmekt,
dmbhmf�sgd�r_k_qx�rbgdctkd-

PtWkhsWshud�?mWkxrhr

Sgd� pt_khs_shud� _m_kxrhr� dloknxdc� bnmrs_ms�
bnlo_q_shud� ldsgncr� hmbktchmf� ansg� cdctbshud�
_mc�hmctbshud�rbgdldr�’d-f-*�Bnmq_c�ds�_k-*�0882:�
Fk_rdq*� 0854(-� Ehqrs*� _� bnchmf� eq_ld�v_r� cdudk,
nodc� a_rdc� nm� ntq� bnmbdost_k� eq_ldvnqj� _mc�
hmsdquhdv�oqnsnbnk-�Bncdr�vdqd�nqf_mhydc�_qntmc�
qdrd_qbg�ptdrshnmr�_mc�hmbktcdc�b_sdfnqhdr�rtbg�_r�
qdrntqbd�dpthsx*�onvdq�ne�onkhbx�_bsnqr*�rdmrdl_j,
hmf*� _mc� hmsdq,nqf_mhy_shnm_k� hmektdmbd-� Nmkhmd�
?oodmchw�S_akd�?0� hm� sgd� nmkhmd� udqrhnm� ne� sgd�
intqm_k� hmbktcdr� sgd� etkk� bncdr*� _knmf�vhsg� bncd�
cdrbqhoshnmr-

Svn� bncdqr� sgdm� sdrsdc� sgd� eq_ldvnqj� nm� _�
rdkdbshnm� ne� c_s_*� _mc� _citrsdc� cdehmhshnmr� _mc�
bncdr*�sgqntfg�_m�hsdq_shud�oqnbdrr-�Nmbd�_�ehm_k�
bncd� eq_ld� v_r� cdsdqlhmdc*� sgd� svn� bncdqr�
bncdc� sgd� ehud� hmsdquhdvr-�Rnld� hmsdquhdv�c_s_�
vdqd�cntakd�bncdc�sn�cdsdqlhmd�hmsdq,q_sdq�qdkh,
_ahkhsx�_mc�rtoonqs�bnmrhrsdmbx�hm�sgd�bnchmf�oqn,
bdrr-� Hm� b_rdr� ne� chr_fqddldms*� sgd� bncdqr�
chrbtrrdc�chrbqdo_mbhdr�vhsg�d_bg�nsgdq�_mc�sgd�
k_qfdq�qdrd_qbg�sd_l�sn�cdsdqlhmd�ehm_k�bncdr-

Sn� dmrtqd� sgd� hmsdfq_shnm� ne� pt_khs_shud� _mc�
pt_mshs_shud� _m_kxrdr*� sgd� svn� bncdqr� oqnctbdc�
_m_kxshb� ldlnr� cnbtldmshmf� d_qkx� ehmchmfr-�
Sgdrd�ldlnr�vdqd�chrbtrrdc�ax�_kk�sd_l�ldl,
adqr�sn�hmenql�nmfnhmf�rdmrdl_jhmf�_mc�sqh_mft,
k_shnm�vhsg�pt_mshs_shud�_m_kxrhr�_ooqn_bgdr�_mc�
qdrtksr-�Vd�trdc�rbgnnk�chrsqhbs�cdrbqhoshud�hmenq,
l_shnm� _mc� chrsqhbs� cnbtldmsr� sn� bnmsdwst_khyd�
hmsdquhdv�c_s_-

Qdrtksr

SdWbgdq�RWkWqx�HmbqdWrdr�Tmcdq�LbBkdWqx�
REQr

Ehftqd�0�chrok_xr�odqbdms_fd�bg_mfdr� hm�chr,
sqhbsr&�ldch_m�sd_bgdq�r_k_qhdr�eqnl�oqd,�sn�onrs,
LbBkd_qx� qdenqlr-� Vd� bnlotsd� sgd� oqdqdenql�
a_rdkhmd� ax� _udq_fhmf�ldch_m� r_k_qhdr� adsvddm�
_b_cdlhb� xd_qr� 1/03“1/04� _mc� 1/06“1/07-�
Chrsqhbsr� u_qhdc� fqd_skx� hm� sgd� odqbdms_fdr� ne�
sgdrd�r_k_qx�bg_mfdr-�?ksgntfg�_�g_mcetk�ne�chr,
sqhbsr�dwodqhdmbdc�cdbkhmdr�hm�r_k_qhdr*�sgd�l_inq,
hsx�dwodqhdmbdc�hmbqd_rdr�adsvddm�/$�_mc�14$�
eqnl�oqd,�sn�onrs,LbBkd_qx*�_r�rgnvm�hm�Ehftqd�
0?-�?�rl_kk�mtladq�ne�chrsqhbsr�g_c�a_rd�r_k_qx�
hmbqd_rdr� _anud� 4/$-� Lnqdnudq*� chrsqhbsr� _krn�
u_qx�fqd_skx�hm�sgd�odqbdms_fdr�ne�r_k_qx�bg_mfdr�
ax�sd_bgdqr�dwodqhdmbd�kdudkr-�Ehftqd�0A�hmbktcdr�
r_k_qx�bg_mfdr�enq�d_qkx�b_qddq�_mc�itmhnq�sd_bg,
dqr�’/“6�xd_qr�ne�dwodqhdmbd(*�Ehftqd�0B�hmbktcdr�
r_k_qx� bg_mfdr� enq� lhc,b_qddq� sd_bgdqr� ’7“04�
xd_qr�ne�dwodqhdmbd(*�_mc�Ehftqd�0C�hmbktcdr�r_k,
_qx�bg_mfdr�enq� k_sd,b_qddq� sd_bgdqr�’05+�xd_qr�
ne� dwodqhdmbd(-� Sgdrd� sgqdd� l_or� hmchb_sd� sg_s�
rnld� chrsqhbsr&� r_k_qx� rbgdctkdr� lnudc� snv_qc�
adhmf� lnqd� eqnmskn_cdc*� vghkd� nsgdqr� lnudc�
snv_qc�adhmf�lnqd�a_bjkn_cdc-

Ehftqd�1�fq_ogr�sgd�r_k_qx�sqdmcr�ax�LbBkd_qx�
cnr_fd�sdqbhkdr-�Adenqd�sgd�qdenql*�sgdqd�v_r�khs,
skd� cheedqdmbd� hm� bdqshehb_sdc� a_rd� r_k_qx� _bqnrr�
cheedqdms�cnr_fd�fqntor*�bknrd�sn�o_q_kkdk�sqdmcr-�
Sghr� hr� mns� rtqoqhrhmf� adb_trd� sgd�l_inq� cqhudq�
enq� r_k_qx� cheedqdmbdr� hm� oqd,LbBkd_qx� dq_�
rsdlldc� eqnl�SQH� o_x� rtookdldmsdc� ax� knb_k�
qdudmtd*�mns�eqnl�sgd�rs_sd,etmcdc�rntqbd-�?esdq�
sgd� qdenql*� bdqshehb_sdc� a_rd� sd_bgdq� r_k_qx�
hmbqd_rdc�cq_l_shb_kkx�enq�_kk�V?�chrsqhbsr�ax�_m�
_udq_fd�ne�qntfgkx�!07*///-�Ld_mvghkd*�sgd�chr,
o_qhshdr�_bqnrr�chrsqhbsr�fqdv�_r�vdkk*�o_qshbtk_qkx�
adsvddm�sgd�ghfg,cnr_fd�chrsqhbsr�’Sdqbhkd�2(�_mc�
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sgd�knv,cnr_fd�chrsqhbsr�’Sdqbhkd�0(-�Sgd�nardqudc�
cheedqdmbd� adsvddm�Sdqbhkd� 2� _mc�Sdqbhkd� 0� chr,
sqhbsr�_lntmsr�sn�_ants�!7*///�hm�1/1/-

?ksgntfg� sgd� u_qh_shnm� hm� sd_bgdqr&� _udq_fd�
sns_k� ehm_k� r_k_qhdr� hmbqd_rdc� hm� sgd� onrsqdenql�
odqhnc�_r�vdkk*�sgd bg_mfd�hr�kdrr�sg_m�bdqshehb_sdc�
a_rd� r_k_qhdr-� ?kk� sd_bgdqr&� sns_k� ehm_k� r_k_qhdr�
hmbqd_rdc*� ats�Sdqbhkd� 2� chrsqhbsr� hmbqd_rdc� sn� _�
fqd_sdq�dwsdms�sg_m�sgd�knvdq�cnr_fd�chrsqhbsr�hm�
Sdqbhkd�0�’ax�_ants�!0*6//�_r�rgnvm�hm�Ehftqd�1(-�
Adb_trd� sd_bgdqr� hm� _kk� chrsqhbsr� qdbdhudc� lnqd�
o_x�hm�sdqlr�ne ansg�a_rd�_mc�sns_k�ehm_k�r_k_qhdr*�
vd�vhkk� qdkx�nm�ntq� HSR�lncdkr� sn�bg_q_bsdqhyd�
_arnktsd�r_k_qx�hmbqd_rdr�_bqnrr�sgd�sdqbhkdr-�Ntq�
BHSR� lncdkr*� nm� sgd� bnmsq_qx*� vhkk� qdekdbs� sgd�
dwsdms� sn� vghbg� sgdqd� _qd� qdk_shud� hmbqd_rdr� hm�
r_k_qhdr� adsvddm� sgd� sdqbhkdr-� S_jdm� snfdsgdq*�
Ehftqdr�0�_mc�1�oqnuhcd�cdrbqhoshud�duhcdmbd�sg_s�

vd�b_m�trd�sgd�otmbst_shnm�hm�1/07“1/08�sn�drsh,
l_sd� LbBkd_qx� hmektdmbdr� nm� sd_bgdq� r_k_qx�
hmbqd_rdr� _mc� rtardptdmskx� nm� sd_bgdq� qdbqths,
ldms�_mc�stqmnudq-

Mdws*�sn�enql_khyd�sgd�o_ssdqmr�_bqnrr�cnr_fd�
sdqbhkdr*�vd�_cc�sqd_sldms�deedbs�kd_cr�_mc�k_fr�sn�
Dpt_shnm�1�sn�drshl_sd�sgd�cheedqdmbdr�hm�r_k_qhdr�
enq�Sdqbhkdr� 1� _mc�2*� qdk_shud� sn�Sdqbhkd� 0 hm� _m�
dudms�rstcx�eq_ldvnqj-�Vd�rgnv�sgdrd�qdrtksr�hm�
Ehftqd�2-�Sgd�fq_ogr�hm�O_mdkr�?�_mc�A�oqnuhcd�
bnlodkkhmf�duhcdmbd�sg_s�sgd�cheedqdmsh_k�bg_mfdr�
hm�bdqshehb_sdc�a_rd�r_k_qx�_bqnrr�sdqbhkdr�_qd�lnqd�
oqnmntmbdc´o_qshbtk_qkx� sgd� bnmsq_rs� adsvddm�
Sdqbhkd�2�_mc�Sdqbhkd�0´sg_m�sgnrd hm�sns_k�ehm_k�
r_k_qhdr-

S_akd� 1� rtll_qhydr� sgd� drshl_sdr� ne� bdqsheh,
b_sdc�a_rd�_mc�sns_k�ehm_k�r_k_qx�bg_mfdr�hmctbdc�
ax�LbBkd_qx�REQr�rdo_q_sdkx�hm�1/08�_mc�1/1/-�

EHFTQD�0-� OdqbdmsWfd�bgWmfd�hm�ldchWm�chrsqhbs�bdqshehbWsdc�aWrd�rWkWqhdr�Wesdq�LbBkdWqx�qdenqlr-
Mnsd-�R_k_qx�c_s_�bnld�eqnl�sgd�R,164�odqrnmmdk�c_s_�ehkdr�_mc�_qd�hm�qd_k�1/06“1/07�_b_cdlhb�xd_q�cnkk_qr�’BOH�_citrsdc(-�Sgd�
c_s_�hmbktcd�sd_bgdqr�vhsg�/-4�sn�0-0�etkk,shld�dpthu_kdmsr�’ESDr(�vgnrd�oqhl_qx�ctshdr�vdqd�bk_rrqnnl�hmrsqtbshnm-�Oqdqdenql�
r_k_qhdr�_qd�_m�_udq_fd�ne�chrsqhbs,kdudk�ldch_m�a_rd�r_k_qhdr�adsvddm�1/03“1/04�_mc�1/06“1/07:�onrs,LbBkd_qx�r_k_qhdr�_qd�
chrsqhbs�ldch_m�r_k_qhdr�hm�1/07“1/08-�zMn�c_s_–�rhfmhehdr�sg_s�sgd�chrsqhbs�g_c�mn�bk_rrqnnl�sd_bgdqr�vhsg�sd_bghmf�dwodqhdmbd�
hm�sgd�rodbhehdc�q_mfd�enq�dhsgdq�nq�ansg�sgd�3,xd_q�oqd,LbBkd_qx�odqhnc�_mc�_b_cdlhb�xd_q�1/07“1/08�hm�sgd�onrs,LbBkd_qx�
odqhnc-�’?(�?kk�sd_bgdqr-�’A(�D_qkx,b_qddq�_mc�itmhnq�sd_bgdqr9�/�sn�6�xd_qr�ne�dwodqhdmbd-�’B(�Lhc,b_qddq�sd_bgdqr9�7�sn�04�xd_qr�
ne�dwodqhdmbd-�’C(�K_sd,b_qddq�sd_bgdqr9�05�xd_qr�ne�dwodqhdmbd�_mc�_anud-�BOH�=�Bnmrtldq�Oqhbd�Hmcdw-
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EHFTQD�1-� ?udqWfd�ne�ldchWm�chrsqhbs�rWkWqhdr�ax�LbBkdWqx�qdenql�cnrWfd�sdqbhkdr-
Mnsd-�R_k_qhdr�_qd� hm� sgntr_mcr�ne� qd_k�1/06“1/07�_b_cdlhb�xd_q�cnkk_qr� ’BOH�_citrsdc(�_mc�_qd�vdhfgsdc�ax� sgd�_udq_fd�ne�
sd_bgdq�bdqshehb_sdc�ESD�adsvddm�_b_cdlhb�xd_qr�1/03“1/04�_mc�1/06“1/07-�Sghr�ehftqd�hmbktcdr�r_k_qhdr�ne�sd_bgdqr�vhsg�/-4�
sn�0-0�ESD-�Sgd�xd_q�nm�sgd�gnqhynms_k�_whr�hmbktcdr�sgd�roqhmf�ne�sgd�rbgnnk�xd_q�’d-f-*�1/03“1/04�rbgnnk�xd_q�hr�qdoqdrdmsdc�_r�
1/04�hm�sgd�ehftqd(-�Sgd�sdqbhkdr�_qd�a_rdc�nm�sgd�cnr_fd�ld_rtqd´m_ldkx�sgd�oqdchbsdc�rs_sd�rbgnnk�etmchmf�a_rdc�nm�sgd�mdv�
rs_sd�oqnsnsxohb_k�rbgnnk�etmchmf�enqltk_�tmcdq�LbBkd_qx*�vghbg�hmbktcdr�sgd�1/08�qdfhnm_khy_shnm�e_bsnq-�’?(�Bdqshehb_sdc�A_rd�
R_k_qhdr-�’A(�Sns_k�Ehm_k�R_k_qhdr-�BOH�=�Bnmrtldq�Oqhbd�Hmcdw:�ESD�=�etkk,shld�dpthu_kdms-
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9

A

EHFTQD�2-� EnqlWkhydc�cheedqdmbd�hm�rWkWqhdr�Wbqnrr�sdqbhkdr�aWrdc�nm�rhltkWsdc�hmrsqtldmsr�hm�Wm�dudms�rstcx�
eqWldvnqj-
Mnsd-�Rnkhc�bnmmdbsdc�cnsr�qdekdbs�sgd�bndeehbhdmsr�nm�_b_cdlhb�xd_q�hmchb_snq�u_qh_akdr�hmsdq_bsdc�vhsg�_m�hmchb_snq�enq�cnr_fd�hm�
dhsgdq�Sdqbhkd�1�’kdes(�nq�Sdqbhkd�2�’qhfgs(:�sgd�qdedqdmbd�fqnto�hr�Sdqbhkd�0-�Bnmehcdmbd�hmsdqu_kr�qdekdbs�84$�bnmehcdmbd�hmsdqu_kr�
sg_s�_qd�qnatrs�sn�gdsdqnrjdc_rshbhsx�_mc�_qd�bktrsdqdc�_s�sgd�chrsqhbs�kdudk-�O_mdk�?�rgnvr�sgd�dudms�rstcx�enq�a_rd�r_k_qhdr�_mc�
O_mdk�A�rgnvr�sgd�dudms�rstcx�enq�sns_k�ehm_k�r_k_qhdr-�R_k_qhdr�_qd�hm�sgntr_mcr�ne�qd_k�1/06“1/07�_b_cdlhb�xd_q�cnkk_qr�’BOH�
_citrsdc(- ?kk lncdkr hmbktcd chrsqhbs ehwdc deedbsr* xd_q ehwdc deedbsr* _mc sdqbhkd khmd_q sqdmcr- Qdfqdrrhnmr vdhfgsdc ax sgd _udq,
_fd�ne�sd_bgdq�bdqshehb_sdc�etkk,shld�dpthu_kdms�adsvddm�1/03“1/04�_mc�1/06“1/07-�BOH�=�Bnmrtldq�Oqhbd�Hmcdw-
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Enq� d_bg� r_k_qx� sxod*�vd� hmbktcd� sgqdd�lncdkr-�
Sgd� ehqrs� svn� bnktlmr� hmbktcd� drshl_sdr� eqnl�
HSR�lncdkr-�Bnktlm�1*�qdekdbsr�ntq�oqdedqqdc�HSR�
lncdk� eqnl� Dpt_shnm� 0*� vghbg� hmbktcdr� shld,
u_qxhmf�rs_sd�bnmsqnk�u_qh_akdr-�Vd�oqnuhcd�HSR�
lncdk� drshl_sdr�vhsgnts� sgdrd� rs_sd� bnmsqnkr� hm�
Bnktlm� 0� enq� qdedqdmbd-�Bnktlm� 2� rgnvr� drsh,
l_sdr� eqnl� sgd� BHSR� lncdk� eqnl� Dpt_shnm� 1*�
vgdqd�Sdqbhkd�0�hr�sgd�bnlo_qhrnm�fqnto-

?bqnrr�sgdrd�lncdk�rodbhehb_shnmr*�vd�bnm,
rhrsdmskx� nardqud� sg_s� sd_bgdq� r_k_qhdr� hmbqd_,�
rdc� rhfmhehb_mskx� rs_sdvhcd� eqnl�oqd,� sn� onrs,
LbBkd_qx-�Lnqdnudq*�vd�bnmrhrsdmskx�nardqud�
k_qfdq�hmbqd_rdr�hm�a_rd�r_k_qhdr�hm�chrsqhbsr�sg_s�
_qd� oqdchbsdc� sn� qdbdhud� ghfgdq� rs_sd,etmcdc�
odqrnmmdk� r_k_qx� etmcr´m_ldkx� hm� Sdqbhkd� 2�
_mc� 1� chrsqhbsr*� qdk_shud� sn� Sdqbhkd� 0� chrsqhbsr-�
Enq�dw_lokd*� _r� rgnvm� hm�Bnktlm�1*� sgd HSR�

S?AKD�1

DrshlWsdr�ne�RWkWqx�HmbqdWrd�Trhmf�RhltkWsdc�Hmrsqtldmsr

Deedbs�drshl_sdr

A_rd�r_k_qx�’0///r( Sns_k�ehm_k�r_k_qx�’0///r(

HSR HSR BHSR HSR HSR BHSR

Sdqbhkd�0
� Oqdsqdmc —/-/01 —/-14 0-03))) /-08 �

’/-/82( ’/-60( ’/-05( ’1-00( �
� LbBkd_qx�deedbs�1/08 0/-0))) 0/-7))) 4-17))) 4-88))) �

’/-77( ’/-8/( ’/-55( ’/-56( �
� LbBkd_qx�deedbs�1/1/ 01-7))) 02-3))) 5-18))) 7-/3) �

’0-03( ’0-28( ’/-44( ’2-1/( �
Sdqbhkd�1
� Oqdsqdmc —/-03 —/-27 —/-01 0-80))) /-84 /-65)))

’/-/86( ’/-60( ’/-03( ’/-03( ’1-00( ’/-11(
� LbBkd_qx�deedbs�1/08 03-4))) 04-0))) 3-26))) 4-43))) 5-15))) /-16

’/-50( ’/-51( ’0-/7( ’/-30( ’/-33( ’/-66(
LbBkd_qx deedbs 1/1/ 06-1))) 06-8))) 3-33)) 4-22))) 6-/7) —/-85

’/-61( ’0-12( ’0-24( ’/-48( ’2-2/( ’/-70(
Sdqbhkd�2
� Oqdsqdmc /-04) —/-/8/ /-05 0-52))) /-56 /-38

’/-/58( ’/-60( ’/-01( ’/-08( ’1-1/( ’/-14(
� LbBkd_qx�deedbs�1/08 07-6))) 08-2))) 7-43))) 5-66))) 6-38))) 0-4/

’0-11( ’0-13( ’0-40( ’/-64( ’/-60( ’0-//(
� LbBkd_qx�deedbs�1/1/ 10-4))) 11-0))) 7-61))) 6-31))) 8-06) 0-02

’0-1/( ’0-56( ’0-55( ’/-81( ’2-43( ’0-/6(
Sdqbhkd�khmd_q�sqdmcr W W W W W W
Rs_sd�bnmsqnkr W W �
Xd_q�ehwdc�deedbsr W W
Chrsqhbs,ax,Xd_q�nar- 0*66/ 0*66/ 0*66/ 0*66/ 0*66/ 0*66/
Mtladq�ne�chrsqhbsr 184 184 184 184 184 184
?ci-�Q1 -78 -78 -78 -82 -82 -82

Mnsd-�Cdodmcdms�u_qh_akdr�_qd�chrsqhbs�ldch_m�bdqshehb_sdc�a_rd�nq�sns_k�ehm_k�r_k_qhdr�hm�sgntr_mcr�ne�qd_k�1/06“1/07�_b_cdlhb�
xd_q�cnkk_qr�’BOH�_citrsdc(-�Sgd�xd_q�qdoqdrdmsr�sgd�roqhmf�ne�sgd�rbgnnk�xd_q�’d-f-*�1/07“1/08�rbgnnk�xd_q�hr�qdoqdrdmsdc�_r�
1/08(-�?kk�lncdkr�hmbktcd�chrsqhbs�ehwdc�deedbsr-�Shld,u_qxhmf�rs_sd�bnmsqnkr�_qd�sgd�knf_qhsgl�ne�mnm,J“01�rs_sd�fnudqmldms�
dwodmchstqdr�odq�b_ohs_�_mc�sgd�tmdloknxldms�q_sd-�Ntq�oqdedqqdc�HSR�lncdk�hmbktcdr�sgdrd�shld,u_qxhmf�rs_sd,kdudk�bnmsqnkr-�
Qnatrs�rs_mc_qc�dqqnqr�hm�o_qdmsgdrdr�_qd�bktrsdqdc�ax�chrsqhbs-�Qdfqdrrhnmr�_qd�vdhfgsdc�ax�sgd�_udq_fd�ne�sd_bgdq�bdqshehb_sdc�
ESD�adsvddm�_b_cdlhb�xd_qr�1/03“1/04�_mc�1/06“1/07-�HSR�=�hmsdqqtosdc�shld�rdqhdr:�BHSR�=�bnlo_q_shud�hmsdqqtosdc�shld�
rdqhdr:�ESD�=�etkk,shld�dpthu_kdms:�BOH�=�Bnmrtldq�Oqhbd�Hmcdw-
)o���-/4-�))o���-/0-�)))o���-//0-
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qdrtksr�enq�a_rd�r_k_qhdr�rgnv�drshl_sdc�r_k_qx�
hmbqd_rdr� ne� !0/*7//� hm� 1/08� _mc� !02*3//� hm�
1/1/� enq� Sdqbhkd� 0� chrsqhbsr-� Hm� Sdqbhkd� 1� chr,
sqhbsr*� vd nardqudc _m� _udq_fd� ne� !04*0//� hm�
1/08� _mc� !06*8//� hm� 1/1/*� _mc� dudm� k_qfdq�
hmbqd_rdr�ne�_m�_udq_fd�ne�!08*2//�hm�1/08 _mc�
!11*0//� hm� 1/1/� hm�Sdqbhkd� 2� chrsqhbsr-� Hm� sgd�
BHSR� qdrtksr� bnktlm*� Sdqbhkd� 1� chrsqhbsr� _qd�
drshl_sdc� sn� hmbqd_rd� _udq_fd� a_rd� r_k_qx� ax�
_cchshnm_k�!3*26/�hm�1/08�_mc�!3*33/�hm�1/1/:�
_mc�Sdqbhkd�2�chrsqhbsr�_qd�drshl_sdc�sn�hmbqd_rd�
_cchshnm_k�!7*43/�hm�1/08�_mc�!7*61/�hm�1/1/*�
qdk_shud�sn�Sdqbhkd�0�chrsqhbsr-

Vd�nardqud�_�rl_kkdq�_lntms�ne�hmbqd_rd�enq�
sd_bgdqr&�sns_k�ehm_k�r_k_qhdr�enq�_kk�chrsqhbsr*�vghbg�
hmbktcd� _kk� qdudmtd� rntqbdr� sg_s� bnmsqhatsd� sn�
sd_bgdq�o_x-�Sgdqd�hr�khsskd�cheedqdmbd�hm�sns_k�r_k,
_qx� bg_mfdr� bnlo_qhmf� Sdqbhkdr� 1� _mc� 2� vhsg�
Sdqbhkd� 0� chrsqhbsr-�Vd� mnsd� sg_s� sgd�V?� rs_sd&r�
oqnsnsxohb_k� rbgnnk� etmchmf� enqltk_� _qshbtk_sdr�
sgd� qtkdr� ax�vghbg� sgd� rs_sd� _kknb_sdr� ehm_mbh_k�
qdrntqbdr�sn�rbgnnk�chrsqhbsr:�hs�hr�mns�_�rodmchmf�
ok_m�enq�rbgnnk�chrsqhbsr-�Sgdrd�drshl_sdr�rtffdrs�
sg_s� chrsqhbsr� nm� _udq_fd� trdc� sgd� LbBkd_qx,
hmctbdc� etmcr� sn� rtars_msh_kkx� hmbqd_rd� bdqsheh,
b_sdc�sd_bgdq�r_k_qhdr-

Vd�sgdm�etqsgdq�dw_lhmd�vgdsgdq�sgd�a_rd�r_k,
_qx�atlor�_qd�tmhenql� enq� sd_bgdqr�_s�cheedqdms�
b_qddq� rs_fdr-� Vd� drshl_sdc� Dpt_shnm� 1� rdo_,
q_sdkx� enq� sd_bgdqr� hm d_bg�ne� sgd�rdudm fqntor9�
d_qkx,b_qddq�’/—2�xd_qr�ne�sd_bghmf�dwodqhdmbd(*�
itmhnq�’3—6(*�lhc,b_qddq�0�’7—00(*�lhc,b_qddq�1�
’01—04(*� k_sd,b_qddq� 0� ’05—08(*� k_sd,b_qddq� 1�
’1/—11(*�_mc�k_sd,b_qddq�2�’12�_mc�lnqd(-�S_akd�2�
rgnvr� sg_s� r_k_qx� hmbqd_rdr� chroqnonqshnm_sdkx�
admdehsdc�lnqd�dwodqhdmbdc�sd_bgdqr*�drodbh_kkx�
sgnrd�vhsg�fqd_sdq� sg_m�05�xd_qr�ne� dwodqhdmbd-�
O_qshbtk_qkx�vgdm�bnlo_qhmf�sgd�drshl_sdc�_cch,
shnm_k� a_rd� r_k_qx� hmbqd_rdr� adsvddm� Sdqbhkd� 0�
_mc�Sdqbhkd�2�chrsqhbsr*�vd�nardqudc�sg_s�sgd�drsh,
l_sdc� LbBkd_qx� hmbqd_rdr� hm� _udq_fd� ldch_m�
a_rd� r_k_qhdr� enq� k_sd,b_qddq� sd_bgdqr� vhsg� 05�
xd_qr�nq�lnqd�xd_qr�ne�dwodqhdmbdr� hm�Sdqbhkd�2�
chrsqhbsr�’_ants�!01*///+�enq�a_rd�r_k_qhdr(�vdqd�
svhbd�_r�ltbg�_r�sgd�hmbqd_rdr�enq�d_qkx�sd_bgdqr�
vhsg�2�xd_qr�nq�edvdq�xd_qr�ne�dwodqhdmbd�’_ants�
!4*///� enq� a_rd� r_k_qhdr(-� Vd� Nardqud� rhlhk_q�
o_ssdqmr�enq�sns_k�ehm_k�r_k_qhdr´m_ldkx�_�k_qfdq�
hmbqd_rd�enq�sgd�lnrs�rdmhnq�sd_bgdqr�hm�Sdqbhkd�2�
chrsqhbsr�ats�vhsg�_�kdrr�cdfqdd�ne�q_hrdr�’rtbg�_r�
_cchshnm_k� !2*///(- Hm� nsgdq� vnqcr*� Sdqbhkd� 2�

chrsqhbsr�sg_s�vdqd�oqdchbsdc�sn�qdbdhud�lnqd�rs_sd�
odqrnmmdk� etmcr� lnudc� snv_qc� g_uhmf� lnqd�
a_bjkn_cdc�r_k_qx�rbgdctkdr-

BgWmfdr�hm�SdWbgdq�Stqmnudq�Tmcdq�LbBkdWqx�
REQr

Sn� dw_lhmd� LbBkd_qx� qdenqlr� nm� sd_bgdq�
k_anq� l_qjdsr*� vd� rs_qs� ax� dw_lhmhmf� sd_bgdq�
stqmnudq-�Vd�cdehmd�stqmnudq�_r�dhsgdq�lnuhmf�sn�
_mnsgdq�chrsqhbs�hm�sgd�mdws�xd_q�’h-d-*�lnahkhsx(�nq�
kd_uhmf�sgd�sd_bghmf�vnqjenqbd�nq�sgd�V?�otakhb�
rbgnnk� rxrsdl� _ksnfdsgdq hm� sgd� mdws� xd_q� ’h-d-*�
kd_uhmf(-�Adb_trd� sd_bgdq� stqmnudq� hr�bnlotsdc�
adsvddm�xd_qr�s�_mc�s�+�0*�vd�qdonqs�qdrtksr�nmkx�
enq�sgd�1/07“1/08�rbgnnk�xd_q-�Hmbktchmf�rtard,
ptdms� xd_qr� vntkc� bnmek_sd� stqmnudq� deedbsr�
hmctbdc�ax�LbBkd_qx�vhsg� sgd�BNUHC,08�o_m,
cdlhb*� rn� vd� qdrsqhbs� ntq� r_lokd� _bbnqchmfkx-�
?mc�dudm�sgntfg�ntq�ld_rtqd�ne�stqmnudq�enq�sgd�
1/07“1/08�rbgnnk�xd_q�mdbdrr_qhkx�qdpthqdr�c_s_�
eqnl�sgd�1/08�sn�1/1/�rbgnnk�xd_q* vd�mnsd�sg_s�
sd_bgdq� c_s_� _qd bnkkdbsdc� hm� sgd� e_kk´rodbheh,
b_kkx*�hm�Nbsnadq´ne�sgd�_b_cdlhb�xd_q:�bnmrd,
ptdmskx*� ntq� qdrtksr� _qd� mns� _eedbsdc� ax� sgd�
o_mcdlhb-

Hm� S_akd� 3*� vd� oqdrdms� ntq� stqmnudq� qdrtksr-�
Vd�oqhuhkdfd� sgd� HSR�lncdk� qdrtksr� adb_trd� _kk�
sdqbhkdr� dwodqhdmbdc� rhlhk_q� odqbdms_fd� onhms�
cdbkhmdr�hm�sgd�ehqrs�xd_q�ne�sgd�LbBkd_qx�qdenqlr-�
Vd�rgnv�sgd�qdkdu_ms�cdbkhmhmf�odqbdms_fd�stqm,
nudq�sqdmcr�ax�cnr_fd�sdqbhkd�hm�Nmkhmd�?oodmchw�
Ehftqd�?1� hm� sgd� nmkhmd� udqrhnm ne� sgd� intqm_k-�
Sgd�BHSR�lncdk�drshl_sdr�_krn�rgnv�sg_s�sgdqd�
_qd� mns� _mx� rtars_mshud� cheedqdmbdr� adsvddm�
Sdqbhkdr�1�_mc�2�qdk_shud�sn Sdqbhkd�0-�Ax�s_jhmf�
cheedqdmbdr� _lnmf� sgd� onhms� drshl_sdr� adsvddm�
’_(�Sdqbhkdr�1�_mc�0�_mc�’a(�Sdqbhkdr�2�_mc�0�eqnl�
sgd� HSR�lncdkr�oqnctbd�rhlhk_q�onhms�drshl_sdr�
sn�sgd�BHSR�drshl_sdr�hm�Nmkhmd�?oodmchw�S_akd�
?1�hm�sgd�nmkhmd�udqrhnm�ne�sgd�intqm_k-

?r�rgnvm�hm�S_akd�3*�vd�nardqud�_�rhfmhehb_ms�
qdctbshnm� hm� sd_bgdq� stqmnudq� ctqhmf� sgd� ehqrs�
LbBkd_qx�xd_q*�drodbh_kkx�_lnmf�sd_bgdqr�vhsg�7�
nq�lnqd�xd_qr�ne�sd_bghmf�dwodqhdmbd-�Enq�dw_l,
okd*�hm�Sdqbhkd�0�chrsqhbsr*�sgdqd�v_r�_�qdctbshnm�ne�
_ants�3-66�odqbdms_fd�onhmsr�hm�stqmnudq�q_sd�enq�
sd_bgdqr� vhsg� lnqd� sg_m� 12� xd_qr� ne� sd_bghmf�
dwodqhdmbd-�Lnqdnudq*�hm�Sdqbhkd�1�_mc�2�chrsqhbsr*�
sgdqd� v_r� _� qdctbshnm� ne� _ants� 2� odqbdms_fd�
onhmsr� enq� lhc,b_qddq� _mc� k_sd,b_qddq� sd_bgdqr-�
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Sghr�ehmchmf� hr�bnmrhrsdms�vhsg�_mdbcns_k nardq,
u_shnmr� eqnl� ntq� b_rd� rstcx� hmsdquhdvddr*� vgn�
mnsdc� sg_s� r_k_qx� hmbqd_rdr� enq� rdmhnq� sd_bgdqr�
cdk_xdc�sgdhq�qdshqdldmsr�nq�chrhmbdmshuhydc�sgdl�
eqnl� rddj� _clhmhrsq_shud� onrhshnmr-� Hm� bnmsq_rs*�
vd� chc� mns� nardqud� LbBkd_qx,hmctbdc� r_k_qx�
deedbsr�nm�sgd�stqmnudq�ne�d_qkx,b_qddq�_mc�itmhnq�
sd_bgdqr*� khjdkx� adb_trd� bnlo_qdc� vhsg� rdmhnq�
sd_bgdqr*�d_qkx,b_qddq�_mc�itmhnq�sd_bgdqr�g_c�sgd�
kd_rs�_lntms�ne�r_k_qx�hmbqd_rdr-

Vd� sgdm� cdbnlonrd� cheedqdms� sxodr� ne� stqm,
nudq-� S_akd� 4� hmbktcdr� sgd� HSR� drshl_sdr� ne�
bg_mfdr� hm� sgd� odqbdms_fd� ne� sd_bgdqr� vgn�
lnudc�sn�_mnsgdq�chrsqhbs ats�qdl_hmdc _r�bdqsheh,
b_sdc�sd_bgdqr�hm�sgd�mdws�rbgnnk�xd_q*�vghbg�vd�
qdedq� sn� _r� lnahkhsx:� BHSR� qdrtksr� _ood_q� hm�
Nmkhmd�?oodmchw�S_akd�?2�hm�sgd�nmkhmd�udqrhnm�
ne� sgd� intqm_k-�?f_hm*� vd� nardqud� _ bnmrhrsdms�
_mc� r_khdms�o_ssdqm�ne� qdctbdc� sd_bgdq�lnahkhsx�
nm� _udq_fd� _mc� drodbh_kkx� _lnmf� lhc,b_qddq�

S?AKD�2

Deedbsr�nm�AWrd�SdWbgdq�RWkWqx�HmbqdWrdr�enq�Cheedqdms�Dwodqhdmbd�Kdudkr

Deedbs�drshl_sdr ?kk
D_qkx�
’/“2(

Itmhnq�
’3“6(

Lhc�0�
’7“00(

Lhc�1�
’01“04(

K_sd�0�
’05“08(

K_sd�1�
’1/“11(

K_sd�2�
’12+(

O_mdk�?
� A_rd�r_k_qx�’0///r(
� � Sdqbhkd�1
� � � LbBkd_qx�deedbs�1/08 3-26))) 1-84))) 2-15))) 2-20))) 3-25))) 4-37))) 4-/1))) 3-75)))

’0-/7( ’/-57( ’/-75( ’/-88( ’0-1/( ’0-16( ’0-16( ’0-06(
� � � LbBkd_qx�deedbs�1/1/ 3-33)) 1-21) 1-82)) 1-0/ 2-20) 3-08)) 2-7/)) 2-61))

’0-24( ’/-82( ’0-//( ’0-/6( ’0-30( ’0-3/( ’0-21( ’0-06(
� � Sdqbhkd�2
� � � LbBkd_qx�deedbs�1/08 7-43))) 4-44))) 6-73))) 6-63))) 8-51))) 0/-6))) 0/-8))) 0/-8)))

’0-40( ’0-/5( ’0-01( ’0-20( ’0-61( ’0-6/( ’0-62( ’0-50(
� � � LbBkd_qx�deedbs�1/1/ 7-61))) 3-81))) 6-86))) 6-7/))) 8-61))) 00-5))) 01-1))) 01-4)))

’0-55( ’0-17( ’0-14( ’0-26( ’0-55( ’0-63( ’0-73( ’0-36(
O_mdk�A
� Sns_k�ehm_k�r_k_qx�’0///r(
� � Sdqbhkd�1
� � � LbBkd_qx�deedbs�1/08 /-16 /-//28 —/-13 /-/48 /-50 0-46) /-60 /-47

’/-66( ’/-48( ’/-56( ’/-71( ’/-85( ’/-67( ’/-65( ’/-76(
� � � LbBkd_qx�deedbs�1/1/ —/-85 —/-58 —0-/8 —0-22 —/-45 —/-04 —0-04 —0-5/

’/-70( ’/-77( ’/-68( ’/-86( ’0-/8( ’/-78( ’/-75( ’/-82(
� � Sdqbhkd�2
� � � LbBkd_qx�deedbs�1/08 0-4/ /-68 1-00) 0-44 1-52) 2-/7)) 2-33)) 2-48)))

’0-//( ’/-74( ’/-84( ’0-/4( ’0-05( ’0-01( ’0-03( ’0-/6(
� � � LbBkd_qx�deedbs�1/1/ 0-02 /-2/ 1-// /-65 1-58) 1-75) 2-04)) 2-10))

’0-/6( ’0-/7( ’0-/6( ’0-03( ’0-20( ’0-0/( ’0-04( ’0-/2(
Sdqbhkd�khmd_q�sqdmcr W W W W W W W W
Xd_q�ehwdc�deedbsr W W W W W W W W
Chrsqhbs,ax,Xd_q�nar- 0*66/ 0*5/6 0*48/ 0*5/8 0*5/2 0*472 0*416 0*546
Mtladq�ne�chrsqhbsr 184 168 171 172 171 17/ 158 170
Sdqbhkd�0�chrsqhbsr 88 87 87 88 86 86 85 88
Sdqbhkd�1�chrsqhbsr 87 87 85 84 85 86 83 86
Sdqbhkd�2�chrsqhbsr 87 72 77 78 78 75 68 74

Mnsd-�Cdodmcdms�u_qh_akdr�_qd�chrsqhbs�ldch_m�bdqshehb_sdc�a_rd�r_k_qhdr�hm�sgntr_mcr�ne�qd_k�1/06“1/07�_b_cdlhb�xd_q�cnkk_qr�’BOH�_citrsdc(�ax�
dwodqhdmbd�ahm-�Sgd�xd_q�qdoqdrdmsr�sgd�roqhmf�ne�sgd�rbgnnk�xd_q�’d-f-*�1/07“1/08�rbgnnk�xd_q�hr�qdoqdrdmsdc�_r�1/08(-�?kk�rodbhehb_shnmr�_qd�bnl,
o_q_shud�hmsdqqtosdc�shld�rdqhdr�lncdkr�_mc�hmbktcd�chrsqhbs�ehwdc�deedbsr-�Qnatrs�rs_mc_qc�dqqnqr�hm�o_qdmsgdrdr�_qd�bktrsdqdc�ax�chrsqhbs-�Qdfqdrrhnmr�
_qd�vdhfgsdc ax�sgd�_udq_fd�ne�sd_bgdq�bdqshehb_sdc�etkk,shld�dpthu_kdms�hm�d_bg�dwodqhdmbd�ahm�adsvddm�_b_cdlhb�xd_qr�1/03“1/04 _mc�1/06“1/07-�
BOH�=�Bnmrtldq�Oqhbd�Hmcdw-
)o���-/4-�))o���-/0-�)))o���-//0-
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sd_bgdqr-�Mdws*�S_akd�5�hmbktcdr HSR�drshl_sdr�ne�
sgd�bg_mfdr�hm�sd_bgdq�kd_udqr vgn�dhsgdq�kdes�sgd�
sd_bghmf�vnqjenqbd�nq�kdes�sgd�V?�otakhb�rbgnnk�
rxrsdl�_ksnfdsgdq�hm�sgd�mdws�rbgnnk�xd_q:�BHSR�
qdrtksr�_ood_q� hm�Nmkhmd�?oodmchw�S_akd�?3� hm�
sgd� nmkhmd� udqrhnm� ne� sgd� intqm_k-� Nm� _udq_fd*�
_bqnrr�_kk� sd_bgdqr�’rdd�Bnktlm�0(*�vd�nardqud�
k_qfdkx� mtkk�LbBkd_qx� deedbsr� _lnmf Sdqbhkd� 0�
_mc�Sdqbhkd�1�chrsqhbsr-�Sd_bgdqr�hm�Sdqbhkd�2�chr,
sqhbsr*�gnvdudq*�qdctbdc�sgdhq�khjdkhgnnc�ne�kd_u,
hmf�sgd�sd_bghmf�oqnedrrhnm�nq�V?�otakhb�rbgnnk�
rxrsdl�hm�1/07“1/08�ax�_ants�0-06�odqbdms_fd�
onhmsr-�Knnjhmf� _s� drshl_sdr� _bqnrr� sgd� dwodqh,
dmbd�oqnehkd*�vd�nmbd�_f_hm�nardqud�_�rhfmhehb_ms�
qdctbshnm�ne�kd_uhmf�q_sd�enq�k_sd,b_qddq�sd_bgdqr�
vhsg� 12+ xd_qr� ne� dwodqhdmbd-� Bnlahmhmf�
S_akdr�4�_mc�5�snfdsgdq*�LbBkd_qx�REQr�_qd�drsh,
l_sdc�sn�g_ud�rtars_mshud�deedbsr�nm�lhc,b_qddq�
sd_bgdqr&� sq_mredqr� adsvddm� chrsqhbsr� _mc� k_sd,
b_qddq�sd_bgdqr&�khjdkhgnnc�ne�kd_uhmf�sgd�oqnedr,
rhnm�nq�sgd�rbgnnk�rxrsdl-

BgWmfdr�hm�SdWbgdq�Fhqhmf�Tmcdq�LbBkdWqx�
REQr

Vd�mdws�dw_lhmd�bg_mfdr�hm�sd_bgdq�ghqhmf-�Vd�
cdehmd�chrsqhbs,kdudk�mdv�ghqdr�_r�sd_bgdqr�vgn�vdqd�
dloknxdc�hm�_ cheedqdms�chrsqhbs�hm�sgd�oqduhntr�xd_q�
nq�sd_bgdqr�vgn�g_ud�kdrr�sg_m�0�xd_q�ne�dwodqhdmbd�
_mc�_qd�mdv� sn� sgd�oqnedrrhnm� hm� sgd�btqqdms�xd_q-�
Tmkhjd�sd_bgdq�stqmnudq*�vd�bnlotsd�sgd�odqbdms_fd�
ne�mdv�ghqdr�qdsqnrodbshudkx*�adsvddm�xd_qr�s�—�0�_mc�
s-�Bnmrdptdmskx*�vd�b_m�qdonqs�LbBkd_qx�deedbsr�enq�
sgd� _b_cdlhb� xd_qr� 1/07“1/08� _mc� 1/08“1/1/�
vhsgnts�g_uhmf�deedbs�drshl_sdr�bnmek_sdc�vhsg� sgd�
BNUHC,08�o_mcdlhb-�Rhlhk_q� sn� sgd� sd_bgdq� stqm,
nudq�qdrtksr*�vd�oqdrdms�ntq�HSR�qdrtksr�hm�S_akd�6-�
BHSR�qdrtksr�_ood_q�hm�Nmkhmd�?oodmchw�S_akd�?4�hm�
sgd� nmkhmd� udqrhnm� ne� sgd� intqm_k� _mc cdrbqhoshud�
sqdmcr�_ood_q�hm�Nmkhmd�?oodmchw�Ehftqd�?2�hm�sgd�
nmkhmd�udqrhnm�ne�sgd�intqm_k-�Nudq_kk*�drshl_sdr�hm�
S_akd�6�rgnv�_�k_qfdkx�mtkk�deedbs�nm�sgd�odqbdms_fd�
ne�mdv�ghqdr�hm�onrs,LbBkd_qx�1/08�_mc�1/1/-

S?AKD�3

BgWmfdr�hm�SdWbgdq�Stqmnudq�Tmcdq�LbBkdWqx�Rbgnnk�EhmWmbd�Qdenqlr�’Hmsdqqtosdc�Shld�Rdqhdr�Lncdkr(

Deedbs�drshl_sdr
$�stqmnudq�

’_kk(
D_qkx�
’/“2(

Itmhnq�
’3“6(

Lhc�0�
’7“00(

Lhc�1�
’01“04(

K_sd�0�
’05“08(

K_sd�1�
’1/“11(

K_sd�2�
’12+(

Sdqbhkd�0
� LbBkd_qx�deedbs�1/08 —0-51)) /-7/ —2-10)) —0-57 —/-46 —/-84 —/-68 —3-66)))

’/-44( ’0-14( ’0-/5( ’0-16( ’0-00( ’0-11( ’0-23( ’0-28(
Sdqbhkd�1
� LbBkd_qx�deedbs�1/08 —0-50)) /-08 —0-6/ —2-2/))) —1-77)) —/-10 —0-17 —1-68)

’/-44( ’0-/1( ’0-/8( ’/-8/( ’/-85( ’/-71( ’0-/8( ’0-26(
Sdqbhkd�2
� LbBkd_qx�deedbs�1/08 —1-08))) —/-58 —0-36 —2-20)) —1-62))) —1-31)) —0-8/ —2-4/)))

’/-45( ’0-00( ’/-67( ’0-/2( ’/-7/( ’/-75( ’/-88( ’/-81(
Sdqbhkd�khmd_q�sqdmcr W W W W W W W W
Rs_sd�bnmsqnkr W W W W W W W W
Chrsqhbs,ax,Xd_q�nar- 0*364 0*220 0*214 0*238 0*226 0*212 0*161 0*270
Mtladq�ne�chrsqhbsr 184 167 170 172 170 168 158 17/
Sdqbhkd�0�chrsqhbsr 88 87 87 88 85 86 85 88
Sdqbhkd�1�chrsqhbsr 87 87 84 84 85 85 83 85
Sdqbhkd�2�chrsqhbsr 87 71 77 78 78 75 68 74

Mnsd-�Cdodmcdms�u_qh_akd�hm�Bnktlm�0�’_kk(�hr�sgd�odqbdms_fd�ne�stqmnudq�sd_bgdqr�vgn�kdes�sgdhq�chrsqhbs�hm�sgd�mdws�rbgnnk�xd_q*�_r�
dhsgdq�lnudc�sn�_mnsgdq�chrsqhbs�nq�kdes�sgd�sd_bghmf�vnqjenqbd�nq�kdes�sgd�V_rghmfsnm�rs_sd�otakhb�rbgnnk�rxrsdl�_ksnfdsgdq-�Sgd�
cdodmcdms�u_qh_akdr�hm�sgd�qdrs�ne�sgd�bnktlmr�_qd�sgd�odqbdms_fd�ne�stqmnudq�nts�ne�sgd�sns_k�mtladq�ne�sd_bgdqr�hm�sg_s�dwodqhdmbd�
ahm-�Sgd�xd_q�qdoqdrdmsr�sgd�roqhmf�ne�sgd�rbgnnk�xd_q�’d-f-*�1/07“1/08�rbgnnk�xd_q�hr�qdoqdrdmsdc�_r�1/08(-�Sgd�drshl_sdr�bnld�
eqnl�hmsdqqtosdc�shld�rdqhdr�lncdkr-�?kk�lncdkr�hmbktcd�chrsqhbs�ehwdc�deedbsr-�Qnatrs�rs_mc_qc�dqqnqr�hm�o_qdmsgdrdr�_qd�bktrsdqdc�
ax�chrsqhbs-�Qdfqdrrhnmr�_qd�vdhfgsdc�ax�sgd�_udq_fd�ne�sd_bgdq�bdqshehb_sdc�etkk,shld�dpthu_kdms�hm�d_bg�dwodqhdmbd�ahm�adsvddm�
_b_cdlhb�xd_qr�1/03“1/04�_mc�1/06“1/07-
)o���-/4-�))o���-/0-�)))o���-//0-
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?rrnbhWshmf RWkWqx HmbqdWrdr Vhsg SdWbgdq
Stqmnudq Wmc Fhqhmf

Ehm_kkx*� vd� trd� 1RKR� sn� chqdbskx� drshl_sd�
sgd� dwsdms� sn� vghbg� r_k_qx� hmbqd_rdr� _eedbs�
sd_bgdq�stqmnudq�_mc�ghqhmf q_sdr-�Hm�sgdrd�_m_k,
xrdr*�vd�dwbktcd�_kk�c_s_� eqnl�1/08� sn�1/1/-�
Vd�dwbktcd�sghr�rdbnmc�xd_q�ne� sgd�LbBkd_qx�
deedbs�adb_trd�vd�cn�mns�v_ms�sn�bnmek_sd�ntq�
drshl_sdr� vhsg� sgd� o_mcdlhb*� drodbh_kkx� vhsg�
qdrodbs�sn�ntq�stqmnudq�ld_rtqd-�Vghkd�vd�b_m�
sdbgmhb_kkx� hmbktcd� 1/08“1/1/� enq� ghqhmf*�vd�
mnsd� sg_s� sgd�rdbnmc�xd_q� hmbnqonq_sdr�l_qjds�
cxm_lhbr�eqnl�_�cdbqd_rd�hm�stqmnudq�sgd�oqd,
uhntr�xd_q-�Sgtr*�sn�nmkx�b_ostqd�sgd�LbBkd_qx�
deedbs*�vd�trd�sgd�1/07“1/08�c_s_� hm� sgd�onrs�
odqhnc-

Sgd�HU,BHSR�lncdkr�fdmdq_sd�drshl_sdr�vhsg�
sgd r_ld chqdbshnmr _r sgnrd hm HU,HSR ’S_akd 7(*
ats mnmd ne sgd HU,BHSR drshl_sdr _qd rs_shrshb_kkx
rhfmhehb_ms ’rdd Nmkhmd ?oodmchw S_akd ?5 hm sgd

nmkhmd�udqrhnm�ne�sgd�intqm_k(-�Sghr�hloqdbhrhnm�hr�
tmcdqrs_mc_akd�adb_trd�sgd�HU,HSR�_mc�HU,BHSR�
lncdkr�kdudq_fd�cheedqdms�bnmsq_rsr�vgdm�o_qsh_k,
khmf�nts�dwnfdmntr�u_qh_shnm�hm�r_k_qhdr�a_rdc�nm�
sgd� rhltk_sdc� hmrsqtldmsr-� Rodbhehb_kkx*� HU,HSR�
drshl_sdr�o_qsh_k�nts�dwnfdmntr�u_qh_shnm�hm�r_k_,
qhdr�ax�kdudq_fhmf�cheedqdmbdr�hm�sgd�sdqbhkdr�qdk_,
shud� sn� sgdhq� nvm� oqdsqdmcr´sgdrd� _qd� ehqrs�
cheedqdmbdr-� Sgd� HU,BHSR� drshl_sdr*� gnvdudq*�
o_qsh_k� nts� dwnfdmntr� u_qh_shnm� hm� r_k_qhdr� ax�
kdudq_fhmf� ehqrs� _mc� rdbnmc� cheedqdmbdr-� Sgdrd�
rdbnmc�cheedqdmbdr�_qd�adsvddm�Sdqbhkdr�1�_mc�0�
_mc� adsvddm�Sdqbhkdr 2� _mc� 0-� Enq� dw_lokd*� _r�
qdonqsdc�hm�S_akd�1*�sgd�HSR�qdrtksr�enq�a_rd�r_k_qx�
qdekdbs� hmbqd_rdr� ne� !0/*7//*� !04*0//*� _mc�
!08*2//�enq�Sdqbhkdr�0*�1*�_mc�2*�qdrodbshudkx*�hm�
sgd�_b_cdlhb�xd_q�1/07“1/08:�gnvdudq*�sgd�BHSR�
qdrtksr�qdekdbs�_m�drshl_sdc�a_rd�r_k_qx cheedqdmbd�
ne� !3*26/�adsvddm�Sdqbhkdr� 1� _mc�0� _mc !7*43/�
adsvddm�Sdqbhkdr�2�_mc�0-�Ots�rhlokx*�sgd�HU,BHSR�
lncdkr�_qd�tmcdqonvdqdc�sn�hcdmshex�rs_shrshb_kkx�

S?AKD�4

BgWmfdr�hm�SdWbgdq�Lnudqr�Tmcdq�LbBkdWqx�Rbgnnk�EhmWmbd�Qdenqlr�’Hmsdqqtosdc�Shld�Rdqhdr�Lncdkr(

Deedbs�drshl_sdr
$�ne�lnudqr�

’_kk(
D_qkx�
’/“2(

Itmhnq�
’3“6(

Lhc�0�
’7“00(

Lhc�1�
’01“04(

K_sd�0�
’05“08(

K_sd�1�
’1/“11(

K_sd�2�
’12+(

Sdqbhkd�0
� LbBkd_qx�deedbs�1/08 —/-73)) —/-08 —/-32 —1-31))) —/-85 —/-35 —/-04 —0-/3))

’/-2/( ’/-73( ’/-60( ’/-60( ’/-55( ’/-45( ’/-57( ’/-28(
Sdqbhkd�1
� LbBkd_qx�deedbs�1/08 —0-/0)) —/-14 —0-/0 —1-20))) —0-85)) —/-27 —/-86 —/-2/

’/-20( ’/-57( ’/-57( ’/-42( ’/-51( ’/-44( ’/-47( ’/-20(
Sdqbhkd�2
� LbBkd_qx�deedbs�1/08 —0-/1)) —/-82 —/-83 —1-/3)) —0-66))) —/-75 —/-22 —/-2/

’/-26( ’/-68( ’/-56( ’/-6/( ’/-37( ’/-4/( ’/-44( ’/-08(
Sdqbhkd�khmd_q�sqdmcr W W W W W W W W
Rs_sd�bnmsqnkr W W W W W W W W
Chrsqhbs,ax,Xd_q�nar- 0*364 0*220 0*214 0*238 0*226 0*212 0*161 0*270
Mtladq�ne�chrsqhbsr 184 167 170 172 170 168 158 17/
Sdqbhkd�0�chrsqhbsr 88 87 87 88 85 86 85 88
Sdqbhkd�1�chrsqhbsr 87 87 84 84 85 85 83 85
Sdqbhkd�2�chrsqhbsr 87 71 77 78 78 75 68 74

Mnsd-�Cdodmcdms�u_qh_akd�hm�Bnktlm�0�’_kk(�hr�sgd�odqbdms_fd�ne�sd_bgdqr�sg_s�lnudc�sn�_mnsgdq�chrsqhbs�ats�qdl_hmdc�_r�bdqsheh,
b_sdc�sd_bgdqr�hm�sgd�mdws�rbgnnk�xd_q-�Sgd�cdodmcdms�u_qh_akdr�hm�sgd�qdrs�ne�bnktlmr�_qd�sgd�odqbdms_fd�ne�lnudqr�nts�ne�sgd�
sns_k�mtladq�ne�sd_bgdqr�hm�sg_s�dwodqhdmbd�ahm-�Sgd�xd_q�qdoqdrdmsr�sgd�roqhmf�ne�sgd�rbgnnk�xd_q�’d-f-*�1/07“1/08�rbgnnk�xd_q�hr�
qdoqdrdmsdc�_r�1/08(-�Sgd�drshl_sdr�bnld�eqnl�hmsdqqtosdc�shld�rdqhdr�lncdkr-�?kk�lncdkr�hmbktcd�chrsqhbs�ehwdc�deedbsr-�Qnatrs�
rs_mc_qc�dqqnqr�hm�o_qdmsgdrdr�_qd�bktrsdqdc�ax�chrsqhbs-�Qdfqdrrhnmr�_qd�vdhfgsdc�ax�sgd�_udq_fd�ne�sd_bgdq�bdqshehb_sdc�etkk,shld�
dpthu_kdms�hm�d_bg�dwodqhdmbd�ahm�adsvddm�_b_cdlhb�xd_qr�1/03“1/04�_mc�1/06“1/07-
)o���-/4-�))o���-/0-�)))o���-//0-



3//

rhfmhehb_ms� deedbsr� vhsg� qdrodbs� sn� bqnrr,sdqbhkd�
cheedqdmbdr-� Hm� sghr� rdbshnm*�vd�l_hmkx� rs_sd� sgd�
qdrtksr� eqnl� sgd� HU,HSR�lncdkr*� vghbg� oqnuhcd�
rtffdrshud�duhcdmbd�ne� sgd� qdk_shnmrgho�adsvddm�
r_k_qx�_mc�sd_bgdq�k_anq�l_qjds�ntsbnldr-

?r� rgnvm� hm� S_akd� 7*� _� LbBkd_qx,hmctbdc�
hmbqd_rd�ne�!0*///�hm�a_rd r_k_qx�vntkc�qdctbd�
sd_bgdq�stqmnudq�q_sd�ax�/-00�odqbdms_fd�onhmsr*�
_mc� _m� hmbqd_rd� ne� !0*///� hm� sns_k� ehm_k� r_k_qx�
vntkc�qdctbd�sd_bgdq�stqmnudq�ax�/-17�odqbdms,
_fd�onhmsr-�Sn�ots�sghr�drshl_sd hmsn�onkhbx,qdkd,
u_ms� tmhsr*� _� a_bj,ne,sgd,dmudknod� b_kbtk_shnm�
rtffdrsr�sg_s�sgd�_udq_fd�a_rd�r_k_qx�hmbqd_rd�ne�
!07*///�vntkc� qdctbd� stqmnudq� q_sd� ax� 1 odq,
bdms_fd�onhmsr-� Hm�nsgdq�vnqcr*� sgd�LbBkd_qx,
hmctbdc� a_rd� r_k_qx� hmbqd_rd� hr� drshl_sdc� sn�
qdctbd�sgd�rs_sd�_udq_fd�sd_bgdq�stqmnudq�q_sd�sn�
7-3�odqbdms_fd�onhmsr� eqnl�sgd�oqdqdenql�rs_sd�
_udq_fd�stqmnudq�q_sd�ne�0/-3�odqbdms_fd�onhmsr*�
dpthu_kdms� sn� 08$� ne� qdctbshnm-� Sgdrd� deedbsr�
vdqd�nardqudc enq�_klnrs�_kk�sd_bgdq�dwodqhdmbd�

fqntor�dwbdos�enq�d_qkx,b_qddq�sd_bgdqr�vhsg�/�sn�
2 xd_qr�ne�dwodqhdmbd-

Vd�_krn etqsgdq�dw_lhmd�stqmnudq�ax�_rrnbh_s,
hmf bg_mfdr�hm�r_k_qx�vhsg�sd_bgdq�lnahkhsx�_mc�
kd_uhmf�hm�S_akdr�8�_mc�0/*�qdrodbshudkx-�S_akd�8�
rgnvr� bnmrhrsdms� duhcdmbd� sg_s� r_k_qx� hmbqd_rd�
qdctbdr sd_bgdq�lnahkhsx� q_sdr� nm� _udq_fd*� o_q,
shbtk_qkx� enq�lhc,b_qddq� ’7“04(� sd_bgdqr&�lnahk,
hsx-� S_akd� 0/� rgnvr sg_s� r_k_qx� hmbqd_rdr�
o_qshbtk_qkx� qdctbd� k_sd,b_qddq� sd_bgdqr&� ’vhsg�
12+� xd_qr�ne� dwodqhdmbd(� khjdkhgnnc�ne� kd_uhmf�
sgd�sd_bghmf�oqnedrrhnm�nq�sgd�rs_sd�otakhb�rbgnnk�
rxrsdl�_ksnfdsgdq-

Ehm_kkx*� vd� _rrdrr� sgd� qdk_shnmrgho� adsvddm�
r_k_qx� bg_mfdr� _mc� mdv� ghqdr� hm S_akd� 00-�
?ksgntfg� sgd� bndeehbhdms� enq� sgd� odqbdms� ne� _kk�
mdv�ghqdr�’nts�ne�sgd�dmshqd�sd_bgdq�vnqjenqbd�hm�
sgd� chrsqhbs(� hr� mns� rs_shrshb_kkx� rhfmhehb_ms*� sgd�
!0*///�a_rd�r_k_qx�hmbqd_rd�g_r�rhfmhehb_mskx�onr,
hshud� deedbsr� enq� qdbqthshmf� itmhnq� sd_bgdqr� vhsg��
3� sn� 6� xd_qr� ne� sd_bghmf dwodqhdmbd9� _� !0*///�

S?AKD�5

BgWmfdr�hm�SdWbgdq�KdWudqr�Tmcdq�LbBkdWqx�Rbgnnk�EhmWmbd�Qdenqlr�’Hmsdqqtosdc�Shld�Rdqhdr�Lncdkr(

Deedbs�drshl_sdr
$�ne�

kd_udqr�’_kk(
D_qkx�
’/“2(

Itmhnq�
’3“6(

Lhc�0�
’7“00(

Lhc�1�
’01“04(

K_sd�0�
’05“08(

K_sd�1�
’1/“11(

K_sd�2
’12+(

Sdqbhkd�0
� LbBkd_qx�deedbs�1/08 —/-67 /-87 —1-67)) /-63 /-28 —/-4/ —/-54 —2-62))

’/-37( ’0-/1( ’/-81( ’0-03( ’/-70( ’0-03( ’0-06( ’0-17(
Sdqbhkd�1
� LbBkd_qx�deedbs�1/08 —/-5/ /-33 —/-58 —/-87 —/-82 /-05 —/-2/ —1-38

’/-3/( ’/-64( ’/-66( ’/-75( ’/-63( ’/-55( ’/-75( ’0-18(
Sdqbhkd�2
� LbBkd_qx�deedbs�1/08 —0-06))) /-13 —/-42 —0-16 —/-85 —0-45) —0-46 —2-1/)))

’/-24( ’/-56( ’/-54( ’/-57( ’/-51( ’/-55( ’/-8/( ’/-8/(
Sdqbhkd�khmd_q�sqdmcr W W W W W W W W
Rs_sd�bnmsqnkr W W W W W W W W
Chrsqhbs,ax,Xd_q�nar- 0*364 0*220 0*214 0*238 0*226 0*212 0*161 0*270
Mtladq�ne�chrsqhbsr 184 167 170 172 170 168 158 17/
Sdqbhkd�0�chrsqhbsr 88 87 87 88 85 86 85 88
Sdqbhkd�1�chrsqhbsr 87 87 84 84 85 85 83 85
Sdqbhkd�2�chrsqhbsr 87 71 77 78 78 75 68 74

Mnsd-�Cdodmcdms�u_qh_akd�hm�Bnktlm�0�’_kk(�hr�sgd�odqbdms_fd�ne�kd_udqr�vgn�dhsgdq�kdes�sgd�sd_bghmf�vnqjenqbd�nq�kdes�sgd�V_rg,
hmfsnm�rs_sd�otakhb�rbgnnk�rxrsdl�_ksnfdsgdq� hm� sgd�mdws�rbgnnk�xd_q-�Sgd�cdodmcdms�u_qh_akdr� hm� sgd� qdrs�ne�bnktlmr�_qd� sgd�
odqbdms_fd�ne�kd_udqr�nts�ne�sgd�sns_k�mtladq�ne�sd_bgdqr�hm�sg_s�dwodqhdmbd�ahm-�Sgd�xd_q�qdoqdrdmsr�sgd�roqhmf�ne�sgd�rbgnnk�xd_q�
’d-f-*�1/07“1/08�rbgnnk�xd_q�hr�qdoqdrdmsdc�_r�1/08(-�Sgd�drshl_sdr�vdqd�bnld�eqnl�hmsdqqtosdc�shld�rdqhdr�lncdkr-�?kk�lncdkr�
hmbktcd�chrsqhbs�ehwdc�deedbsr-�Qnatrs�rs_mc_qc�dqqnqr�hm�o_qdmsgdrdr�_qd�bktrsdqdc�ax�chrsqhbs-�Qdfqdrrhnmr�_qd�vdhfgsdc�ax�sgd�
_udq_fd�ne�sd_bgdq�bdqshehb_sdc�etkk,shld�dpthu_kdms�hm�d_bg�dwodqhdmbd�ahm�adsvddm�_b_cdlhb�xd_qr�1/03“1/04�_mc�1/06“1/07-
)o���-/4-�))o���-/0-�)))o���-//0-
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hmbqd_rd�hm�a_rd�r_k_qx�vntkc�hmbqd_rd�ghqhmf�ax�
/-/7�odqbdms_fd�onhmsr�_lnmf�sghr�fqnto-�Vghkd�
sgd� qdrtks� hr� mns� rs_shrshb_kkx� rhfmhehb_ms� _lnmf�
d_qkx,b_qddq� sd_bgdqr*� vd� g_ud� rtffdrshud� duh,
cdmbd�sg_s�sgd�ghqhmf�ne�sd_bgdqr�vhsg�/ sn�2�xd_qr�
ne�dwodqhdmbd�vntkc�hmbqd_rd�ax�/-12�odqbdms_fd�
onhmsr�vhsg�_�!0*///�hmbqd_rd�hm�a_rd�r_k_qx-�Enq�
k_sd,b_qddq� sd_bgdqr�vhsg� 05� _mc�lnqd xd_qr� ne�
sd_bghmf� dwodqhdmbd*� sgd� deedbsr� ne� sgd� r_k_qx�
hmbqd_rd�chlhmhrg�sn�_klnrs�ydqn-

Qnatrsmdrr�Wmc�Rdmrhshuhsx�?mWkxrdr

Dwnfdmdhsx�ne�SdWbgdq�RWkWqhdr-� Mns�qdkxhmf�nm�
dwnfdmntr� u_qh_shnm� hm� sd_bgdq� r_k_qhdr� l_x�

oqnctbd� ah_rdc� drshl_sdr� hm� ntq� hmrsqtldms_k�
u_qh_akd�_m_kxrdr-�He�sgdqd�_qd�e_bsnqr�sg_s�rhltk,
s_mdntrkx� _eedbs� k_anq� l_qjds� ntsbnldr� ’d-f-*�
stqmnudq(� _mc� r_k_qx*� sgdm� ntq drshl_sdr� l_x�
qdekdbs� rotqhntr� bnqqdk_shnmr� hmrsd_c� ne� b_tr_k�
drshl_sdr-�Enq�dw_lokd*�bnmrhcdq�rbgnnk�chrsqhbsr�
sg_s�bnlodmr_sd�sd_bgdqr�vhsg�ghfgdq r_k_qhdr�_r�
_�bnlodmr_shmf�cheedqdmsh_k�enq�kdrr,sg_m,noshl_k�
vnqjhmf�bnmchshnmr-�He�sgdrd�vnqjhmf�bnmchshnmr�
_krn� b_trd� sd_bgdqr� sn� stqmnudq� _s� _� ghfgdq� q_sd�
’d-f-*�Anxc�ds�_k-*�1/00(*�sgdm�sgd�deedbsr�ne�r_k_qx�
nm�k_anq�l_qjds�ntsbnldr�vntkc�ad�ah_rdc-

Vghkd�vd�b_mmns�etkkx�sdrs�sgd�dwbktrhnm�qdrsqhb,
shnm*� vd cn� _rrdrr� vgdsgdq� hmrsqtldmsdc� r_k_qx�
oqdchbsr�rstcdms�cdlnfq_oghbr�_mc�rs_eehmf�q_shnr�
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BgWmfdr�hm�SdWbgdq�Fhqhmf�Tmcdq�LbBkdWqx�Rbgnnk�EhmWmbd�Qdenqlr�’Hmsdqqtosdc�Shld�Rdqhdr�Lncdkr(

Deedbs�drshl_sdr
$�ne�mdv�
ghqdr�’_kk(

D_qkx�
’“2(

Itmhnq�
’3“6(

Lhc�0�
’7“00(

Lhc�1�
’01“04(

K_sd�0�
’05“08(

K_sd�1�
’1/“11(

K_sd�2�
’12+(

Sdqbhkd�0
� LbBkd_qx�deedbs�1/08 /-35 0-53 /-8/ /-76 0-3/ —0-67) —/-01 /-1/

’/-33( ’0-50( ’/-67( ’/-60( ’/-68( ’/-77( ’/-58( ’/-23(
� LbBkd_qx�deedbs�1/1/ 2-0/ —6-02 4-33 /-88 —/-/03 /-81 /-33 1-54

’2-20( ’01-7( ’3-65( ’3-/8( ’2-77( ’3-10( ’3-40( ’1-17(
Sdqbhkd�1
� LbBkd_qx�deedbs�1/08 /-07 /-64 /-/07 0-35) /-30 —/-11 /-31 /-41

’/-35( ’0-45( ’/-54( ’/-55( ’/-54( ’/-45( ’/-36( ’/-22(
� LbBkd_qx�deedbs�1/1/ 0-38 —00-/ 3-1/ —/-18 —0-18 0-88 /-03 0-71

’2-21( ’01-8( ’3-66( ’2-81( ’2-56( ’2-85( ’3-48( ’1-10(
Sdqbhkd�2
� LbBkd_qx�deedbs�1/08 0-/8) 2-68) 0-62)) /-53 /-66 —/-/34 —/-38 —/-17

’/-41( ’0-80( ’/-43( ’/-47( ’/-4/( ’/-32( ’/-30( ’/-12(
� LbBkd_qx�deedbs�1/1/ 2-78 —3-50 5-51 /-56 —/-05 1-0/ /-/72 0-63

’2-16( ’01-5( ’3-57( ’2-87( ’2-61( ’2-7/( ’3-4/( ’1-11(
Sdqbhkd�khmd_q�sqdmcr W W W W W W W W
Rs_sd�bnmsqnkr W W W W W W W W
Chrsqhbs,ax,Xd_q�nar- 0*66/ 0*5/6 0*48/ 0*5/8 0*5/2 0*472 0*416 0*546
Mtladq�ne�chrsqhbsr 184 168 171 172 171 17/ 158 170
Sdqbhkd�0�chrsqhbsr 88 87 87 88 86 86 85 88
Sdqbhkd�1�chrsqhbsr 87 87 85 84 85 86 83 86
Sdqbhkd�2�chrsqhbsr 87 72 77 78 78 75 68 74

Mnsd-�Cdodmcdms�u_qh_akd�hm�Bnktlm�0�’_kk(�hr�sgd�odqbdms_fd�ne�mdv�ghqdr�nts�ne�sgd�sns_k�mtladq�ne�sd_bgdqr�hm�sgd�chrsqhbs-�Sgd�
cdodmcdms�u_qh_akdr�hm�sgd�qdrs�ne�bnktlmr�_qd�sgd�odqbdms_fd�ne�mdv�ghqdr�nts�ne�sgd�sns_k�mtladq�ne�sd_bgdqr�hm�sg_s�dwodqh,
dmbd�ahm-�Sgd�xd_q�qdoqdrdmsr�sgd�roqhmf�ne�sgd�rbgnnk�xd_q�’d-f-*�1/07“1/08�rbgnnk�xd_q�hr�qdoqdrdmsdc�_r�1/08(-�Sgd�drshl_sdr�
vdqd�a_rdc�nm�hmsdqqtosdc�shld�rdqhdr�lncdkr-�Qnatrs�rs_mc_qc�dqqnqr�hm�o_qdmsgdrdr�_qd�bktrsdqdc�ax�chrsqhbs-�Qdfqdrrhnmr�_qd�
vdhfgsdc�ax�sgd�_udq_fd�ne�sd_bgdq�bdqshehb_sdc�etkk,shld�dpthu_kdms�hm�d_bg�dwodqhdmbd�ahm�adsvddm�_b_cdlhb�xd_qr�1/03“1/04�
_mc�1/06“1/07-
)o���-/4-�))o���-/0-�)))o���-//0-
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sg_s�_qd�bnqqdk_sdc�vhsg�vnqjhmf�bnmchshnmr�nsgdq�
chrsqhbs�e_bsnqr�sg_s�_eedbs�r_k_qx�_mc�k_anq l_qjds�
cdbhrhnmr-�S_akd�01�qdonqsr�sgd�qdrtksr�ne�sghr�dwdq,
bhrd-� O_mdk�?� qdonqsr� qdrtksr� vgdm vd� drshl_sd�
Dpt_shnm�2*�sgd�HU,HSR�lncdk*�_mc�O_mdk�A qdonqsr�
qdrtksr� eqnl� Dpt_shnm� 3*� sgd� HU,BHSR� lncdk-�
?bqnrr� ansg� o_mdkr*� vd� ehmc� mn� duhcdmbd� sg_s�
hmrsqtldmsdc� r_k_qhdr� oqdchbs sgd� odqbdms_fdr� ne�
eqdd�_mc�qdctbdc,oqhbd�ktmbg*�Ak_bj*�Ghro_mhb*�nq�
rodbh_k�dctb_shnm�rstcdmsr-�Vd�_krn�ehmc mn�qdk_,
shnmrgho�adsvddm�hmrsqtldmsdc�r_k_qhdr�_mc�sd_bg,
dqr� odq� 0*///� rstcdmsr*� bntmrdknqr� odq� 0*///�
rstcdmsr*�_mc�_clhmhrsq_snqr odq�0*///�rstcdmsr-

Vd�_krn�bnmctbs�dwnfdmdhsx�sdrs�ax�ehqrs�oqd,
chbshmf� stqmnudq�_mc�mdv�ghqdr�_r�_� etmbshnm�ne�
ntq� cdlnfq_oghb� _mc� rs_eehmf� q_shnr� _mc� sgdm�
qdfqdrrhmf� d_bg� ne� sgdrd� oqdchbsdc� u_qh_akdr� nm�
hmrsqtldmsdc� r_k_qx-1� Hmsthshudkx*� sghr� oqdchbshnm�
ldsgnc� bnlahmdr� d_bg�ne� ntq� bnu_qh_sdr� hmsn� _�
qdfqdrrhnm,vdhfgsdc�hmcdw*�_kknvhmf�enq�_�bnmud,
mhdms�v_x� sn� rtll_qhyd� onsdmsh_k� uhnk_shnmr� ne�

dwnfdmdhsx�hm�sdqlr�ne�ntq�ntsbnld�u_qh_akdr-�?r�
rgnvm� hm� sgd� k_rs� svn bnktlmr�ne�S_akd�01* vd�
ehmc�sg_s�ansg�ntq�HU,HSR�_mc�HU,BHSR�drshl_sdr*�
vghbg�trd�nmkx�dwnfdmntr�u_qh_shnm� hm�r_k_qhdr*�
_qd�mns�qdk_sdc�sn�sgd�bg_mfdr�hm�oqdchbsdc�stqm,
nudq�_mc�mdv�ghqhmf�_s sgd�4$�rhfmhehb_mbd�kdudk-�
S_jdm� snfdsgdq*� sgdrd� ehmchmfr� qtkd� nts� rnld�
ok_trhakd�_ksdqm_shud�dwok_m_shnmr�_mc�_cc�_cch,
shnm_k� bnmehcdmbd� hm� ntq� hmrsqtldms_k� u_qh_akd�
_m_kxrdr-

EWkrhehbWshnm�Sdrsr-�Vghkd� ntq� kdfhrk_shud� cnbt,
ldms� _m_kxrhr� rtffdrsr� sg_s� LbBkd_qx,hmctbdc�
r_k_qx� qdenqlr� adf_m� hm� sgd� 1/07“1/08� rbgnnk�
xd_q*� nmd� lhfgs� bnmidbstqd� sg_s� chrsqhbs� kd_cdqr�
_mc�tmhnmr�_mshbho_sdc�sgd�r_k_qx�qdenqlr*�vghbg�
l_x�g_ud�_eedbsdc a_rd�r_k_qx�mdfnsh_shnmr�hm�sgd�
xd_q�adenqd-�Sn�_ccqdrr� sghr�bnmbdqm*�vd�_rrhfm�
sgd�ehqrs�qdenql�xd_q�sn�ad�1/06“1/07�_mc�rds�sgd�
nlhssdc�xd_q�sn�ad�1/05“1/06-�?r�rgnvm�hm�O_mdk�
’_(�ne�Nmkhmd�?oodmchw�Ehftqd�?3�hm�sgd�nmkhmd�
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?rrnbhWshmf�RWkWqx�HmbqdWrdr�Vhsg�SdWbgdq�Stqmnudq�ax�Dwodqhdmbd�’HU,HSR�Lncdkr(

Lncdkr
$�stqmnudq�

’_kk(
D_qkx�
’/“2(

Itmhnq�
’3“6(

Lhc�0�
’7“00(

Lhc�1�
’01“04(

K_sd�0�
’05“08(

K_sd�1�
’1/“11(

K_sd�2�
’12+(

O_mdk�?9�A_rd�r_k_qx
� A_rd�r_k_qx�’0*///r( —/-00))) —/-/17 —/-00) —/-08))) —/-02))) —/-/68) —/-/64) —/-05)))

’/-/12( ’/-/6/( ’/-/33( ’/-/35( ’/-/22( ’/-/20( ’/-/23( ’/-/26(
� JO�E,rs_s 204-4 143-/ 232-0 315-3 276-/ 222-6 208-2 260-/
� G_mrdm�I9�o,u_ktd /-61 /-53 /-/78 /-63 /-33 /-16 /-87 /-00
O_mdk�A9�Ehm_k�r_k_qx
� Ehm_k�r_k_qx�’0*///r( —/-17))) —/-/46 —/-17)) —/-35))) —/-21))) —/-07) —/-06) —/-27)))

’/-/45( ’/-08( ’/-00( ’/-00( ’/-/72( ’/-/64( ’/-/7/( ’/-/75(
� JO�E,rs_s 025-2 47-3 75-6 0/2-4 012-0 1/8-1 124-5 104-2
� G_mrdm�I9�o,u_ktd -84 -51 -04 -51 -23 -12 -84 -15
Sdqbhkd�sqdmcr W W W W W W W W
Rs_sd�bnmsqnkr W W W W W W W W
Chrsqhbs,ax,Xd_q�nar- 0*364 0*220 0*214 0*238 0*226 0*212 0*161 0*270
Mtladq�ne�chrsqhbsr 184 167 170 172 170 168 158 17/
Sdqbhkd�0�chrsqhbsr 88 87 87 88 85 86 85 88
Sdqbhkd�1�chrsqhbsr 87 87 84 84 85 85 83 85
Sdqbhkd�2�chrsqhbsr 87 71 77 78 78 75 68 74

Mnsd-�D_bg�drshl_sdc�lncdk� hr�a_rdc�nm� sgd�HU,HSR�lncdk� hm�Dpt_shnm�2-� Hm�O_mdk�?*�vd�qdfqdrr� sgd�odqbdms_fd�ne�chrsqhbs,
kdudk�sd_bgdq�stqmnudq�nm�hmrsqtldmsdc�ldch_m�a_rd�r_k_qx�hm�sgntr_mcr�ne�qd_k�cnkk_qr-�Hm�O_mdk�A*�vd�qdfqdrr�sgd�odqbdms_fd�
ne�chrsqhbs,kdudk�sd_bgdq�stqmnudq�nm�hmrsqtldmsdc�ldch_m�ehm_k�r_k_qx�hm�sgntr_mcr�ne�qd_k�cnkk_qr-�?bqnrr�sgd�bnktlmr*�qdrtksr�
_qd�qdonqsdc�ax�dwodqhdmbd�ahm-�?kk�lncdkr�hmbktcd�chrsqhbs�ehwdc�deedbsr-�Qnatrs�rs_mc_qc�dqqnqr�hm�o_qdmsgdrdr�_qd�bktrsdqdc�ax�
chrsqhbs-�Qdfqdrrhnmr�_qd�vdhfgsdc�ax�sgd�_udq_fd�ne� sd_bgdq�bdqshehb_sdc�etkk,shld�dpthu_kdms� hm�d_bg�dwodqhdmbd�ahm�adsvddm�
_b_cdlhb�xd_qr�1/03“1/04�_mc�1/06“1/07-�HU�=�hmrsqtldms_k�u_qh_akd-
)o���-/4-�))o���-/0-�)))o���-//0-
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udqrhnm�ne�sgd�intqm_k*�vd�ehmc�mn�duhcdmbd�ne�_m�
deedbs�ne�ldch_m�a_rd�r_k_qx�hmbqd_rdr�hm�1/06“
07-� Sgd� qdrtksr� _khfm� vhsg� ntq� s_jd_v_xr� eqnl�
Ehftqdr�1�_mc�2-

Nmd�l_x�_krn�ad�bnmbdqmdc�sg_s�sgd�shlhmf�ne�
sgd� qdenql� v_r� rodbhehdc� snn� d_qkx9� hmrsd_c� ne�
1/07“08*�hs�bntkc�ad�sg_s� sgd�ehqrs�xd_q�ne�sqd_s,
ldms�rgntkc�ad�1/08“1/1/-�Vd�rgnv�sg_s�cdk_x,
hmf� sgd� rs_qs� ne� sqd_sldms� sn� _esdq� sgd� _b_cdlhb�
xd_q�1/07“1/08�uhnk_sdr�sgd�_rrtloshnm�ne�o_q_k,
kdk�sqdmcr-�Sgd�dudms�rstcx�hm�O_mdk�’a(�ne�Nmkhmd�
?oodmchw�Ehftqd�?3�hm�sgd�nmkhmd�udqrhnm�ne�sgd�
intqm_k� rgnvr� sg_s� _esdq� _citrshmf� enq� chrsqhbs�
ehwdc�deedbsr*�xd_q�ehwdc�deedbsr*�_mc�chrsqhbs,rod,
bhehb�khmd_q�sqdmcr*�_kk�sgqdd�sdqbhkdr�vdqd�sqdmchmf�
cheedqdmskx�oqhnq�sn�sqd_sldms�vgdm�vd�_rrhfm�sgd�
xd_q�ne�sqd_sldms�_r�1/08“1/1/-

?ksdqmWsd� CnrWfd� LdWrtqdr-� Adrhcdr� ntq� oqd,
edqqdc�cnr_fd�ld_rtqd*�vd�cdudknodc�entq�_ksdq,
m_sd� cnr_fd�ld_rtqdr9� ’_(� _�ld_rtqd� sg_s� _ccr�

knb_k�kdux�_lntmsr�_mc�rs_sd,kdudk�KD?�etmchmf�
sn�ntq�oqdedqqdc�ld_rtqd:�’a(�_�cnr_fd�ld_rtqd�
sg_s� hmbnqonq_sdr� qdfhnm_khy_shnm� e_bsnqr� sg_s�
vdqd�s_qfdsdc�enq�sgd�1/08“1/�_b_cdlhb�xd_q:�’b(�
_�ld_rtqd�sg_s�bnmrhcdqr�nmkx�bdqshehb_sdc�hmrsqtb,
shnm_k�r_k_qx�_kknb_shnm�hmbqd_rdr�’h-d-*�hs�dwbktcdr�
bk_rrhehdc�_mc�_clhmhrsq_shud�hmbqd_rdr(:�_mc�’c(�_�
ld_rtqd� sg_s�bnmrhcdqr�nmkx�bdqshehb_sdc� sd_bgdq�
r_k_qx�_kknb_shnm�hmbqd_rdr*�_m�dudm�lnqd�qdrsqhb,
shud� ld_rtqd� sg_m� ’2(-� S_jdm� snfdsgdq*� _kk� entq�
ld_rtqdr� oqnuhcd� rhlhk_q� hmedqdmbdr� _ants� sgd�
qdk_shnmrghor� adsvddm�LbBkd_qx� deedbsr� nm� sd_,�
bgdq�r_k_qx�_mc�k_anq�l_qjdsr�’Nmkhmd�?oodmchw�
S_akdr�?7� _mc�?8� hm� sgd� nmkhmd� udqrhnm� ne� sgd�
intqm_k(-� Vd� mnsd*� gnvdudq*� sg_s� ntq� oqdedqqdc�
ld_rtqd�rxrsdl_shb_kkx�fhudr�tr�sgd�k_qfdrs�Jkdh,
adqfdm,O__o� E,rs_shrshbr-2�Vd� s_jd� sghr� _r� rtf,�
fdrshud� duhcdmbd� sg_s� hs� hr� sgd� sns_k� rs_sd,kdudk�
_kknb_shnm�enq�rs_eehmf�r_k_qhdr´bdqshehb_sdc*�_c,�
lhmhrsq_shud*� _mc� bk_rrhehdc´sg_s� adrs� oqdchbs�
sd_bgdq�r_k_qhdr-

S?AKD�8

?rrnbhWshmf�RWkWqx�Vhsg�SdWbgdq�Lnahkhsx�ax�Dwodqhdmbd�Ahmr�’HU,HSR�Lncdkr(

Lncdkr
$�lnudqr�

’_kk(
D_qkx�
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Itmhnq�
’3“6(

Lhc�0�
’7“00(

Lhc�1�
’01“04(

K_sd�0�
’05“08(

K_sd�1�
’1/“11(

K_sd�2�
’12+(

O_mdk�?9�A_rd�r_k_qx
� A_rd�r_k_qx�’0*///r( —/-/47))) —/-/46 —/-/50 —/-02))) —/-/78))) —/-/21 —/-/11 —/-/06)

’/-/05( ’/-/41( ’/-/24( ’/-/20( ’/-/1/( ’/-/07( ’/-/1/( ’/-//63(
� JO�E,rs_s 204-4 143-/ 232-0 315-3 276-/ 222-6 208-2 260-/
� G_mrdm�I9�o,u_ktd -64 -71 -8/ -15 -55 -78 -4/ -/81
O_mdk�A9�Ehm_k�r_k_qx
� Ehm_k�r_k_qx�’0*///r( —/-03))) —/-04 —/-04 —/-22))) —/-11))) —/-/66 —/-/38 —/-/34)

’/-/25( ’/-03( ’/-/74( ’/-/61( ’/-/38( ’/-/32( ’/-/35( ’/-/06(
� JO�E,rs_s 025-2 47-3 75-6 0/2-4 012-0 1/8-1 124-5 104-2
� G_mrdm�I9�o,u_ktd -82 -66 -68 -40 -44 -76 -36 -00
Sdqbhkd�sqdmcr W W W W W W W W
Rs_sd�bnmsqnkr W W W W W W W W
Chrsqhbs,ax,Xd_q�nar- 0*364 0*220 0*214 0*238 0*226 0*212 0*161 0*270
Mtladq�ne�chrsqhbsr 184 167 170 172 170 168 158 17/
Sdqbhkd�0�chrsqhbsr 88 87 87 88 85 86 85 88
Sdqbhkd�1�chrsqhbsr 87 87 84 84 85 85 83 85
Sdqbhkd�2�chrsqhbsr 87 71 77 78 78 75 68 74

Mnsd-�D_bg�drshl_sdc�lncdk� hr�a_rdc�nm� sgd�HU,HSR�lncdk� hm�Dpt_shnm�2-� Hm�O_mdk�?*�vd�qdfqdrr� sgd�odqbdms_fd�ne�chrsqhbs,
kdudk�sd_bgdq�lnahkhsx�nm�hmrsqtldmsdc�ldch_m�a_rd�r_k_qx�hm�sgntr_mcr�ne�qd_k�cnkk_qr-�Hm�O_mdk�A*�vd�qdfqdrr�sgd�odqbdms_fd�
ne�chrsqhbs,kdudk�sd_bgdq�lnahkhsx�nm�hmrsqtldmsdc�ldch_m�ehm_k�r_k_qx�hm�sgntr_mcr�ne�qd_k�cnkk_qr-�?bqnrr�sgd�bnktlmr*�qdrtksr�
_qd�qdonqsdc�ax�dwodqhdmbd�ahm-�?kk�lncdkr�hmbktcd�chrsqhbs�ehwdc�deedbsr-�Qnatrs�rs_mc_qc�dqqnqr�hm�o_qdmsgdrdr�_qd�bktrsdqdc�ax�
chrsqhbs-�Qdfqdrrhnmr�_qd�vdhfgsdc�ax�sgd�_udq_fd�ne�sd_bgdq�bdqshehb_sdc�etkk,shld�dpthu_kdms�adsvddm�_b_cdlhb�xd_qr�1/03“1/04�
_mc�1/06“1/07-�HU�=�hmrsqtldms_k�u_qh_akd-
)o���-/4-�))o���-/0-�)))o���-//0-
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Hm� _cchshnm*� vd� drshl_sd� ntq� lncdkr� trhmf�
cnr_fd� pthmshkdr� hmrsd_c� ne� sdqbhkdr� hm� Nmkhmd�
?oodmchw�S_akdr�?7�_mc�?8�hm�sgd�nmkhmd�udqrhnm�
ne� sgd� intqm_k-�Vghkd� ntq� qdrtksr� _qd� rhlhk_q� hm�
ansg� chqdbshnm� _mc� l_fmhstcd� sn� sgd� sdqbhkd�
qdrtksr*�vd�oqdedq�sdqbhkdr�enq�svn�qd_rnmr-�Ehqrs*�
sgd� Jkdhadqfdm,O__o� E,rs_shrshbr� _qd� k_qfdq� enq�
sdqbhkdr�sg_m�enq�pthmshkdr-3�Rdbnmc*�vd�ehmc�sg_s�
vd�qdidbs�sgd�G_mrdm�I�sdrs�vgdm�trhmf�pthmshkdr-�
Hm�nsgdq�vnqcr*�vd�qdidbs�sgd�mtkk�gxonsgdrhr�sg_s�
nudqhcdmshexhmf�qdrsqhbshnmr�_qd�u_khc-

Vdhfgsr-�Vd�vdhfgs�sgd�_m_kxrhr�ax�sgd�_udq_fd�
ne� bdqshehb_sdc� ESD� adsvddm� _b_cdlhb� xd_qr�
1/03“1/04�_mc�1/06“1/07�adb_trd�vd�v_ms�sn�
fds�_m�drshl_sd�sg_s�qdekdbsr�sgd _udq_fd�sd_bgdq�
hm� sgd� rs_sd� _mc� hm� d_bg� sdqbhkd-� Lnqdnudq*� vd�
v_ms�sn�dmrtqd�sg_s�vd�kdudq_fdc�_kk�c_s_�hm�sgd�
rs_sd*� vghbg� ld_mr� hmbktchmf� ansg� rl_kk� _mc�
k_qfd�chrsqhbsr-�Sxohb_kkx*�qdrd_qbgdqr�cqno�rl_kk�

chrsqhbsr�vhsg�kdrr�sg_m�rnld _qahsq_qx�mtladq�ne�
rs_ee�’nq�rstcdmsr(�adb_trd�sgd�c_s_�_qd�sxohb_kkx�
mnhrx-� Ntq� vdhfgsr� _kknv� tr� sn� trd� _kk� chrsqhbs�
nardqu_shnmr� hm� drshl_shnm*� cnvm,vdhfgshmf�
onsdmsh_k�ntskhdqr-

Hm�Nmkhmd�?oodmchw S_akd�?0/�hm�sgd�nmkhmd�
udqrhnm� ne� sgd� intqm_k*� vd� qdok_bd� ntq� bdqsheh,
b_sdc� sd_bgdq�ESD�vdhfgsr�vhsg�rstcdms�dmqnkk,
ldms�vdhfgsr*�vghbg�khjd�sgd�bdqshehb_sdc�sd_bgdq�
ESD�vdhfgsr�_qd�shld,hmu_qh_ms-�Rodbhehb_kkx*�sgd�
dmqnkkldms� vdhfgs� hr� _m� _udq_fd� ne� rstcdms�
dmqnkkldms�ctqhmf�sgd�oqdqdenql�xd_qr�ne�1/03“
1/04� sn� 1/06“1/07-� ?r� rgnvm� hm� O_mdk� ?*�
bg_mfhmf� sgd� vdhfgs� u_qh_akd sn� _m� _ksdqm_shud�
ld_rtqd�ne�chrsqhbs�rhyd�oqnctbdr�_�udqx�rhlhk_q�
rds�ne�qdrtksr-�Sgd�l_fmhstcdr�ne�sgd�bndeehbhdmsr�
_mc�rhfmr�_qd�_kk�sgd�r_ld-

Vd�_krn�_rrdrr�vgdsgdq�vdhfgsr�_qd�mns�mddcdc�
_esdq�dwbktchmf�rl_kk�chrsqhbsr-�Enq� sghr� sdrs*�vd�
cqno� _kk� chrsqhbs� vhsg� kdrr� sg_m� 1//� rstcdmsr� hm�
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� G_mrdm�I9�o,u_ktd -60 -60 -/17 -38 -36 -11 -54 -2/
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� JO�E,rs_s 025-2 47-3 75-6 0/2-4 012-0 1/8-1 124-5 104-2
� G_mrdm�I9�o,u_ktd -60 -66 -/28 -32 -31 -08 -56 -40
Sdqbhkd�sqdmcr W W W W W W W W
Rs_sd�bnmsqnkr W W W W W W W W
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Sdqbhkd�0�chrsqhbsr 88 87 87 88 85 86 85 88
Sdqbhkd�1�chrsqhbsr 87 87 84 84 85 85 83 85
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sd_bgdq�kd_udqr�nm�hmrsqtldmsdc�ldch_m�a_rd�r_k_qx�hm�sgntr_mcr�ne�qd_k�cnkk_qr-�Hm�O_mdk�A*�vd�qdfqdrr�sgd�odqbdms_fd�ne�chrsqhbs,
kdudk�sd_bgdq�kd_udqr�nm�hmrsqtldmsdc�ldch_m�ehm_k�r_k_qx�hm�sgntr_mcr�ne�qd_k�cnkk_qr-�?bqnrr�sgd�bnktlmr*�qdrtksr�_qd�qdonqsdc�
ax� dwodqhdmbd� ahm-�?kk�lncdkr� hmbktcd� chrsqhbs� ehwdc� deedbsr-�Qnatrs� rs_mc_qc� dqqnqr� hm� o_qdmsgdrdr� _qd� bktrsdqdc� ax� chrsqhbs-�
Qdfqdrrhnmr�_qd�vdhfgsdc�ax�sgd�_udq_fd�ne�sd_bgdq�bdqshehb_sdc�etkk,shld�dpthu_kdms�adsvddm�_b_cdlhb�xd_qr�1/03“1/04�_mc�
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O_mdk� A*�vghbg� qdrtksdc� hm� 123� chrsqhbsr� hm� ntq�
drshl_shnm�r_lokd-�?r�rgnvm�hm� sgd�s_akd*�tonm�
qdlnuhmf� rl_kkdq� chrsqhbsr� _mc� hmbktchmf� mn�
qdfqdrrhnm�vdhfgsr*� ntq� qdrtksr� _qd� pt_khs_shudkx�
rhlhk_q-� ?lnmf� sgd� HU,HSR� drshl_sdr*� vd� ehmc�
sg_s� sgd� _arnktsd� u_ktdr� ne� ntq� onhms� drshl_sdr�
hmbqd_rd*�_mc�rs_shrshb_k�rhfmhehb_mbd�kdudkr�cn�mns�
bg_mfd-�?mc�enq�sgd�HU,BHSR�qdrtksr*�vd�bnmshmtd�
sn�ehmc�sg_s�qdrtksr�_qd�rs_shrshb_kkx�hmrhfmhehb_ms-�
Sgd�nmkx�rhfm�sg_s�bg_mfdr�hr�enq�sgd�odqbdms_fd�
ne�mdv�ghqdr�’vghbg�hr�mnv�mdf_shud(*�ats�_f_hm*�
sgd� qdrtks� hr� mns� rhfmhehb_ms� _s� bnmudmshnm_k�
kdudkr-

Rdmrhshuhsx� ne� Qdrtksr� sn� sgd� Dwbktrhnm� ne� sgd�
Otfds� Rntmc� Qdfhnm-� ?r� rgnvm� hm� Nmkhmd�
?oodmchw�Ehftqd�?0�hm�sgd�nmkhmd�udqrhnm�ne�sgd�
intqm_k*�l_mx� ne� sgd� cnr_fd�Sdqbhkd� 2� chrsqhbsr�
_qd� ghfgkx� bnmbdmsq_sdc� hm� sgd� Otfds� Rntmc�

qdfhnm�ne�V_rghmfsnm-�Fhudm�sgd�dwsdms�ne�bktr,
sdqhmf�hm�sghr�qdfhnm*�vd�hcdmshex�_kk�chrsqhbsr�sg_s�
_qd�o_qs� ne� sgd�Otfds�Rntmc�Dctb_shnm�Rdquhbd�
Chrsqhbs�Qdfhnm�_mc cqno�sgdl�eqnl�ntq�_m_kxshb�
r_lokd� sn� _rrdrr� gnv� ntq� HU� qdrtksr� bg_mfd-�
Nmkhmd�?oodmchw�S_akd�?00� hm� sgd� nmkhmd� udq,
rhnm�ne�sgd�intqm_k�hcdmshehdr�sgd�21�chrsqhbsr�vd�
cqno-� ?r� rgnvm*� 14� ’67$(� ne� sgdrd� chrsqhbsr�
adknmf�sn�Sdqbhkd�2-

?esdq�dwbktchmf�sgdrd�21�chrsqhbsr*�vd�ehmc�sg_s�
ntq� HU� qdrtksr� _qd� k_qfdkx� tm_eedbsdc-� Nmkhmd�
?oodmchw�S_akd�?01�hm�sgd�nmkhmd�udqrhnm�ne�sgd�
intqm_k� rgnvr� sg_s� ntq� HU,HSR� bndeehbhdmsr�
adbnld� rkhfgskx� k_qfdq� hm� _arnktsd� u_ktd*� qds_hm�
sgdhq� rhfm*� _mc� qdl_hm� rs_shrshb_kkx� rhfmhehb_ms-�
Sgd� HU,BHSR� qdrtksr� qdl_hm� rs_shrshb_kkx� hmrhf,
mhehb_ms-�Nudq_kk*�vd�g_ud�duhcdmbd�sg_s�bktrsdq,
hmf o_ssdqmr� hm� sgd� Otfds� Rntmc� qdfhnm� _qd� mns�
cqhuhmf�ntq�qdrtksr-
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Ehmchmfr�nm�KnbWk�Chrsqhbs�LdbgWmhrlr�SgWs�
RgWod�RWkWqx�MdfnshWshnmr

Sgd�pt_khs_shud�duhcdmbd�gdkor�tr�tmo_bj�sgd�
ldbg_mhrlr�hm�knb_k�rbgnnk�chrsqhbsr�sg_s�dwok_hm�
sgd� u_qh_shnmr� _lnmf� chrsqhbsr-� Hmsdquhdvr� vhsg�
rs_ee� hm� sgd� ehud� chrsqhbsr� oqdrdms� aqn_c� o_ssdqmr�
sg_s�_qnrd�eqnl�knb_k�bnmsdwsr�_mc�onkhbx�_bsnqr&�
qnkdr-� Vgdqdudq� onrrhakd*� vd� sqh_mftk_sd� sgdrd�
bk_hlr�vhsg� qdkdu_ms� c_s_� eqnl�ntq�pt_mshs_shud�
_m_kxrdr� sn� rons,sdrs� gxonsgdrdr� cdqhudc� eqnl�
pt_khs_shud� ehmchmfr*� tmbnudq� tmcdqkxhmf� oqn,
bdrrdr�adghmc�pt_mshs_shud�qdrtksr*�_r�vdkk�_r�rtq,
e_bd� mdv� enqlr� ne� ld_mhmf� tm_u_hk_akd� uh_�
pt_mshs_shud c_s_�’Dchm�%�Ohqnf*�1/03(-

?r� rtffdrsdc� ax� ansg� tmhnm� _mc� chrsqhbs�
hmsdquhdvddr*� sd_bgdqr&� tmhnmr� _s� sgd� rs_sd� _mc�
knb_k� kdudkr� bnnqchm_sdc� pthbjkx� _mc� bnkkdb,
shudkx sn bnlltmhb_sd _ tmhehdc fn_k ne q_hrhmf
sd_bgdq�r_k_qhdr�_r�sgdhq�sno�nq�rnkd�oqhnqhsx�onrs,
LbBkd_qx-� Hmsdquhdvdc�chrsqhbs� kd_cdqr� hlokhdc�
sg_s� sgd� hmbqd_rdc� rs_sd� hmudrsldms� tmcdq�Lb,�
Bkd_qx� kdfhrk_shud� deenqsr� rgntkc� ad� trdc� enq�
etmchmf�_kk�sgd�bnlonmdmsr�ne�a_rhb�dctb_shnm*�
vghkd� sgd� r_k_qx� mdfnsh_shnmr� kdc� chrsqhbsr� sn�
rodmc�sgd�qdrntqbdr�nm�hmbqd_rhmf�r_k_qhdr-�Enq�
dw_lokd*�_�chrsqhbs�kd_cdq�hm�D_fkd�Bqddj�mnsdc*�
zSgdqd�_qd�rshkk�_qd_r�ne�tmcdqetmchmf*�_mc�vgdm�
xnt� rgntkc� oqnuhcd� lnqd� etmchmf� _mc� hs� fndr�
qhfgs�a_bj� hmsn� r_k_qhdr� -� -� -� sghmfr� rshkk� qdl_hm�
tmcdqetmcdc� ’d-f-*� rodbh_k� dctb_shnm*� DKK� nq�
fhesdc*� _mc� oqnedrrhnm_k� cdudknoldms(� _mc� rn�
sg_s&r� sgd� bg_kkdmfd-–� Tmhnm� qdoqdrdms_shudr�
ronjd�_ants�qdbdhuhmf�qdrd_qbg�_mc�hmenql_shnm�
eqnl�sgd�rs_sd�tmhnm�qdoqdrdms_shud�_rrhfmdc�sn�
sgdhq� chrsqhbs*� _mc� rodmchmf� shld� rstcxhmf� sgd�
ehm_mbh_k� qdonqsr� eqnl� sgd� chrsqhbs� rn� sg_s� sgdx�
jmdv�gnv�ltbg�lnmdx�v_r�bnlhmf�hm�enq�bdq,
shehb_sdc�r_k_qhdr�_mc�gnv�ltbg�_�r_k_qx�hmbqd_rd�
sgd�chrsqhbs�bntkc�_eenqc-

Hmsdquhdv�c_s_�_krn�qdud_k�rdudq_k�knb_k�ldbg_,
mhrlr�sg_s�dwok_hm�sgd�u_qh_shnm�hm�r_k_qx�hmbqd_rdr�
_bqnrr�chrsqhbsr�_mc�_khfm�vhsg�sgd�entq�ldbg_mhrlr�
hm� sgd� Bnmbdost_k� Eq_ldvnqj� rdbshnm-� Ehqrs*� vd�
entmc�duhcdmbd�sg_s�chrsqhbsr�uWqhdc�hm�sgdhq�bnlon,
rhshnm�ne�onkhbx�Wbsnqr�Wmc� sgdhq� hmsdqdrsr)� enqlWk�
qnkdr�hm�sgd�nqfWmhyWshnm)�dwodqhdmbd)�Wmc�onvdq.
unhbd�hm�bnkkdbshud�aWqfWhmhmf-�Dwodqhdmbd�_mc knm,
fduhsx�ne�ldladqr�nm� sgd�a_qf_hmhmf� sd_l�hmekt,
dmbdc�a_qf_hmhmf�ntsbnldr�hm�_s� kd_rs� svn�nts�ne�
ehud�chrsqhbsr-� Hm� sgd�Toodq�U_kkdx�rbgnnk�chrsqhbs*�

sgd�chrsqhbs�_clhmhrsq_snq�mnsdc�sg_s�sgd�rjhkk�kdudk�
ne� sgd� tmhnm� _mc� chrsqhbs� kd_cdqr� bntkc� hmektdmbd�
mdfnsh_shnmr-�Sgd�chrsqhbs�ghqdc�_�oqhu_sd bnlo_mx�
mdfnsh_snq*� vghbg� kdc� sn sgd� chrsqhbs� g_uhmf� sgd�
toodq,g_mc�ctqhmf�LbBkd_qx�mdfnsh_shnmr-

Mdws*� nqfWmhyWshnmWk� btkstqd� Wmc� bnmsdwsr�
hmektdmbdc� cdbhrhnm,lWjhmf-� Enq� dw_lokd*� vd�
ehmc� duhcdmbd� ne� a_bj,kn_chmf� sd_bgdq� r_k_qx�
rbgdctkdr� o_qskx� adb_trd� dwodqhdmbdc� sd_bgdqr�
vdqd�lnqd� khjdkx� sn� ad� _s� sgd a_qf_hmhmf� s_akd-�
Sgqdd� ne� sgd� ehud� b_rd� rstcx� chrsqhbsr� hmbqd_rdc�
sgd�a_bjkn_chmf�m_stqd�ne�sgdhq�r_k_qx�rbgdctkdr�
ctd� sn� _� oqduhntr� a_bjkn_cdc� rbgdctkd� ’h-d-*�
adenqd�LbBkd_qx� qdenqlr(� _mc� qdms,rddjhmf�ad,�
g_uhnq-�Gnvdudq*� svn�chrsqhbsr� sg_s� eqnms,kn_cdc�
r_k_qhdr� trdc� _� q_bh_k� dpthsx� _mc� dwodqhdmbd�
dpthsx�eq_ldvnqj�sn�chrqtos�dwhrshmf�o_ssdqmr�_mc�
l_jd� sgd�b_rd� enq�chroqnonqshnm_sdkx� hmbqd_rhmf�
d_qkx,b_qddq�rbgdctkdr-�Hm�Bdc_q�A_x*�sgd�Tmhnm�
Qdoqdrdms_shud�qdb_kkdc�mddchmf�sn�_bshudkx�l_jd�
sgd� b_rd� enq� rgqhmjhmf� sgd� f_o� hm� o_x� adsvddm�
mdv�sd_bgdqr�_mc�sno�d_qmdqr9

-�-�-�sgd�a_rhbr�ne�sgd�ina�_qd�sgd�r_ld�enq�dudqxancx�
_mc�xnt&qd�oqna_akx�adssdq�_s�hs�_esdq�svdmsx�xd_qr�sg_m�
_�mdv�odqrnm�hr�_mc�xnt�oqna_akx�g_ud�lnqd�dctb_shnm�
_mc�xdr*� sg_s� rgntkc�ad� qdbnfmhydc�_mc�gnmnqdc�ats�
hs&r� mns� sg_s� xnt&qd� fnhmf� sn� rodmc� svn� shldr� sgd�
_lntms�ne�shld-

Hm�Bnmhedq*� sgd�Tmhnm�Qdoqdrdms_shud�cdrbqh,�
adc� sg_s� sgdqd� v_r� z_� fdmthmd� enbtr� nm� q_bh_k�
dpthsx-–� Sgd� a_qf_hmhmf� zoqhnqhshydc� hrrtdr� hm�
Zntq[�bnmudqr_shnm�ne gnv�vd�vdqd�fnhmf�sn�chud�
hmsn�hs sn�l_jd�hs�q_bh_kkx�dpths_akd-–�Sgdx�vdms�
nm� sn rs_sd� sg_s� vgdm� otsshmf� snfdsgdq� sgd� a_q,
f_hmhmf�sd_l*�sgd�oqnbdrr�v_r�zudqx�hmsdmshnm_kkx�
enbtrdc�nm�dmrtqhmf�q_bh_k�dpthsx�vhsg�sd_bgdqr&�
unhbd�-�-�-�sgd�s_akd�v_r�k_qfdq�sg_m�hs�g_r�ghrsnqh,
b_kkx� addm� enq� a_qf_hmhmf-–� Lnqdnudq*� tmhnm“
chrsqhbs� qdk_shnmrghor� l_ssdq� mdfnsh_shnm� ntsbn,�
ldr-�Hm Bdc_q�A_x*�sgd�knmf,shld�tmhnm�qdoqdrdm,
s_shud�chrbtrrdc�sgd�ltst_k�qdrodbs�_mc�fhud,_mc,
s_jd� m_stqd� ne� sgdhq� chrsqhbs� mdfnsh_shnmr*�vghbg�
sgdx� bqdchsdc� sn� sgd� chrsqhbs&r� bnkk_anq_shud� btk,
stqd�_mc�qntshmd-

Qdronmcdmsr�cdrbqhadc�sgdhq�_ooqn_bg�sn�a_q,
f_hmhmf�eqnl�_ odqrodbshud�ne�uWqxhmf�oqhnqhshdr-�
Hmchuhct_kr&� hmsdqdrsr� _mc� tmcdqrs_mchmf� ne� sgd�
fn_kr�ne�LbBkd_qx�u_qhdc*�vghbg�hmektdmbdc�sgdhq�
fn_kr�ctqhmf�a_qf_hmhmf-�Enq�dw_lokd*�sgd�tmhnm�
qdoqdrdms_shud� hm� Bdc_q� A_x� bnlltmhb_sdc _�
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cdrhqd�sn�q_hrd�bdqshehb_sdc�sd_bgdq�r_k_qhdr*�vghkd�
sgd�tmhnm�qdoqdrdms_shud�hm�Bnmhedq�rbgnnk�chrsqhbs�
tmcdqrsnnc�sgd�fn_kr�ne�LbBkd_qx�_r�etkkx�etmc,
hmf�mns�itrs�bdqshehb_sdc�sd_bgdqr�ats�_krn�sgd�dmshqd�
a_rhb�dctb_shnm�oqnfq_lr� ’vghbg�ld_mr� hmbktc,
hmf�rs_eehmf�nsgdq�mnmbdqshehb_sdc�sd_bgdqr(-�Vghkd�
sgd�Ok_hmuhdv�rtodqhmsdmcdms�dwoqdrrdc�_m�tmcdq,
rs_mchmf�ne�LbBkd_qx�adhmf�hmsdmcdc�enq�hmbqd_r,
hmf� sd_bgdq� bnlodmr_shnm*� sgd� BEN� hm� D_fkd�
Bqddj�tmcdqrsnnc�sgd�qdenql�cheedqdmskx�_r�q_sgdq�
sg_m�rtars_msh_kkx�hmbqd_rhmf�sd_bgdqr&�sns_k�r_k_,
qhdr*� sgd� hmbqd_rdc� rs_sd� etmchmf� v_r� ld_ms sn�
qdctbd� sgd� chrsqhbs&r� qdkh_mbd� nm� knb_k� kduhdr� sn�
bnlodmr_sd�sd_bgdqr9

Hs�v_rm&s�hmsdmcdc�sn�q_hrd�_�r_k_qx*�ats�sg_s�hr�vg_s�hs�
cndr�hm�sghr�dmuhqnmldms�vgdm�xnt�_qd�a_qf_hmhmf�_mc�
enq� chrsqhbsr*� xnt� g_ud� _� bgnhbd� ne� dhsgdq� oqnuhchmf�
sgnrd�etmcr�sn�xntq�sd_bgdqr�nq�sgdx�fn�nm�rsqhjd-

Sgd�BEN�gdqd� _krn� qdedqr� sn� jdx� onvdq� che,
edqdmsh_kr�adsvddm�sgd�tmhnm�_mc�chrsqhbs�sg_s�l_x�
gdko�sn�sgdnqhyd�vgx�bdqs_hm�chrsqhbsr�’khjd�D_fkd�
Bqddj(� dwodqhdmbdc� rtbg� ghfg� sd_bgdq� r_k_qx�
f_hmr�bnlo_qdc�vhsg�nsgdqr-

Ehm_kkx*�vd�nardqud�duhcdmbd�ne�hmsdq,nqfWmh,
yWshnmWk�hmektdmbd�nm�a_qf_hmhmf�a_rdc�nm�md_qax�
chrsqhbsr-�Chrsqhbsr� cdrhqd� sn� qdl_hm� r_k_qx� bnl,
odshshud� sn� mdhfganqhmf� chrsqhbsr*� vghbg� qdekdbsr�
hmsdq,nqf_mhy_shnm_k�hmektdmbd-�?kk�b_rd�rstcx�chr,
sqhbsr�qdedqqdc�sn�sgd�oq_bshbdr�ne�md_qax�chrsqhbsr-�
Sgd� D_fkd� Bqddj� BEN� mnsdc� sg_s� sgdhq� chrsqhbs�
zrds� sgd� rs_mc_qc–� _r� sgd� ehqrs� chrsqhbs� sn� rdsskd�
sgqntfg�LbBkd_qx-�Sgd�BEN�r_hc�sgdx�oqnuhcdc�
_�04$�r_k_qx�hmbqd_rd*�_mc�sg_s�sgdx�vdqd�dudmst,
_kkx� rtqoqhrdc�vgdm�md_qax�chrsqhbsr� qd_bgdc�to�
sn� _� 1/$� hmbqd_rd*� rn� sg_s� sgd� rs_mc_qc� rds� ax�
D_fkd�Bqddj�v_r�_bst_kkx�rtqo_rrdc-�Sgd�Toodq�
U_kkdx� Rtodqhmsdmcdms� _krn� qdekdbsdc� nm� sghr�
zcnlhmn�deedbs*–�_r�hs�hmektdmbdc�r_k_qx�mdfnsh_,
shnmr�hm�sgdhq�chrsqhbs-

Chrbtrrhnm�Zmc�Bnmbktrhnm

Ntq�vnqj�l_jdr� rdudq_k�jdx�bnmsqhatshnmr� sn�
tmcdqrs_mchmf�REQr�_mc�sd_bgdq k_anq�l_qjds�nts,
bnldr-�Ehqrs*�vgdm�mdv�rs_sd qdrntqbdr�vdqd�_kkn,
b_sdc�sn�rbgnnkr�tmcdq�LbBkd_qx REQr*�vd�nar,�
dqudc� sg_s� knb_k� bnkkdbshud� a_qf_hmhmf� oqnbdrrdr�
chqdbsdc�sgd�mdv qdrntqbdr�sn�rhfmhehb_mskx�hmbqd_rd�
sd_bgdq�r_k_qhdr-�K_qfdq�r_k_qx�hmbqd_rdr�nbbtqqdc�
hm� chrsqhbsr� sg_s� vdqd� oqdchbsdc� sn� qdbdhud� lnqd�

rs_sd�odqrnmmdk�etmcr�tmcdq�sgd�mdv�etmchmf�enq,
ltk_-�V?�g_r�nmd�ne�sgd�rsqnmfdrs�sd_bgdqr&�tmhnmr�
hm�sgd�m_shnm�’Aqtmmdq�ds�_k-*�1/1/:�Vhmjkdq�ds�_k-*�
1/01(-� Oqhnq� khsdq_stqd� rtffdrsr� sg_s� rs_sdr� vhsg�
rsqnmf�sd_bgdq�tmhnmr�_qd�lnqd�khjdkx�sn�hmbqd_rd�
sd_bgdq�r_k_qhdr�hm�sgd�bnmsdws�ne�REQr�_mc�knb_k�
onkhshbr�rdqud�_r�_m�hlonqs_ms�dwok_m_shnm�enq�sgd�
ekxo_odq� deedbsr´m_ldkx*� sgd� rsqdmfsg� ne� knb_k�
tmhnmr�hm�dmrtqhmf�sg_s�etmcr�rshbj�vgdqd�sgdx�ghs�
’Aqtmmdq�ds�_k-*�1/1/:�Bnnj�ds�_k-*�1/10:�Bnvdm�%�
Rsqtmj*�1/04:�Qnrd�%�Rnmrsdkhd*�1/0/(-�V?�sd_bg,
dqr*�nm�_udq_fd*�g_c�_�18$�hmbqd_rd�hm�bdqshehb_sdc�
a_rd� r_k_qx� eqnl� oqd,LbBkd_qx� qdenql� sn� onrs�
qdenql*�bnlo_qdc�vhsg�sgd�drshl_sdc�6$�sn�1/$�
hmbqd_rd�hm�sd_bgdq�r_k_qhdr�_rrnbh_sdc�vhsg�tmhnm�
onvdq�nq�bnkkdbshud�a_qf_hmhmf�ntsbnldr�hm�oqhnq�
rstchdr-�Nm�sgd�bnmsq_qx*�V?�g_r�_�vhcd�u_qh_shnm�
hm� knb_k� onkhshbr*� cdlnfq_oghbr*� _mc� dbnmnlx*�
vghbg� qdrtksr� hm� _� fqd_s� gdsdqnfdmdhsx� ne� knb_k�
tmhnm“chrsqhbs� qdk_shnmrghor�_r� qdud_kdc� eqnl�ntq�
pt_khs_shud� b_rd� rstchdr-� Eqnl� sghr� odqrodbshud*�
V?�LbBkd_qx�RQE� rdqudr� _r� _m� hlonqs_ms� b_rd�
rstcx� ne� gnv� bnkkdbshud� a_qf_hmhmf� _mc� REQr�
_eedbs� r_k_qx� rbgdctkdr*� vghbg� hm� stqm� _eedbs�
sd_bgdq�k_anq�l_qjds�ntsbnldr-�Qdrtksr�eqnl�V?�
l_x� g_ud� hlokhb_shnmr� sn� nsgdq� rs_sdr� vgn� g_c�
rhlhk_q� onkhshb_k*� cdlnfq_oghb*� _mc� dbnmnlhb�
bg_q_bsdqhrshbr-

?�rdbnmc�_rodbs�sg_s l_jdr�ntq�rstcx�tmhptd�
hr�sg_s�vd�rdo_q_sdc�bdqshehb_sdc�a_rd�r_k_qx�eqnl�
sns_k�ehm_k�r_k_qx� sn�dw_lhmd�vgdsgdq� sgd�onkhbx�
g_r�_bghdudc�hsr�hmsdms´m_ldkx�trhmf�rs_sd�qdu,
dmtd� sn� qdok_bd�SQH�o_x´sgd� knb_k� rntqbd� sg_s�
etmcdc� cheedqdmsh_k� sns_k� r_k_qhdr� oqhnq� sn�
LbBkd_qx�qdenqlr-�Vd�nardqudc�sg_s�sgd�_lntms�
ne� hmbqd_rd� hm� sns_k� r_k_qhdr�v_r� knvdq� sg_m� sgd�
_lntms�ne�hmbqd_rd�hm�a_rd�r_k_qx*�rtffdrshmf�sgd�
rtarshstshnm�ne�rs_sd�rntqbdr�enq�knb_k�rntqbdr�sn�
etmc�sd_bgdq�r_k_qhdr-�Sghr�etmchmf,rntqbd�rtarsh,
stshnm _khfmr�vhsg�sgd�hmsdms�ne�LbBkd_qx�qdenql*�
adb_trd�sgd�LbBkd_qx�ok_hmshee�bk_hlr�sg_s�sd_bg,
dqr&�r_k_qx�rgntkc�ad�etmcdc�sgqntfg�rs_sd�a_rhb�
dctb_shnm�etmcr�sg_s�_qd�rs_akd*�sq_mro_qdms*�_mc�
dpths_akd� _bqnrr� chrsqhbsr� _mc� sgd� zkdux� rv_o–�
_hlr�sn�hmbqd_rd�rs_sd�qdudmtd�_mc�b_o�knb_k�qdu,
dmtd-�Sghr�hmbqd_rd�hm�sd_bgdq�a_rd�r_k_qx*�gnv,
dudq*�chc�mns�_bghdud�onkhbxl_jdqr&�nqhfhm_k�fn_k�
ne� qdctbhmf� hmdpt_khshdr� hm� sd_bgdq� r_k_qhdr:� nm�
sgd�bnmsq_qx*�vd�nardqudc�_�vhcdmdc�chro_qhsx�hm�
ansg� sns_k�_mc�bdqshehdc�a_rd�r_k_qhdr�_bqnrr�chr,
sqhbsr�hm�onrs,LbBkd_qx�xd_qr-
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Sghqc*�ntq�rstcx�_ccr�mdv�dlohqhb_k�duhcdmbd�
sn�sgd�khsdq_stqd�nm�r_k_qx�rbgdctkdr�_mc�hmenqlr�
chrbtrrhnmr� _ants� sgdhq� cdrhfm-� Ntq� _m_kxrhr�
qdud_kr� sg_s� rdmhnq� sd_bgdqr� vhsg� 05� xd_qr� ne�
sd_bghmf� dwodqhdmbdr*� nm� _udq_fd*� qdbdhudc� _�
k_qfdq� _lntms� ne� r_k_qx� hmbqd_rdr*� _r� ltbg� _r�
cntakhmf� sgd� _cchshnm_k� r_k_qx� hmbqd_rdr*� sg_m�
d_qkx,b_qddq�’/“2�xd_qr(�_mc�itmhnq�sd_bgdqr�’3“6�
xd_qr(-� Sgd� rs_sd� r_k_qx� rbgdctkdr*� nm _udq_fd*�
adb_ld� lnqd� a_bjkn_cdc-� Sghr� ehmchmf� _krn�
_khfmr�vhsg� oqhnq� rstchdr� sg_s� rsqnmf� tmhnmr� _qd�
onrhshudkx� _rrnbh_sdc� vhsg� r_k_qx� hmbqd_rdr� enq�
dwodqhdmbdc� sd_bgdqr� ’Bnvdm*� 1//8:� Qnrd� %�
Rnmrsdkhd*�1/0/(-�Cdrohsd�sgd�_udq_fd�sqdmc*�knb_k�
bnkkdbshud� a_qf_hmhmf� hm� _� rs_sd*� khjd V?*� sg_s�
_kknvr�knb_k�chrsqhbsr�_mc�sgdhq�sd_bgdq�tmhnmr�sn�
mdfnsh_sd sgdhq�nvm�r_k_qx�rbgdctkdr*� hmduhs_akx�
kd_cr� sn�_�vhcd�u_qh_shnm�_bqnrr�chrsqhbsr-�Rnld�
chrsqhbsr& r_k_qx� rbgdctkdr� lnudc� snv_qc� adhmf�
lnqd� eqnmskn_cdc*� vghkd� l_mx� chrsqhbsr� lnudc�
snv_qc�adhmf�lnqd a_bjkn_cdc-

Onkhshb_k�onvdq*�oqhnqhshdr*�_mc hmsdqdrsr�ne�ansg�
chrsqhbs�_mc�tmhnm� qdoqdrdms_shudr�rg_odc� sd_bgdq�
r_k_qx� rbgdctkdr� _mc� qdkdu_ms� onkhbhdr-� Rhmbd�
rdmhnq�sd_bgdqr�nesdm�rdqud�kd_cdqrgho�onrhshnmr�hm�
sgd�tmhnmr�_mc�V?�g_r�_�a_bj,kn_cdc�qdshqdldms�
admdehs�rxrsdl*�hs�hr�mns�rtqoqhrhmf�sn�nardqud�sgd�
k_qfdq�q_hrdr�enq�udqx�dwodqhdmbdc�sd_bgdqr-�Nm�sgd�
bnmsq_qx*�vd�_krn�nardqudc�rnld�knb_k�tmhnmr�g_u,
hmf� dpthsx� oqhnqhshdr� ax� hmsdmshnm_kkx� oqnsdbshmf�
itmhnq� sd_bgdqr&� hmsdqdrs-� Sgdrd� sd_bgdqr&� tmhnmr�
g_ud�cdkhadq_sdkx� qdbqthsdc� itmhnq� sd_bgdqr� sn� sgd�
a_qf_hmhmf�sd_l*�enbtrhmf�sgdhq�deenqsr�nm�a_qf_hm,
hmf�enq�adfhmmhmf�sd_bgdqr&�r_k_qx*�nq�qdctbhmf�sgd�
mtladq�ne�rsdor�’d-f-*�xd_qr(�rn�sg_s�sd_bgdqr�b_m�
_bghdud� sgd� l_whltl� r_k_qx� e_rsdq-� Lnqdnudq*�
rnld� chrsqhbsr� nardqudc� sg_s� d_qkx,b_qddq� _mc�
itmhnq� sd_bgdqr� vdqd� lnqd� q_bh_kkx� chudqrd� sg_m�
rdmhnq� sd_bgdqr-� Sgdx� cdbhcdc� sn� rtars_msh_kkx�
hmbqd_rd� d_qkx,b_qddq� _mc� itmhnq� sd_bgdqr&� o_x� sn�
_ssq_bs� _mc� qds_hm� sd_bgdqr�ne�bnknq-�Sgd� ehmchmfr�
ghfgkhfgs sgd� hlonqs_mbd� ne� tmcdqrs_mchmf� knb_k�
hlokdldms_shnm*� onkhshb_k� mdfnsh_shnmr*� _mc� chr,
sqhbsr&�rsq_sdfhb�fn_k�ne�vnqjenqbd�cdudknoldms-

Entqsg*�sd_bgdq�stqmnudq�rddlr�qdronmrhud�sn�
LbBkd_qx,hmctbdc� r_k_qx� hmbqd_rdr-� Ntq� HSR�
lncdkr�qdud_k�_�rhfmhehb_ms�qdctbshnm�ne�sd_bgdq�
stqmnudq� _bqnrr� cnr_fd� sdqbhkd� chrsqhbsr� hm� sgd�
ehqrs�xd_q�ne�onrs,LbBkd_qx�REQr-�Sgd�ehmchmfr�
etqsgdq� qdud_k� sg_s� sgd� r_k_qx� hmbqd_rd� qdctbdc�
sgd� sq_mredqr� _bqnrr� chrsqhbsr� ats� qdl_hmhmf� hm�

sd_bghmf�oqnedrrhnm�enq�lhc,b_qddq�sd_bgdqr�vhsg�
7�sn�04�xd_qr�ne�sd_bghmf�dwodqhdmbd�sn�_�fqd_sdq�
dwsdms� sg_m� sgd� deedbsr� enq� nsgdq� b_qddq� rs_fdr-�
R_k_qx�hmbqd_rdr�qdctbdc�sgd�q_sd�ne�kd_uhmf�sgd�
sd_bghmf� oqnedrrhnm� nq� sgd� rs_sd� enq� k_sd,b_qddq�
sd_bgdqr�vgn�g_c�12+�xd_qr�ne�sd_bghmf�dwodqh,
dmbdr� sg_m� nsgdq� b_qddq� rs_fdr-�Sgd�LbBkd_qx,
hmctbdc�a_rd�r_k_qx�hmbqd_rd�g_c�khlhsdc�deedbsr�
nm� sd_bgdq� ghqhmf� hm� sgd� ehqrs� 1� xd_qr� ne� hlokd,
ldms_shnm*�dwbdos�enq�itmhnq�sd_bgdqr�vhsg�3�sn�6�
xd_qr�ne�dwodqhdmbd-�?mc�vghkd�sgdqd�hr�rtffdr,
shud� duhcdmbd�ne� _ LbBkd_qx,hmctbdc� deedbs� nm�
ghqhmf�enq�d_qkx,b_qddq�sd_bgdqr�vhsg�/�sn�2�xd_qr�
ne�dwodqhdmbd*�sgd�qdrtksr�_qd�mns�rs_shrshb_kkx�rhf,
mhehb_ms�_s�bnmudmshnm_k�kdudkr-

Vd� b_kk� tonm� chrsqhbs� _mc� tmhnm� kd_cdqr� sn�
sghmj� rsq_sdfhb_kkx� _ants� _kknb_shmf� r_k_qx� qdrn,�
tqbdr�sn�_bghdud�sgdhq�sd_bgdq�vnqjenqbd�cdudkno,
ldms� fn_kr*� adb_trd� ntq� ehmchmfr� rtffdrs� sg_s�
r_k_qhdr�bntkc�ad�_�onkhbx�kdudq�enq�sd_bgdq�qdsdm,
shnm- Cheedqdms�chrsqhbsr�l_x�g_ud�cheedqdms�mddcr-�
Enq�dw_lokd*�ghfg,mddc�chrsqhbsr�sg_s�rdqud�_�chr,
oqnonqshnm_sd�rg_qd ne�knv,hmbnld�nq�ghrsnqhb_kkx�
l_qfhm_khydc�rstcdmsr�ne�bnknq�lhfgs�dwodqhdmbd�
sgd�knrr�ne�dwodqhdmbdc�sd_bgdqr�sn�nsgdq�chrsqhbsr�
’d-f-*�Fnkcg_adq�ds�_k-* 1/04(-�Sgdx�l_x�mddc�sn�
rsq_sdfhb_kkx� hmbqd_rd� dwodqhdmbdc� sd_bgdqr&� r_k,
_qx�sn�ad�bnlodshshud-�Hm�bnmsq_rs*�chrsqhbsr�_hl,
hmf sn�qdbqthshmf�d_qkx,b_qddq�_mc itmhnq�sd_bgdqr�
sn�chudqrhex�sgdhq�sd_bgdq�vnqjenqbd�l_x�v_ms�sn�
eqnmskn_c�sgdhq�r_k_qx�rbgdctkd-�Vd�sgdqdenqd�rtf,
fdrs�chrsqhbsr�sn�dw_lhmd�sgdhq�mddcr�_mc�rsq_sdfh,
b_kkx�cdrhfm�sgdhq�r_k_qx�rbgdctkdr-

?ksgntfg�sghr rstcx�hr�bnmrsq_hmdc�ax�_�rgnqs�
onrsqdenql� odqhnc� ctd� sn� sgd� BNUHC,08� o_m,
cdlhb*�ntq�dlohqhb_k�duhcdmbd*�trhmf�_�bnlahm_,
shnm� ne� pt_mshs_shud� _mc� pt_khs_shud� ldsgncr*�
needqr� rtffdrshud� duhcdmbd� ne� sgd� deedbsr� ne� sgd�
LbBkd_qx�qdenqlr�nm�sd_bgdq�k_anq l_qjdsr*�_mc�
sgd� knb_k�onkhshbr�_mc�nsgdq�cxm_lhbr� sg_s� kdc� sn�
u_qh_shnmr� hm� sd_bgdq� r_k_qx� bg_mfdr-� Sn� nas_hm�
_cchshnm_k� hmrhfgsr� _ants�LbBkd_qx� qdenqlr*�vd�
dmbntq_fd� sgd� dwoknq_shnm� ne� sgd� enkknvhmf�
qdrd_qbg�ptdrshnmr9�Cn�knv,hmbnld�nq�ghrsnqhb_kkx�
l_qfhm_khydc�bnlltmhshdr�ne�bnknq�qdbdhud�lnqd�
qdrntqbdr;�Gnv�cn�sgd�_kknb_shnmr ne�sd_bgdq�r_k,
_qx� hmektdmbd�nsgdq�rodmchmf�b_sdfnqhdr*�rtbg�_r�
oqhmbho_kr&� r_k_qx*� dctb_shnm_k� sdbgmnknfx*� _mc�
btqqhbtktl;� Vg_s� _qd� sgd� deedbsr� ne� LbBkd_qx�
REQr�nm� rstcdms� _b_cdlhb�ntsbnldr�_mc� etstqd�
d_qmhmfr;�Rxrsdl_shb*� hm,cdosg�tmcdqrs_mchmf�ne�



Rtm�ds�Wk-

30/

sgd� deedbsr� _mc� ldbg_mhrlr� ne� gnv� qdrntqbdr�
l_ssdq� hm� otakhb� rbgnnk� rxrsdlr� adrs� rtoonqsr�
duhcdmbd,a_rdc�qdrntqbdr�_kknb_shnm�hm�rbgnnkr-

:bimnvkdcfldmsr

?mx� nohmhnmr*� ehmchmfr*� _mc� bnmbktrhnmr� nq� qdbnl,
ldmc_shnmr�dwoqdrrdc�hm�sghr�l_sdqh_k�_qd�sgnrd�ne�sgd�
_tsgnqr�_mc�cn�mns�mdbdrr_qhkx�qdekdbs�sgd�uhdvr�ne�sgd�
Vhkkh_l�S-�Fq_ms�Entmc_shnm�nq�sgd�M_shnm_k�Rbhdmbd�
Entmc_shnm-� Cqr-� Rtm� _mc� B_mcdk_qh_� _rrtld� dpt_k�
_tsgnqrgho-

CdbkZpZshnm�ne�Bnmekhbshmf�Hmsdpdrsr

Sgd�_tsgnq’r(�cdbk_qdc�mn�onsdmsh_k�bnmekhbsr�ne�hmsdq,
drs� vhsg� qdrodbs� sn� sgd� qdrd_qbg*� _tsgnqrgho*� _mc.nq�
otakhb_shnm ne�sghr�_qshbkd-

Etmchmf

Sgd�_tsgnq’r(�chrbknrdc�qdbdhos�ne�sgd�enkknvhmf�ehm_m,
bh_k�rtoonqs�enq�sgd�qdrd_qbg*�_tsgnqrgho*�_mc.nq�otakh,
b_shnm� ne� sghr� _qshbkd9�Sghr� rstcx� hr� rtoonqsdc� ax� sgd�
Vhkkh_l�S-�Fq_ms�Entmc_shnm�’Fq_ms�Mn-�08/624(�_mc�
sgd�M_shnm_k�Rbhdmbd�Entmc_shnm�’Fq_ms�Mn-�1/44/51(-

NQBHC�hCr

Lhm�Rtm� �gssor9..nqbhc-nqf.////,///0,4721,0423

Bgqhrsnogdq�?-�B_mcdk_qh_� �gssor9..nqbhc-nqf.////,
///1,48/2,5103

C_uhc� Jmhfgs� � gssor9..nqbhc-nqf.////,///1,3/56,
044W

R_q_g� D-� J_antqdj� � gssor9..nqbhc-nqf.////,///0,
7145,586W

Mnsdr

0-�Vd� sqhdc� nsgdq�v_xr� ne� fqntohmf� sd_bgdqr� hmsn�
dwodqhdmbd�ahmr-�Ntq�v_x�ne�fqntohmf�sd_bgdqr�needqr�
rteehbhdms�r_lokd�rhyd hm�d_bg�dwodqhdmbd,chrsqhbs,xd_q�
bdkk*�vghbg�hmbqd_rdr�sgd�oqdbhrhnm�ne�sgd�drshl_shnm-

1-�Qdrtksr�eqnl�sghr�oqdchbshnm�qdfqdrrhnm�_ood_q�hm�
Nmkhmd�?oodmchw�S_akd�?6�hm�sgd�nmkhmd�udqrhnm�ne�sgd�
intqm_k-

2-�Sgd�Jkdhadqfdm,O__o�E,rs_shrshb�ld_rtqdr�vgd,�
sgdq� ntq� hmrsqtldms_k� u_qh_akdr� _qd� vd_j-� He� sgdqd� hr�
_� vd_j� qdk_shnmrgho� adsvddm� ntq� hmrsqtldmsr� _mc�
sgd� dmcnfdmntr� r_k_qx� u_qh_akd*� ntq� qdrtksr� bntkc� ad��
ah_rdc-� K_qfdq� JO�E,rs_shrshbr� rtffdrs� rsqnmfdq� hmrs,�
qtldmsr-

3-� Sgd� G_mrdm� I,rs_shrshb� cdsdqlhmdr� sgd� u_khc,
hsx�ne�nudqhcdmshexhmf�qdrsqhbshnmr� hm�ntq� hmrsqtldms_k�
u_qh_akdr�lncdkr-�Fhudm�sg_s�vd�g_ud�nmd�dmcnfdmntr�
u_qh_akd*�r_k_qx*�_mc�ltkshokd�hmrsqtldmsr*�vd�v_ms�sn�
dmrtqd� sgd� bnkkdbshnm� ne� hmrsqtldmsr� _qd� hcdmshexhmf�
sgd�r_ld�onotk_shnm�o_q_ldsdq-�Vd�qdonqs�sgd�o,u_ktd�

_rrnbh_sdc�vhsg�sghr�rs_shrshb*�vgdqd�sgd�mtkk�gxonsgdrhr�
hr�sg_s�sgd�hmrsqtldmsr�_qd�u_khc-

Qdedpdmbdr

?jdqkne*�F-�?-*�%�Xdkkdm*�I-�K-�’Dcr-(-�’0875(-�Deehbhdmbx�
vWfd� lncdkr� ne� sgd� kWanq� lWqjds-� B_laqhcfd�
Tmhudqrhsx�Oqdrr-

Adqqx*�E-�R-*�%�Adqqx*�V-�C-�’1/06(-� Hmmnu_shnm�_mc�
cheetrhnm� lncdkr� hm� onkhbx� qdrd_qbg-� Hm� B-� L-�
Vdhakd� %� O-� ?-� R_a_shdq� ’Dcr-(*� Sgdnqhdr� ne� sgd�
onkhbx�oqnbdrr�’oo-�152“2/7(-�Vdrsuhdv-

Anxc*� C-*� Fqnrrl_m*� O-*� Hmf*� L-*� K_mjenqc*� G-*�
Knda*�R-*�%�Vxbjnee*�I-�’1/00(-�Sgd�hmektdmbd�ne�
rbgnnk� _clhmhrsq_snqr� nm� sd_bgdq� qdsdmshnm� cdbh,
rhnmr-�?ldqhbWm�DctbWshnmWk� QdrdWqbg� IntqmWk*�
37’1(*�2/2“222-

Aqhssnm*� I-*� %� Oqnoodq*� B-� ’1/05(-� Sd_bgdq� o_x� _mc�
rbgnnk� oqnctbshuhsx9� Dwoknhshmf� v_fd� qdftk_shnm-�
IntqmWk�ne�Otakhb�Dbnmnlhbr*�022*�64“78-

Aqtmmdq*� D-*� Gxl_m*� I-*� %� It*� ?-� ’1/1/(-� Rbgnnk�
ehm_mbd� qdenqlr*� sd_bgdqr&�tmhnmr*�_mc� sgd�_kknb_,
shnm�ne�rbgnnk�qdrntqbdr-�Qduhdv�ne�Dbnmnlhbr�Wmc�
RsWshrshbr*�0/1’2(*�362“378-

B_mcdk_qh_*�B-�?-*�%�Rgnqdr*�J-�?-�’1/08(-�Bntqs,nqcdqdc�
ehm_mbd�qdenqlr�hm�sgd�_cdpt_bx�dq_9�Gdsdqnfdmdntr�
b_tr_k� deedbsr� _mc� rdmrhshuhsx-� DctbWshnm� EhmWmbd�
Wmc� Onkhbx*� 03*� 20“5/-� gssor9..cnh-nqf.0/-0051.
DCEO]_]//125

Bghmfnr*� L-� L-*� %� Vdrs*� L-� Q-� ’1/01(-� Cn� lnqd�
deedbshud� sd_bgdqr� d_qm� lnqd� ntsrhcd� sgd� bk_rr,
qnnl;�DctbWshnm�EhmWmbd�Wmc�Onkhbx*�6’0(*�7“32-

Bnmq_c*�B-*�Mdtl_mm*�?-*�G_vnqsg*�I-�F-*�%�Rbnss*�O-�
’0882(-�PtWkhsWshud�qdrdWqbg� hm�ghfgdq�dctbWshnm9��
Dwodqhdmbhmf�WksdqmWshud�odqrodbshud�Wmc�WooqnW,�
bgdr-�Fhmm�Oqdrr-

Bnnj*� I-*� K_udqst*� R-*� %� Lhkkdq*� B-� ’1/10(-� Qdms,
rddjhmf� sgqntfg� bnkkdbshud� a_qf_hmhmf9� Sd_bgdqr�
tmhnmr� _mc� dctb_shnm� oqnctbshnm-� Dbnmnlhbr� ne�
DctbWshnm�Qduhdv*�74*�0/1082-

Bnrsqdkk*�Q-�L-*�%�Oncftqrjx*�L-�’1/0/(-�Chrsqhatshnm�
ne�admdehsr�hm�sd_bgdq�qdshqdldms�rxrsdlr�_mc�sgdhq�
hlokhb_shnmr�enq�lnahkhsx-�DctbWshnm�EhmWmbd�Wmc�
Onkhbx*�4’3(*�408“446-

Bnvdm*�I-�L-�’1//8(-�Sd_bgdq�tmhnmr�_mc�sd_bgdq�bnl,
odmr_shnm9�Mdv�duhcdmbd�enq�sgd�hlo_bs�ne�a_qf_hm,
hmf-�IntqmWk�ne�DctbWshnm�EhmWmbd*�24*�061“082-

Bnvdm*�I-�L-*�%�Rsqtmj*�J-�N-�’1/04(-�Sgd�hlo_bs�ne�
sd_bgdqr&� tmhnmr� nm� dctb_shnm_k� ntsbnldr9� Vg_s�
vd�jmnv�_mc�vg_s�vd�mddc�sn�kd_qm-�Dbnmnlhbr�ne�
DctbWshnm�Qduhdv*�37*�1/7“112-

Bqdrvdkk*�I-�V-*�%�Ok_mn�Bk_qj*�U-�K- O-�’1/06(-�Cdrh,�
fmhmf� Wmc� bnmctbshmf� lhwdc� ldsgncr� qdrdWqbg-�
R_fd-

Dadqsr*�Q-�V-*�%�Rsnmd*�I-�?-�’0873(-�Tmhnmr�Wmc�ota,
khb�rbgnnkr9�Sgd�deedbs�ne�bnkkdbshud�aWqfWhmhmf�nm�
?ldqhbWm�dctbWshnm-�Kdwhmfsnm�Annjr-
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Dchm*�J-*�%�Ohqnf*�L-�?-�’1/03(-�Rodbh_k�rxlonrhtl�
nm�pt_khs_shud�_mc�lhwdc,ldsgncr�enq�onkhbx�_m_kx,
rhr-�IntqmWk�ne�Onkhbx�?mWkxrhr� Wmc�LWmWfdldms*�
22*�234“238-

E_kbg*�S-� ’1/00(-�Sd_bgdq�lnahkhsx� qdronmrdr� sn�v_fd�
bg_mfdr9�Duhcdmbd�eqnl�_�pt_rh,m_stq_k�dwodqhldms-�
?ldqhbWm�Dbnmnlhb Qduhdv*�0/0’2(*�35/“354-

Edkcl_m*�L-�R-*�%�Q_e_dkh*�?-�’1//1(-�Nqf_mhy_shnm_k�
qntshmdr� _r� rntqbdr� ne� bnmmdbshnmr� _mc� tmcdq,
rs_mchmfr-�IntqmWk�ne�LWmWfdldms�Rstchdr*�28’2(*�
2/8“220-

Ehqdrsnmd*�V-�?-*�%�Fnmy_”kdy*�Q-�?-�’1//6(-�Btkstqd�
_mc�oqnbdrrdr�_eedbshmf�c_s_�trd�hm�rbgnnk�chrsqhbsr-�
SdWbgdqr�Bnkkdfd�Qdbnqc*�0/8’02(*�021“043-

Fk_rdq*� A-� F-� ’0854(-� Sgd� bnmrs_ms� bnlo_q_shud�
ldsgnc� ne� pt_khs_shud� _m_kxrhr-� RnbhWk Oqnakdlr*�
01’3(*�325“334-

Fnkcg_adq*�C-�C-*�%�Aqdvdq*�C-�I-�’0886(-�Vgx�cnm&s�
rbgnnkr�_mc�sd_bgdqr�rddl�sn�l_ssdq;�?rrdrrhmf�sgd�
hlo_bs�ne�tmnardqu_akdr�nm�dctb_shnm_k�oqnctbshu,
hsx-�IntqmWk�ne�FtlWm�Qdrntqbdr*�21*�4/4“412-

Fnkcg_adq*� C-� C-*� Fqnrr*� A-*� %� Ok_xdq*� C-� ’1/00(-�
Sd_bgdq� b_qddq� o_sgr*� sd_bgdq� pt_khsx*� _mc� odqrhr,
sdmbd� hm� sgd� bk_rrqnnl9�?qd� otakhb� rbgnnkr� jddo,
hmf� sgdhq� adrs;� IntqmWk� ne� Onkhbx� ?mWkxrhr� Wmc�
LWmWfdldms*�2/’0(*�46“76-

Fnkcg_adq*�C-�C-*�K_udqx*�K-*�%�Sgdna_kc*�Q-�’1/04(-�
Tmdudm�ok_xhmf�ehdkc;�?rrdrrhmf�sgd�sd_bgdq�pt_k,
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